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Instructions: 1. Answer five full questions.
Choose one full question from each module
Your answer should be specific to the questions asked.

4. Write the same question numbers as they appear in this question paper.
5. Write Legibly
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Module-1

I a State and explain Ohms and mention any two limitations 6 Marks

( b A portion of the network is shown in Fig 1(b} with the polarities as indicated. The voliage 8 Marks
across the 15Q resistor if 30V. find the value of resistance R and the current I.
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¢ Define RMS value of an alternating quantity and derive the expression for the same. 6 Marks
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2 a Inthe network shown in Fig2(a), find the Voltages Vac, Vec, Vac and Vad 6 Marks
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b Determine the current in all branches of the network shown in Fig2(c). 8 Marks
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¢ Define average value of an AC quantity and derive the expression for the same. 6 Marks

Daos 1 ~f 2



Module-2
With circuit diagram and wave forms show that the average power is zero in pure 6 Marks .
resistance.
With circuit diagram and Phasor diagram derive the expression for Line Voltage and 8 Marks

Current for a Star connected balanced load.

A balanced Star connected load of (8 + j6) ©|phase is connected to a 3-phase, 230V 6 Marks
supply. Find the line current, powerfactor, active power and reactive power.
OR
Show that the average power demand is never zero in case of series RL c1rcu1t WLth 6 Marks
relevant circuit and waveforms. s
Show that two wattmeters are sufficient to measure 3-phase power w1tb relevam circuit 8 Marks
and phasor diagram. R 6
Three similar coils are connected in star takes a total power.of 1.5kw at a p.f of 0.2 6 Marks
lagging from a 3-8, 00v, 50Hz supply. Determine the paramieters of the circuit.
Modulc”—.’i.; :-. '
Explain the constructional features of varloué'types of transformers. 8 Marks
A 400[230v, 50Hz single phase transformer is provided with 500 turns or LV side. 4 Marks
Calculate
(I No. of turns on the HV s’1de
(IhH Effective area ofieross section of the core of the flux density to be less than
I.4wb/m?
What de you mean by Electric Shock? With neat diagram, explain the pipe earthing? 8 Mark.
OR
Derive the-condition for maximum efficiency for a transform 6 Marks

'

A single phase 20K’(/A transformer has 1000 primary and 2500 secondary turns. The net 6 Marks
cross sectional area in 100 cm?, When the primary winding is connected to 500V, SOHz™
supptly. Calculate the folllowing

(H The maximum value of flux density

(I1)  The secondary induced voltage

(I}  Primary and secondary full load currents

With circuit diagram and truth table, Explain the operation of three way control of lamps 8 Marks
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Derive the EMF equation of a DC generators oy LAy /“j ;
. £ ‘rn’
L 0
. B s - olrs
Explain the various characteristics of a DC shunt motor L ._\';j{;’
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A 4 pole DC Shunt motor tales22.5A from a 250V supply. The armatureé resistance is

0.5€ and shunt field resistance in 125€. The armature is wave wound with 300

conductors. If the flux/pole is 0.02wbs. Calculate {I) Speed (I1) Torque devetoped and
(HI) power developed.

OR
What is a de generator? What is the basic principle on which it is working? Give the
classification of DC generators.
Explain the various characteristics of series motor with relevant diagrams.

A series motor runs at 600rpm when taking a current of 110A from a 230V’ supply. Given

that Ra=012€Q, Rge= 0.03Q. the useful flux/pole for 1 10A 15 0. 024wb and that for SOA is

0.0144wbs. Calculate the speed when the current has fallen to 50A.
Module-5 _ '

Explain the constructional features of various types ofsynchroﬁ_ous generators.
What is an IM? Explain the principle of operation
A 3 phase IM is wound for 8 poles if the full load slip is 2.5%. Calculate

(D Synchronous speed

(I Slip Speed

({ll)  Rotor speed

(IV)y Rotor frequency

OR

With usual notations, derive an expre551on for the induced voltage for a synchronous
generator

What is a slip? Explain i_tg'-si'gniﬁcance

An § pole alternator runs at 750 rpm and supplies power to a 6 pole IM which has a full
load slip of 3%, Find the full load speed of the motor and frequency of rotor emf.
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Time: 3 Hours

ADICHUNCHANAGIRI UNIVERSITY

First Semester BE Degree Examination
(CBSC Scheme)

SUB: ELEMENTS OF MECHANICAL ENGINEERING
Q P Code: 60010

Instructions: 1. Answer five full questions.

et
o

4 a
b
5 a

2. Choose one full question from each module

3. Your answer should be specific to the questions asked.

4. Write the same question numbers as they appear in this question paper W
5. Write Legibly :

MODULE-1
Explain; (1) Hydroelectric Power Plant
(1) Wind Power Plant.
List the Boiler Mountings and Accessories. Explain any fbur o
OR
What are turbines? Explain Kaplan turbine with:neat sketches.

Differentiate between Open and Closed cycle Gas Turbmes

. MODULE2
With PV diagram explain Otto cycTe and Diesel Cycle
Following data were col]ectcd from a 4-stroke single cylinder oil
engine at full load. BoféfZOOmm, stroke = 280mm, speedl= 300rpm, indicated mean
etfective prcssure = 3. 6 balrh'lorque on the brake drum=250 Nm, oil consumed= 4.2 kg/hr
and calorific valu’e of01l =41 MJ/kg. Determine mechanical efficiency, indicated thermal

efficiency and brakc thermal efficiency.

OR

With a neat sketch explain the working of Vapour Absorption Refrigeration system

Draw neat sketch and explain the working of Domestic Air Conditioner

MODULE-3
With neat sketches explain (i) Facing

(i) Thread cutting
(iii) Reaming
(iv) Counter Sinking

(v) Boring.

Max Marks: 100 marks

10 marks

10 marks

12 marks
08 marks_

10 marks

10 marks

10 marks

10 marks

10 marks



With neat sketches explain working Operations of (i) Surface Grinding

{11) Centerless Grinding
OR

With a neat sketch explain Electric Arc Welding

Differentiate between Soldering and Welding

MODULE-4
Define (i) Velocity ratio

(i1) Creep
(11i) Slip

(iv) Lubrication

Explain Idler and Stepped Cone drive mechanisms.

Two mating gears have 30 and 435 involute teeth of module 12 mm and 20° pressure

angle. Determine velocity ratio and centre distance belween gears
OR ..

Explain Ball bearings and Roller bearings wuh neat sketches

Discuss any four properties of a good Iul_;_}:-Lg_:a'qgl.____.;E

" MODULE-5

What are engineering mate;ials".ii@l—agsify and explain each.

Write a short note on (i):\g_a;::i‘fon (ii) Steel

Explain any three properti?s’ of polymeric materials

What are Matnx and Reinforcements? Explain the clasmficatlon of Composite

materi als

Explain the applications of Composites in Aircraft and automobile industries.

ok kKK
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10 marks

10 marks

10 marks

04 marks

12 marks

04 marks

{2 marks
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08 marks

08 marks

12 marks
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Instructions: |. Answer five full'questions.
2. Choose one full question from each module
3. Your answer should be specific to the questions asked.
4. Write the same question numbers as they appear in this question paper.
S. Write Legibly

MODULE-1
I a With neat skeich explain different types of dams. _ 10 Marks
Q b Explain the role of Civil Engineer in Infrastructure development of the country 10 Marks
OR
2 a Expiain briefly any two scopes of Civil Engineering. 10 Marks
b Explain the Effect of Infrastructure on Socio-economic development a country 10 Marks
MODULE-2
3 & Explain the basic idealization of Civil Engineering 10 Marks
| b State and prove Varignon’s Theorem 5 Marks
¢ A block weighing 10kN is resting on an inclined plane as shown in Fig.Q.3(c). 5 Marks
Determine its components normal to and parallel to the inclined plane.
The plane makes an angle 20° with the horizontal.
€.
20’
Fig.Q.3(c)
OR
4 a State Law of Transmissibility of Forces, Law of superposition and Law of physical 6 Marks
independence '
b  Define Force and its characteristics 4 Marks

¢ A body is subjected to the three forces as shown in Fig.Q.4(c). Determine the direction of 10 Marks
the force F so that the resultant is in ‘x” direction, when i) F=5000N ii) F=3000N.
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5 a
b
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6
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[

7 a

MODULE-3

Mention the equations of Equilibrium required for Coplanar concurrent and Coplanar
non-concurrent system of forces

State and Prove Lami’s theorem

Two spheres of radius 100mm and weight SkN is in rectangular box as shown in

Fig.Q5(c). Calculate the reactions at the point of contacts.
Sk

= |
F—Eszaur4

Fig.Q5(c)
OR

With neat sketch explain different types of Beams.
What are statically determinate and indeterminate beamns
Determine the reactions for a cantilever beam fixed at ‘A’ and free at ‘B’ loaded shown

in Fig.Q6(c). -
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MODULE-4

Derive the centroid of a Semicircle by the method of Integration.

b Locate the centroid of the plane shown in F 12.Q7(b}
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Fig.Q.7(b)
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State and prove Parallel axis theorem. 8 Marks
MODULE-5
Derive an expression for Greatest height reached by a particle and the time it takes 8 Marks

A stone is dropped from the top of a tower 50m high. At the same time another stone is 12 Marks
thrown up from the ground with a velocity of 25m/s. At what distance from the top and
after how much time the two stones cross each other?

OR

What is super elevation? Mention its advantages and disadvantages. 8 Marks

A cricket Ball is thrown from a height of 1.8m above the ground level at angle 30° with 12 Marks
the horizontal with a velocity 12m/s and is caught by the fielder at a height of 0.6m above
the ground. Determine the distance between the two players.
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ADICHUNCHANAGIRI UNIVERSITY

First Semester BE Degree Examination
(CBSC Scheme)
Time: 3 Hours Max Marks 100 marks

SUB: ENGINEERING PHYSICS
Q P Code: 60003

/P,
Instructions: 1. Answer five full questions. /"’f‘/f,,
. %7
2. Choose one full question from each module 7, %,
3. Your answer should be specific to the questions asked. s, 'f//:”/’
7
4. write the same question numbers as they appear in this question paper %
5. Write Legibly 4%, 4 D
— %
P MODULE-1 S,
L /2., Define damped oscillations and forced oscillations with exampig /;? 4 marks
(/ /‘< . Describe the construction and working of Reddy Shock tube. / 6 marks
}/ Define simple harmonic motion. Derive the equation for sunp,}e harmonic motion & marks

_ using Hooke’s law. /%
d. Evaluate the resonance frequency of a spring of foréa&égnstant 2467 N/m, carrying 4 marks

o
/,,/

%
%

\\\k

a mass of 100 gm.

T
gk,

2. a. Define Mach number. Write the appli g}ldﬁ}g /9)éshock waves. 6 marks

b. Discuss the theory of forced vibratiofis é‘ndzhence obtain the expression for 10 marks
amplitude. 7

¢.  Find the frequency of osc1l!at16n, ufa free particle executing simple harmonic 4 marks

motion of amplitude 0. 35/m“¢1f the/maximum veloc:ty 1t can attain is 220 m/s.

NS,

// s

/2/ MODULE -2
\j Deﬁne young'’s n{ d—‘ﬁ’ius bulk modulus and rigidity modulus and derive a relanon 8 marks
C between thegl/”/ff/ ,,-'

b. Define bendﬁ;g ;lj'oment of a beam. Derive an expression for bending moment 8 marks

(8.1, = (2)19)

c. A,wlre‘}ength | m and diameter 1 mm is clamped at one of its ends. Calculate the 4 marks
Py coﬁial%eqmred {0 twist the other end by 9¢. Given rigidity modulus = 2.8x1 0'9 N/m?.

w
a

NN,

2 ? OR
R % §late Hoake's law of elasticity. Derive an expression for young’s modulus Y of a 10 marks
"_‘ material of a single cantilever.
“b. What are torsional oscillations? Mention the expression for couple per unit twist of 6 marks
a solid cylinder and expression for period of oscillation.
c. A solid lead sphere of radius 10.3 m is subjected 10 a normal pressure of 10 N/m? 4 marks

acting all over the surface. Determine the change in its volume.

PTO



MODULE ~ 3

a. Define lattice and basis. Explain seven crystal systems with neat diagram. 10 marks
b.  Discuss different types of optical fibers with suitable diagrams. 6 marks
¢. A monochromatic X-ray beam of wavelength 0.7 A undergoes first order Bragg 4 marks
reflection from the plane (302) of cubic crystal at a glancing angle of 35 Calculate
the lattice constant
GR
/.5. Derive an expression for numerical aperture in terms of refractive index of core and 6 marks
~, cladding. TR,
/té Derive Bragg’s law. _gﬁ";iﬂ(xmarks
/e./ Derive an expression for interplanar spacing of a crystal in terms of miller lndIC(.S\ :\‘."--‘-‘_-.\ 6 marks
d. Calculate the V-number and number of modes supported by an optical ﬁber Ofg 4 marks

index 1.54 and cladding index 1.5 at operating wavelength 1.3 pm. The dlamelf:,r of
the fiber is 50 pm. < & \

.-.*"
L
o
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MODULE-4
a. Setup !-dimensional time independent Schrodinger’s wave eqﬁ%ﬁon and mention
any two properties of wave function.
b. Derive an expression for energy density at thermal equ uilibriunt through Einstein’s
cocfficients. \\\ \§
¢.  Anelectron has a speed of 500 m/s correct up tax).0] %. With what fundamental
accuracy the position of the electron can be~4egate&9
¥

-,

a. Show that the electron cannot exist lnﬁlde thé nucleus using Heisenberg’s

uncertainity principle. R
b. Whatis a laser? Describe the c«gtrucnon and working of COy laser with the help

/

s

/ of energy level diagram.

‘,,.'ff/ g
¥

10.

SN ’
¢. A pulsed laser emits ofp Xf 20 ns duration with an average power / pulse
being 0.1 Mw. If the numb 10f photons emitted per pulse is 6.981 x 10", calculate
the wavelength o\ﬁha\{aser.

\\‘\-.\ )
\ MODULE - 5

a. Define Fermt Eve[ and Fermi factor. Write the assumptions of quantum free

,/_’/1

electrgn heory
b. Xn ekpression for conductivity of sem:conduclors
C. \V sdire polar and non polar dielectrics?
d\(bé Fermi level in silver is 5.5 eV at 0°K. Calculate the number of
\\\\\\ free electrons / unit volume.

OR

Obtain an expression for Fermi energy at 0° K
Derive Clausius-Mossotti equation.
Discuss solid, liquid and gaseous dielectrics with examples.
The following data are given for intrinsic germanium at 300 K. The electron and
hole mobilities are 0.85 m?V"'s™ and 0.04 m?V"'s"". Find the resistivity of the

a0 oW

sample if the intrinsic carrier concentration is 7 x 102 m™.

ok ok e k
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8 marks

4 marks

6 marks’

10 marks

_4 marks
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6 ma'rks
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6 marks
6 marks
4 marks
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Instructions: 1. Your answer should be specific to the questions asked.

2. write the same question numbers as they appear in this question paper.
3. Write Legibly
Question Paper Version - B

Answer all the questions W 1=100

1. How many of the following numbers are divisible by 3 but not by 97 Q
| 2133, 2343, 3474, 4131, 5286, 5340, 6336, 7347, 8115, 9276 Zy?/
a5 b. 6 c. 7 d. None of th ¢ A
2. The difference between the place value and the face value ol 6 in the'® .. 856973 is
a. 973 b. 5994 c. 5973 q”.
3. The smallest 6-digit number exactly divisible by 11 lgi \
a 111111 b. 11077 c. 1“9 d. 2233109
4. The Iargeét 5-digit number exactly divisibig by 94 is:
a. 88899 b. 99918 &361 d. 98978
5. What is the unit digit in (4 137%’
a. | b. )\ c.7 d.9
Read the fqlalowing passages and answer the questions given below (Q6 — 15)
The Greening of the aged
l. homes for the aged is so depressing'that second visits are uncommon. The men and women

. Beythere are listless, unresponsive, and often incapable of performing simple tasks. They appear
untotivated, uninterested, and turned away from others. Their debilitated physical and emotional
condition is not a necessary consequence of old age. Rather, it is the inevitable result of being treated like

a passive object in an institutional setting.

2. Recently, two young researchers from Yale University, Ellen Langer and Judith Rodin, decided to see
whether they could reverse the debilitated condition of residents in one of these old-age homes (1976).
Their sample consisted of 91 residents, aged 65 to 90, all well cnough to be walking about. The
investigators reasoned that the crucial psychological process missing in such institutions was taking
responsibility for one’s own decisions. To be an actor in life’s drama, we must act, decide, and be
responsible for the consequences. To let others decide for us is to lose the main ingredient in self-esteem
and competence.



6. How are the residents of old age homes described in paragraph |?

a. Healthy b. Sad c. Uncommon d. Weak, poor and troubled

7. According to the author, what is the reason for their poor condition?

a. Left out feel b. Uninterested ¢. lit treated like a passive object d. None of these
8. (Par. 2) What was the researchers’ hypothesis; i.e., what idea was their research based on?

a. Improving self esteem b. Taking responsibility

¢. Less competence d. Change the condition of the poor

9. (Par. 2) What is the main ingredient in self-esteern and confidence?

a. Act and decide b. Decision making ¢. Debilitated condition of these
a s:i

3. Accordingly, about half of the participants in the study were randomly assigned ationt in which they
received instructions that emphasized the need for them (o take more Yespd sibility for caring for
themsclves and for improving the quality of life in the home. They werd thbna2icd to choose a plant from ‘)
among a box of them as a present — but they were told they had to%ﬁar it A

#An contrast, the second group
of patients was given instructions that stressed the responsibiligy

_ sBff 1o provide good services for
the residents. They were handed a plant as a present and inforfged®batthe nurses would water it for them,

4. The results of the enhanced sensc of personal responsibili
behavioural measures, the experimental group (“I’Jt Q¥

the comparison group (“let George do it for you™)
well-being.

Iy were dramatic. On questionnaire ratings and
yRIf") showed sign:ficant improvement over
alertness, active participation, and general sense of

10. (Par. 4) How did the researchers measure the "ﬁf

of the study?

a. Questionnaire ratings \ b. Behavioural measures

¢. Questionnaire ratings and beh Ay

4
11. Which group improved m re.,L
%}»\c

Joubal measures d. None of these

a. Experimental Noomparison c. Both d. None of these ‘ :
12. In what areas didghe beger group show improvement?
a. Aleﬁj% b. Active participation ¢. Sense of well being d. All of these
5. Efphtect®iionths later, these positive results still persisted, as indicated by the nurses’ higher ratings of the

happindss, sociability,

and vigor of the personally responsible group. But most startling of all, encouraging
the Tesidents to be res

ponsible for themselves and their plants made them live longer! the overall death
rate for the entire nursing home during an eighteen-month period

Following the experiment, oaly 15 percent of the
as many for the no-responsibility group.

prior to the experitment was 25 percent.
personally responsible residents died, compared Lo twice

6. In conclusion, psychological interventions of this kind not

only improve mood and attitudes; they seem to
affect the very process of life and death itself

13. (Par. 5) How were results 18 months later?

a. Results perished b. No change c. Results remained d. None of these




14. What was the most surprising finding of the study?

a. None changed

b. Residents became brave

¢. Their plants made them live longer d. None of these

15. Choose the correct conclusion from the options given below.

a. Residents can be changed b. Psychological interventions help residents

c. People will not die

d. None of these

16. When we read only to find the answer, this technique is called.

a. Skimming b. Scanning c. Churning d. Wringing

17. When we read by skipping through sections of a passage, this technique is called.

a. Skimming b. Scanning c. Churning d %n
C {8. When we read only the headings to identify the answer, this technique is cal%
a. Skimming b. Scanning ¢. Churning

19. Which technique helps you to read up to 1000 words a minute? Q )

d, ringing

ﬂ

a. Skimming b. Scanning ¢. Chyrigg d. Wringing
a z

20. Which technique is very useful to identify which section\p sage is to be read?

a. Skimming b. Scanning urning d. Wringing

21. In the 5 stages of listening process which stage}s - embering’?

a. Stage 1 b. Stagm ¢. Stage 3 d. Stage 4
22. In the 5 stages of listening process w; tage is ‘receiving’?
a. Stage | b. Stagé 2 c. Stage 3 d. Stage 4

'
b

" 23.Inthe 5 stages of listening process which stage is ‘understanding’?

/

a. Stage IQ b. Stage 2 c. Stage 3 d. Stage 5
24, In the 5 s@ sfening process which stage is ‘evaluating’?

a. B3 b. Stage | c. Stage 3 d. Stage 5

25. In the 5 stages of listening process which stage is ‘responding’?

a. Stage 4 b. Stage | ¢. Stage 3 d. Stage 5

26. What is the bartier of listenin

g called if a person has hearing problems?

a. Egotism b. Rapid thoughts ¢. Impaired hearing d. None of these

27. What is the barrier of listenin
words?

g called if a person’s mind wanders onto topics which are not related to speaker’s



28, What is the barrier of listening called if a person is given a fot of information to receive?
a. Egotism b. Rapid thoughts ¢. Overloaded messages d. None of these
29 What is the barrier of listening catled if a person cannot understand the accent spoken by the speaker?
a. Faulty assumptions  b. Cultural differences ¢ Egotism d. None of these
30. What is the barrier of listening called if a person thinks listening is merely a passive activity?
a. Faulty assumptions  b. Cultural differences c¢. Egotism d. None of these
31. PSQR, P4QS, P3QT, _ _, PIQV

a. 2PQW b. PQV2 c. P2QU d. PQ3U

32. QPO, NML, KJi, , EDC

a. HGF b. CAB c. JKL d. GHI f))g

33.5CD, TEF, UGH, ___, WKL Q .
a. CMN b. UJI c. VIJ d. UT Q
34, ELFA, GLHA, ILJA, _ _  MLNA
a.OLPA b KLMA c. LLMA d. 9 K
35. In a certain code, SIKKIM is written as THLJ 1 RAINING written in that code?
a. SQBHOHOF b. UQBHOIOF .UQBI—[OHOI d. UQBHOHOF

/

16. if COMPLETED is coded as MOCE]s en DIRECTION will be coded as:

u

EAO c. RIDTCENOI d. RIETCENOI

a. RIDTCENOJ b.
37. EAT+THAT=APPLE. Whag is A Nl v
' Y
a. 13 b. 10 c. 11 d.9 X
¢/ 4
38. SEND+MOK@EY. What is M+O+N+E+Y? 8%
a. 11 € .12 c. 13 d. 14

39. BASE a) . ~GAMES. What is G+A+M+E+S?

. b.23 c.25 d.29
40. LETS+WAVE=LATER. What is L+A+T+E+R?
a.12 b. 13 c. 14 d. 15
41 DONALD+GERALD=ROBERT. What is R+O+B+E+R+T?
a. 22 h. 24 c. 26 d.2

42.SCD, TEF, UGH, ___, WKL




43. FAG, GAF, HAL IAH,
a. JAK b. HAL c. HAL d. HAI

44, PRAG : QTDK : : STOP : ?

a. LMNP b. BDFE ¢. QSTG d. TVRT
45. ELF+ELF=FOOL. What is F+O+0+L?
a 11 b. J2 ¢ 13 d. t4
46. ROADS+CROSS=DANGER. What is D+A+N+G+E+R?
a.28 b. 31 c. 33 d. 35
47.RAB,SCD, TEF, VIl
a. GVH b. UGH c. UVG d. HGU
Cas. SRQ, PON,MLK, | GFE f))Q
| a. IJH b. JIH c. JHI d. [HJ

49. KEL, LFM, MGN, NHO, OIP, Q )
a. JPO b. PJO c. PXQ d. Nodthese
AJE
50. E2HI, , EHI4, ESHI, EH6! \

a. EH31 b. E3H ¢. 2EIH . \d. Yone of these

51. The students who apply to Engineering mllegewout because of lack of guidance.

a. True b. False eu d. Not Applicable

52. The students are not responsible for y isions that they take to join Engineering.
@c. Neutral d. Not Applicable

C a. True b.%
7 53. There is a masstve difference between what a college expects than a school from its students.
| ’

a. True b. False c. Neutral  d. Not Applicable

54. The stud m ave clear picture of what they want to become after engineering right from 1% year of
Engineggip e

b. False ¢. Neutral  d. Not Applicable
55. The students must not approach the library for referring to books which is prescribed in the syllabus.
a. True b. False ¢.Neutral  d. Not Applicable
56. An Engineer, in order to be performing well in their career must have only technical knowledge.
a. True b. False c. Neutral  d. Not Applicable
57. Engineers are the reasons for which the commerce, trade and marketing has experienced drastic improvement.

a. True b. False c. Neutral  d. Not Applicable




58. In order to be an effective Engineer, one must pay closer and keen attention to minutest details.
a. True b. False c. Neutral d. Not Applicable
59. Engincers do not require leadership as well as management skills.
a. True b. False c¢. Neutral  d. Not Applicable
60. Engineers know the value of time.
a. True b. False ¢. Neutral  d. Not Applicable
6l. mom is on the phone, |
a. You b. Your ¢. You're d. Yours
62. looking a lot better than you did.
a. You b. Your c. You're d. Yours
63. If in town, come by and see us.
a. you b. your ¢. you're d. yours

64. 1f you do it again certain to get sent to the office.

a. you b. your ¢. you're d. yoyr:
f :) %

65. Was it brother [ saw last week? \
a. you b. your c. you're

66. [ hope that happy in your new job. :ﬁ\/

a. you b. your @ - d. yours
67. Lhope you get lots of presents on birthday.

-+__
a. you b. yot\ c. you're d. yours .

68. not going out lookinglike that.

a. You QYOM c. You're d. Yours
69. I'm comin% over house to sort this out.

b. your c. you're d. yours

70. Do you Fow where going?
a. you b. your C. you're d. yours

71. The applause showed how deeply the presentation had the audience.
a. affect b. effect c. affected .d. effected

72. His attitude was by his upbringing.

a. affect b. effect ¢. affected d. effected



73.

74.

75.

76.

No matter what he does, it will have no on me.

a. affect b. effect ¢. affected d. effected
No matter what he does, it will not me.

a. affect b. effect c. affected d. effected
How was the team by the loss of their coach?

a. affect b. effect c. affected d. effected

What is the type of introduction called, when it is required to introduce yourself in quick time frame?

a. Self-introduction b. Group introduction c¢. Elevator introduction d. Noge ofthgse

. Choose the best option which suits the best for professional introduction. : ‘
a. Dress appropriately b. Keep eye contact ¢. Be confident d. 0
. A non — formally p;‘epared speech is called. qu
a. Extempore speaking b. Presentation 4 None of these

a. Pipe b. Sender c. Message d. Channgl .

. Which of these is the third element of éommunication? \Ds

a. Sender b. Receiver ¢. Channe lessage

1. Which of these is the most important too! of cogm

a. Body language b. Ges Language  d. Posture

. Which of these must be avoided in a csentation?

a. Proper grammar b. f)lex words ¢. Short sentences d. Clear voice
I

. Which of these is not importan{in an oral presentation?

. 7

a. Words Q Body language c. Gestures d. Audience size
. Which of %esc iSYHE best way to establish a proper rapport with audience?

a. Roifitipg finger b. Making eye contact ¢. Waving hands d. Standing erect
. In an oral presentation, the speaker should not

a. Panic b. Pause c. Making eye contact d. [nspire

86.

87.

Which number among the following is divisible by 7?
a.77754 b. 7666 c. 77784 d. 5643
Which number among the following is divisible by 8?

a. 762928 b. 220953 c. 19537455  d. None of these



88. Which number among the following ts divisible by both 7 and 117

a. 4540074 b. 293076 c. 1793498 d. 5740702
89. Which of the following number is divisible by 632

a. 492815 b. 4107872 c. 5893407  d.6221628
90. Which number is divisible by 18?

a. 52794 b. 432181 c. 1725516  d. None of these
91. What is the unit digit in the product (365 x 659 x 771)?

a.l b.2 c. 4 d. 6

92. What is the unit digit in 7105?

a. | b.5 c. 7 d. 9

93. How many 3-digit numbers are completely divisible 6? q)Q

a. 140 b. 150 c. 151 d. 166 q .
94. (112 + 122+ 132 +... + 202) = 2 Q
a. 398 b. 2485 c. 4232 d.15 o i
o " Wy o718
95. What 1s the unit digit in (795 - 358)? P

a. 0 b.4 c.6

96. What will be remainder when 17200 is dividedw

a. 17 b. 16 ] d.2
97. When a number is divided by | thgnder is 11. When the same number is divided by 17, then remainder
is 9. what is the number?

a. 339 b. 345\ ¢. 369 d. none of these

98. In a division sumgthe di’éisor is 10 times the quotient and 5 times the remainder. If the remainder is 46, what is
the dividend?é

£F

b. 4036 c. 4336 d. 5336

_ Do%r number by 357, we get 39 as remainder. On dividing the same number 17, what will be the
remainder?

a. 0 b.3 c.5 d. 11

100. On dividing a number by 5, we get 3 as remainder. What will the remainder when the square of the number is
divided by 57

a. b. 1 c.2 d.4

*EREF
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Answer all the questions X1=100

((l'- a. True b. False ¢. Neutral  d. Not Applicable
2. The students are not responsible for the decisions that they take to joue
a. True b. False c.Neutral  d. Not Applicabt
3. There is a massive difference between what a coliege ex a%chool from its students.
.a. True b. False ¢. Neutral F&]plimblﬁ:

4. The students must have clear picture of whatfth t to become afler engineering right from 1% year of
Engineering.

5. The students must not approac or referring to books which is prescribed in the syllabus.

4
a. True b. False ml d. Not Applicable
e Iig
a. True b.Jkglse . ¢. Neutral  d. Not Applicable
6- 5. An Engineer, in order to t}e performing well in their career must have only technical knowledge.
a. True | b. False c.Neutral  d. Not Applicable
7. Engineers a@e ons for which the commerce, trade and marketing has experienced drastic improvement.
a. b. False c.Neutral  d. Not Applicable
8. In order to be an effective Engineer, one must pay closer and keen attention to minutest details.
a. True b. False c.Neutral  d. Not Applicable
9. Engineers do not require leadership as well as management skills.
a. True b. False ¢. Neutral  d. Not Applicable

10. Engineers know the value of time.

a. True b. False c. Neutral  d. Not Applicable
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15.

16.

17.

19.

20.

21.

22.

23.

24.

25.

mom is on the phone.

a. You b. Your c. You're d. Yours
looking a lot better than you did.
a. You b. Your c. You're d. Yours
Af in town, come by and see us.
a. you b. your c. you'rc d. yours
.Ifyoudoitagain__  certain to get sent to the office.

a. you b. your c. you're d. yours
Was it brother 1 saw last week?

a. you b. your c. you're d. yours
I hope that happy in your new job.

a. you b. your c. you're d. yours
[ hope you get lots of presents on birthday.

a. you b. vour c. you're d. yo@ L

not goirig out looking like that. \

a. You b. Your c. You’rewgours
I'm coming overto _____ house to sorighis ph.

a. you b. your K ' d. yours
Do you know where @iig?‘ et

a. you b. you\ C. you're d. yours
The applause showed hgw deeply the presentation had _ the audience.

a. affec -effect c. affected d. effected
His au'tud@) by his upbringing.

a. affect b. effect c. affected d. effected
No mafter what he does, it will have no on me.

a. affect b. effect c. affected d. effected
No matter what he does, it will not me.

a. affect b. effect c. affected d. effected
How was the team by the loss of.their coach?

a. affect b. effect c. affected d. effected




27.

28.

29.

30.

31.

32.

33.

34,

35.

C 6.

37.

38.

39.

40.

‘}m
: P EE
. o :‘;* g’.\\"\‘
‘ . . : ‘ L o ey k
. What is the type of introduction called, when it is required to introduce yourself in quick time framef?.’; LtBRI\‘W/;; i
. o/
a. Self-introduction b. Group introduction c. Elevator introduction d. None of thesa * ~»'/

Choose the best option which suits the best for professional introduction.

a. Dress appropriately b. Keep eye contact c. Be confident d. All of these
A non — formally prepared speech is called.

a. Extempore speaking b. Presentation c. Debate d. None of these
Which of these element is not invelved in the process of communication?

a. Pipe b. Sender c. Message d. Channel
Which of these is the third elemeat of communication?

a. Sender b. Receiver ¢. Channel d. Message

Which of these is the most important tool of communication? ’))
a. Body language b. Gestures c. Language d. Posg:q ®

Which of these must be avoided in any presentation?
a. Proper grammar b. Complex words c. Sh@teﬂces d. Clear voice

Which of these is not important in an oral presenta@

a. Words b. Body language f» estures d. Audience size
Which of these is the best way to establisia p: dpePrapport with audience?

f\:
g e contact  ¢. Waving hands d. Standing erect

a. Pointing finger b. Makdy

In an oral presentation, the smou[d not .
a. Panic b. Pauk ¢. Making eye contact d. Inspire

Which number among the following is divisible by 77

a.7775 7666 c. 77784 d. 5643
Which, nurither aghong the following is divisible by 8?

a. 7929 b. 220953 ¢. 19537455  d. None of these
Which number among the following is divisible by both 7 and 117

a. 4540074 b. 293076 c. 1793498  d. 5740702
Which of the following number is divisible by 63?7 -

a. 492815 b. 4107872 c. 5893407  d. 6221628

Which number is divisible by 18?



41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

5L

52

53

What is the unit digit in the product (365 x 659 x 771)?

al b. 2 ' c.4 d. 6

What is the unit digit in 71057

a1 b.5 c.? d9
How many 3-digit numbers are completely divisible 67?

a. 140 b, [50 ¢. 151 d. 166
(112 +122+ 132+ . +202)="7

a. 398 b. 2485 c. 4232 d.1563

What is the unit digit in (795 - 358)?

a.0 b. 4 c.6 d. 7

What will be remainder when 17200 is divided by 18? , f)) )
a 17 b. 16 c.1 d.?2 q . ®

When a number is divided by 13, the remainder is 1. When the sa&nber i5 divided by 17, then remainder

is 9. what is the number?
a. 339 b. 349 c. 369 d: gth;e
In a division sum, the divisor is 10 times the qu L 4 5 times the remainder. If the remainder is 46, what is
the dividend? '
7 745336

a. 4238 b. 4036 c. 4336

On dividing a number by 357, we _ remainder. On dividing the same number 17, what will be the

remainder? # g
a0 b.3 ><\/ .5 d. 11

On dividing a number by, 5, we get 3 as remainder. What will the remainder when the square of the number is @

7

divided by 57 4
a.0 gﬁQﬁ 1 . 2 d.4

How f - ﬁéfoll'owing numbers are divisible by 3 but not by 9?
2&3, 3474, 4131, 5286, 5340, 6336, 7347, 8115, 9276

n
a. s b. 6 c. 7 d. None of these
. The difference between the place value and the face value of 6 in the numeral 856973 is g :
! S
a. 973 b. 5994 c. 5973 d. 435 S

- The smallest 6-digit number exactly divisible by 111 is:

a 111111 b. 11077 c. 100011 d. 2233109



CEMTRAL

":_'::: 54. The largest 5-digit number exactly divisible by 91 is: LIBRARY

a. 88899 b. 99918 c. 45361 d. 98978

55. What is the unit digit in {(4137)7547
a. 1 b.3 c.7 d.9
Read the following passages and answer the questions given below (Q56 — 65)
The Greening of the aged

1. A visit to most homes for the aged is so depressing that second visits are uncommon. The men and women we
see there are listless, unresponsive, and often incapable of performing simple tasks. They appedg ¥gmotivated,
uninterested, and turned away from others Their debilitated physical and emotional conditio * { a'necessary

setting.

2. Recently, two young researchers from Yale University, Ellen Langer and Jud;
they could reverse the debilitated condition of residents in one of these ol

£ consisted of 91 residents, aged 65 to 90, all well enough to be walking akGH ifivestigators reasoned that the
' crucial psychological process missing in such institutions was takingagghensi ﬂlty for one’s own decisions. To
be an actor in life’s drama, we must act, decide, and be responsibléyfor the ‘consequences. To let others decide

for us is to lose the main ingredient in self-esteem and competence.

56. How are the residents of old age homes described in pag@? R
n

a. Healthy b. Sad c. U d. Weak, poor and troubled
57. According to the author, what is the reason for th or condition?
a. Left out feel b. Unintcrcs@&’ c. i treated like a passive object d. None of these

58. (Par. 2} What was the researchers’ hyl
a. Improving self esteem b. Taking responsibility
c. Less competence d. Change the condition of the poor

(C;‘) (Par. 2) What is the maiyingredient in self-esteem and confidence?

8sis; i.e., what idea was their research based on?

a. Act andidec b. Decision making . Debilitated condition d. None of these

3. Accordingl®, abo ut half of the participants in the study were randomly assigned to a situation in which they
receive '; [ructions that emphasized the need for them to take more responsibility for caring for themselves and
for imprdying the quality of life in the home. They were then asked to choose a plant from among a box of them
as a present — but they were told they had to care for it. In conitrast, the second group of patients was given
instructions that stressed the responsibility of the staff to provide good services for the residents. They were

handed a plant as a present and informed that the nurses would water it for them.

4, The results of the enhanced sense of persona! responsibility were dramatic. On questionnaire ratings and
behavioural measures, the experimental group (“I'll do it myself”) showed significant improvement over the
comparison group (“let George do it for you™) on alertness, active participation, and general sense of well-being,.

60. (Par. 4) How did the researchers measure the results of the study?
a. Questionnaire ratings b. Behavioural measures
¢. Questionnaire ratings and behavioural measures d. None of thesc



61. Which group improved more?

a. Experimental b. Comparison c. Both d. Noae of these

62. In what arcas did the better group show improvement?
a. Alertness b. Active participation ¢. Sense of well being d. All of these

5. Eighteen months later, these positive results still persisted, as indicated by the nurses’ higher ratings of the
happiness, sociability, and vigor of the personally responsible group. But most startling of all, encouraging the
residents to be responsible for themselves and their plants made them live fonger! the overall death rate for the
entire nursing home during an eighteen-month period prior (o the experiment was 25 percent. Following the
experiment, only |5 percent of the personally responsible residents died, compared to twice as of@ay for the no-
responsibility group. R

hey seem to affect

ki

6. In conclusion, psychological interventions of this kind not only improve mood and attitu
the very process of life and death itself.

63. (Par. 5) How were results 18 months fater? _.:7
a. Results perished b. No change c. Resul ain. d. None of these

64. What was the most surprising finding of the study? Q )
a. None changed _ b. Residents became brave
L %
n

c. Their plants made them live longer d. ¢ offthese

65. Choose the correct conclusion from the options gi ! ! xi"_m
a. Residents can be changed b. Psyclfological interventions help residents

c. People will not die ; \ None of these
e -

66. When we read only to find the answ technique is called.

a. Skimming b: Sgaghing ¢. Churning d. Wringing
67. When we read by skipping}xgh secttons of a passage, this technique is called.

a. Skimming b. Scanning ¢. Chuming d. Wringing
68. When we @ e headings to identify the answer, this technique is called.

Y, RIng b. Scanning c. Chuming d. Wringing

69. Which tet nique helps you to read up to 1000 words a minute?

a. Skimming b. Scanning c. Churning d. Wringing
70. Which technique is very useful to identify which section of a passage is to be read?

a_ Skimming b. Scanning c. Churning d. Wringing

71. In the 5 stages of listening process which stage is ‘remembering’?

a. Stage | b. Stage 2 c. Stage 3 d. Stage 4



. In the 5 stages of listening 'process which stage is ‘receiving’?

Ol pmaany pd 0
a. Stage | b. Stage 2 c. Stage 3 d. Stage 4 © / Ny
o . é’%/’

. . . . e /
73. In the 5 stages of listening process which stage is ‘understanding’? o Negap - T

a. Stage 1 b. Stage 2 c. Stage 3 d. Stage 5
74. In the 5 stages of listening process which stage is ‘evaluating’?
a. Stage 4 b. Stage 1 ¢. Stage 3 d. Stage 5

75. In the 5 stages of listening process which stage is ‘responding’?

a. Stage 4 b. Stage 1 c. Stage 3 d. Stage 5

76. What is the barrier of listening called if a person has hearing problems?

a. Egotism b. Rapid thoughts ¢. Impaired hearing d. None

77. What is the barrier of listening called if a person’s mind wanders onto topics% are not refated to speaker’s
¢ words? R

a. Egotism b. Rapid thoughts ¢. Impaired hearing @o)e of these
78. What is the barrier of listening called if a person is given a f information to receive?
m ;

a. Egotism b. Rapid thoughts c. Over[oaﬁe&e ages d. None of these

79. What is the barrier of listening called if a personcahy bnderstand the accent spoken by the speaker?
a. Faulty assumptions b. Cultural diﬂ"ere@. Egotism d. None of these

80. What is the barrier of listening calle. i thinks listening is merely a passive activity?

fAferences c. Egotism d. None of these

81. PSQR, P4QS, P3QT, ___ ) PI
: a. 2PQW b. PQV2 c. P2QU d. PQ3U

C "/
82. QPO, NML, KJI; L EDC '
.HGF %AB ¢. JKL d. GHI
b. UJI c. VI d. UT

84. ELFA, GLHA, ILJA, _ ,MLNA

a. OLPA b. KLMA ¢. LLMA d. KLLA
85. In a certain code, SIKKIM is written as THLJJL., how is TRAINING written in that code?

a. SQBHOHOF b. UQBHOIOF ¢. UQBHOHOI d. UQBHOHGF
86. if COMPLETED is coded as MOCELPDET, then DIRECTION will be coded as:

a. RIDTCENOQJ b. SIDTCENOI c. RIDTCENOI d. RIETCENOI




87. EAT+THAT=APPLE. What is A+L+T?

a 13 b. 10 c. 11 d.9
88. SEND+MORE=MONEY. What is M+O+N+E+Y?

a 11 b. 12 c. 13 d. 14
89. BASE+BALL=GAMES. What is G+A+M+E+S?

a. 21 b. 23 c.25 d. 29
90. LETS+WAVE=LATER. What is L+A+T+E+R?

al2 b. 13 c. 14 d. 15

91.DONALD+GERALD=ROBERT. What is R+O+B+E+R+T?

a. 22 b.24 c.26 d.2
92. SCD, TEF, UGH, , WKL
a. CMN b. Ul c. VIJ d uUT

93. FAG, GAF, HAJ IAH,

94, PRAG : QTDK : : STOP : ?

a. JAK b. HAL c. HAL d. HAQ .

a. LMNP b. BDFE c. QSTG(\/ RT
95. ELF+ELF=FOOL. What is F+O+0O+L? /

a ll b. 12 %\ d. 14

9. ROADS+CROSS=DANGEWVS D+A+N+GHE+R?

a.28 b. 31 \

97. RAB, SCD, TEF, g4Vl

c. 33 d. 35

98. SRQ, PO , GF
a. b. JIH c. JHI d. [HJ

99. KEL, LFM, MGN, NHO, OIP,

a. JPO b. PJO <. PJQ d. None of these

100. E2H], , EHI4, ESHI, EH6l

a. EH3I b. EI3H c. 2E3H d. None of these

k¥ kkk

a. GV 0 UGH c. UVG d. HGU
., GFE

CENTRAL
LIBERARY
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Answer all the questions 100X1=100
1. How many of the following numbers are divisible by 3 but not by 9?
2133.2343, 3474, 4131, 5286, 5340. 6336, 7347 8115,9276

a5 b, 6 c. 7 d. None ot these

[ ]

. The difference between the place value and the face value of 6 in the numeral 856973 is

A

a.973 b. 5694 ¢. 3973 d. 435

i

3. The smallest 6-digit number exactly divisible by 111 is:

a. L1t b. 11077 ¢. 100011 d. 2233109
4. The fargest 3-digit number exactly divisible by 91 is;

a. 88899 b. 99918 ¢. 45361 d. 98978
5. What s the unit digit in (4137)7547

a. h.3 d. g

L]
~1

Read the following passages and answer the questions given below (Q6 - 15}
The Greening of the aged

I. A visit to most homes for the aged is so depressing that second visits are uncommon. The men and women
we see there are listless. unresponsive. and often incapable of performing simple tasks. They appear
unmotivated. uninterested, and tumed away from others. Their debilitated physical and emotional
condition is not a necessary consequence of old age. Rather, it is the inevitable result of being treated like
a passive object in an institutional setting.

2. Recently, two young researchers from Yale University. Lllen Langer and Judith Rodin. decided to see
whether they could reverse the debilitated condition of residents in one of these old-age homes (1976).
Their sample consisted of 91 residents. aged 65 Lo 90. all well cnough to be walking about. The
investigators reasoned that the crucial psychological process missing in such institutions was taking
responsibility for one's own decisions. To be an actor in life’s drama, we must act. decide. and be
responsible for the consequences. To let uthers decide for us is to lose the main ingredient in sell-esteem

and competence.



o

. How are the residents ol old age homes described in paragraph 17
a. tlealthy b. Sad ¢. Lincommon d. Weak. poor and troubled

7. According to the author. what is the reason for their poor condition?

a. l.eft out feel b. Uninterested ¢. ll treated like a passive object d. None of these
8. (Par. 7y Whal was the researchers” hypothesis: i.¢.. what idea was their research based on?

a. Improving self esteem b. Taking responsibility

¢, L.ess competence d. Change the condition of the poor
9. (Par. 2) What is the main ingredient in self-estcem and confidence?

a. Act and decide b. Decision making ¢. Debilitated condition d. None ol these

3. Accordingly. about half of the participants in the study were randomly assigned to a situation in which they
received instructions that ¢mphasized the need for them to take more responsibility for caring for
themselves and for improving the guality of Tife in the home. They were then asked o choose a plant from
among a box of them as a present  but they were told they had to care for it. In contrast. the second group
of paticnts was given instructions that stressed the responsibility of the staft to provide good services for
the residents. They were handed a plant as a present and informed that the nurses would water it for them,

4. The results of the enhanced sense of personal responsibility were dramatic. On questionnaire ratings and
behavioural measures. the experimenmal group (Il do it myself™) showed significant improvement over
the comparison group {“let George do it for vou™) on alertness. active participation. and general sense of
well-being,

10_(Par. 4) How did the researchers measure the results of the study?
a. Questionnaire ratings b. Behavioural measures
¢. Questionnaire ratings and behavioural measures d. Nonc of these

1. Which group improved more?
a. Experimental h. Comparison c. Both d. None of these

[2. In what arcas did the better group show improvement?

a. Alertness b. Active participation ¢. Sense of well being d. All of these

3. Eighteen months later. these positive results still persisted. as indicated by the nurses” higher ratings ol the
happiness. sociability. and vigor of the personally responsible group. But most startling of all. encouraging
. the residents to be responsible for themselves and their plants made them live longer! the overall death
rate for the entire nursing home during an eighteen-month period prior to the experiment was 25 percent.
Following the experiment. only 15 percent of the personally responsible residents died. compared to twice
as many for the no-responsibility group.

6. In conclusion, psyvchological interventions of this kind not only improve mood and attitudes: they seem to
affect the very process of life and death itself,

[3. (Par. 3) l{ow were results 18 months later?

a. Results perished b. No change ¢. Results remained d. None of these



19,

20.

ke

27

. What was the most surprising finding of the study?

a. None changed b. Residents became brave

¢. Their plants made them live longer d. None of these

. Choose the correct conclusion from the options given below.

a. Residents can be changed b. Psychological interventions help residents

¢. People will not die d. None of these

. When we read only to find the answer. this technique s called.

a. Skimming b. Scanning ¢. Churning d. Wringing

_When we read by skipping through sections of a passage. this lechnique is called.

a. Skimming b. Scanning ¢. Churning d. Wringing

. When we read only the headings to identify the answer. this technique is called.

a. Skimming b. Scanning ¢. Churning d. Wringing
Which technigue helps you to read up to 1000 words a minute?”

a. Skimming b. Scanning ¢. Churning d. Wringing
Which technique is very useful to identify which seclion of a passage is to be read?

a. Skimming b. Scanning ¢. Churning d. Wringing

. In the 5 stages of listening process which stage is ‘remembering™?

a. Stage | b. Stage 2 c. Stage 3 d, Stage 4

_In the 5 stages of listening process which stage is “receiving’?

a. Stage 1 b. Stage 2 c. Stage 3 d. Stage 4

. In the 3 stages of listening process which stage is “understanding™?

a. Stage | b. Stage 2 ¢. Stage 3 d. Stage 5
_In the 5 stages of fistening process which slage is “evaluating™?

a. Stage 4 b. Stage | c. Stage 3 d. Stage §
. In the 5 stages of listening process which stage is ‘responding™?

a. Stage 4 b. Stage | c. Stage 3 d. Stage 5
- What is the barrier of listening called if a person has hearing problems?

a. Cgotism b. Rapid thoughts ¢. Impaired hearing d. Nonce of these

- What is the barrier of listening called il'a person’s mind wanders onto topics which are not related to speaker’s

words?

a. Egotism b. Rapid thoughts ¢. Impaired hearing d. None of these



2&. What is the barrier of listening called if'a person is given a lot of information to receive?
a. Fgotism b. Rapid thoughts ¢. Overloaded messages d. None of these
29, What is the barrier of listening catled if a person cannot understand the accent spoken by the speaker?
a. Faulty assumptions b, Cultural ditfferences ¢, Egotism d. None of these
30, What is the barrier of listening called if a person thinks listening is merely a passive activity?
a. Faulty assumptions b, Culwral differences ¢, Fgotism d. None of these
31LPSQROPAQS.PIQT. PIQV
a. 2PQW b. PQV2 ¢. P2QU d. PQ3U
32.QPONML, KL JEDC
a. HGF b. CAB ¢. JKL d. GHI
A3SCD.TEF. UGH. . WKL
a. CMN b. LI c. VI d. T
34. ELFA, GLHAL ILIA, . MLNA
a. CLPA b. KLMA ¢ LLMA d. KLLA
35 Ina certain code, SIKKIM is written as THLIIL, how is TRAINING written in that code?
a. SOBHOHOF b. UQBHOIOF c. LQBHOIIOI d. UQBHOHOF
36 ifCOMPLETED is coded as MOCELPDLT. then DIRECTION will be coded as:

L
s}

40

_.;1

a. RIDTCENO) b. SIDTCENOI ¢. RIDTCENOI d. RIETCENOI

{FPAT-THAT=APPLE, What is A+L+T7

a 13 h. 10 ¢ 11 d 9
SEND-MORE=MONEY. What is M+O+N-+FE+Y?

a. 1l b 12 c. 13 d. 14
. BASEHBALL=CGAMES. What is G+A+M~+E+S?

a. 21 b, 23 c. 23 d. 29
CLETS+WAVE=LATER. What 1s L+A~T-E+R?

a.l2 h. 13 c. 14 d. 15
DONALD+GERALD=ROBERT. What 1s R+O+B+E+R+T?

a 22 h. 24 c. 26 | d.2

SCD.TEF. UGH. . WKL




13 FAG. GAF. HAL T1AH.
a JAK b. HAL 0. HAL d. HAI
14, PRAG : QTDK : : STOP ; 7

a. LMNP b. BDFE ¢ QSTG d. TVRT

—
v

5. ELF+ELF=FOOL. What is F+Q+0+L?
a. |l b 12 c. 13 d. 14

46. ROADS+CROSS=DANGER. What is D+A+N~G+]:+R?

a 28 b. 31 ¢. 33 d.35
47.RAB.SCD.TEF. VIl

a. GVH b. UGH ¢. UVG d. HGU
48, SRQ.PON.MLK. . GFE

a. 1JH b. JIH ¢, JHI d. IHJ

49. KEi. LFM. MGN, NHO, OIP,

a. JPO b. PJO c. PIO d. None of these
S0 E2HL . EHI4. E5HI. EHéI
a. LH3I b. EI3H e [2E31 d. None ot these

i

. The students who apply to Engineering colleges drop out because of lack of guidance.
a. True b. False c. Neutral d. Not Applicable
52 The students are not responsible for the decisions that they take to join Engineering.
a. True b. False ¢. Neutral d. Not Applicable
33, There s a massive difference between what a college expects than a school from its students.
a. True b. False ¢. Neutral d. Not Applicable

34, The students must have clear picture of whal they want to become after engineering right from I year of
Engineering.

a. lrue b. False ¢. Neutral ~ d. Not Applicable
55, The students must not approach the library for referring 10 books which is prescribed in the syllabus.
a. True b. Falsc c. Neutral  d. Not Applicable
56. An Engineer. in order to be performing well in their career must have only technical knowledge.
a. True b. ['alse ¢. Neutral d. Not Applicable
7. Engincers are the reasons for which the commerce. trade and marketing has experienced drastic improvenent.

a. True b. False ¢. Neutral  d. Not Applicable



S8. In order to be an effective Engineer, one must pay closer and keen attention to minutest details.
a. True b. lalse ¢. Neutral d. Not Applicable
59, Lngineers do not require leadership as well as management skills.
a. True b. False ¢.Neutrai  d. Not Applicable
60. Engineers know the value ol time.
a. True b. Ialse ¢. Neutral  d. Not Applicable
61. __ momison the phone.
a. You b. Your c. You're d. Yours
62, looking a lot berter than you did.
a. You b. Your ¢. You're d Yours
631 intown, come by and see us,
a. you b. vour ¢.vou're d. yours
64 Ifvou doitagain _ certain to get sent to the oftice.
a, vou b. vour ¢ vou're d. vours
63. Was it brother I saw last week?
a, you b. your c.vou're d. yours
661 hope that happy in your new job.
a.you b. vour C. you're d. vours
67. 1 hope vou get lots of presents on ~_birthday.
a.yvou b. vour c. you're d. yours
68, not going out looking like that.
a. You b. Your e You're d. Yours
6O 'm coming over to house to sort this out,
a. you b. your . you're d. yours
70, Do you know where going?
a.you b. vour C. you're d. yours
71. The applause showed how deeply the presentation had | ) __the audience.
a. affect b. eftect ¢. affected d. effected
72, His attitude was by his upbringing.

a. affect b. effect ¢. alfected d. effected




A

7,

80,

84.

86,

- No matter what he does. it will have no on me.

a. affect b. effect ¢. affected d. effected
. No matter what he does, it will not ~ . me.

a. affect b. effect ¢, affected d. effected
. How was the team by the loss of their coach?

a, attect b. effect ¢. affected d. effected

- What is the type of introduction called, when it is required to introduc

Which ol these element is not involved in the process of communicati
a. Pipe b. Sender c. Muessage d. Channel
Which of these is the third element of communication?

a. Sender b. Receiver ¢. Channel d. Message

- Which ot these is the most important too! of communication?

a. Body language b. Gestures ¢. Language  d. Postu

- Which of these must be avoided in any presentation?

e yoursell in quick time frame?

a. Self-introduction b. Group introduction ¢, Eievator introduction d. None of these
. Choose the best option which suits the best for professional introduction.

a. Dress appropriately b. Keep eve contact ¢. Be confident d. All of these
- A non — formally prepared speech is called.

a. Extempore speaking b. Presentation c. Debate d. None of these

on?

g

a. Proper grammar b. Complen words ¢. Short sentences d. Clear voice

3. Which of these is not important in an oral presentation?

a. Words b. Body language ¢. Gestures

d. Audience size

Which of these is the best way 10 establish a proper rapport with audience?

a. Pointing finger b. Making eye contact ¢. Waving hand

- In an oral presentation, the speaker should not

a. Panic b. Pause ¢. Making eye contact
Which number among the following is divisible by 79

a.77734 b. 7666 c. 77784 d. 5643

- Which number among the following is divisible by 87

4. 762928 b. 220953 ¢. 19537455 d. None of these

5 d. Standing erect

d. Inspire



88,

80,

00,

91

Q2

94,

96,

03,

94,

Which number among the following is divisible by both 7 and 117

a. 4540074 h. 293076 ¢. 1793408 d. 5740702
Which of the following number is divisible by 637

a. 492815 b. 4107872 c. 3893407  d. 6221628
Which number is divisible by 187

a. 32794 h. 432181 c. 1723516 d. None of these
What is the unit digit in the product (365 x 639 x 771}?

a.l b. 2 c.d d. 6
What is the unit digit in 71057

a. i b. 5 c. 7 d. 9

- How many 3-digit numbers are completely divisible 67

a. 140 b, 150 c. 151 d. 166
(112+ 122+ 132+ . +202)=7

a, 398 b. 2485 ¢. 4232 d. 1563

3. What is the unit digit i (795 - 358)?

a. 0 h. 4 c. b d. 7
What will be remainder when 17200 is divided by 18?

a. 17 b 16 c. | d 2

7. When a number is divided by 13. the remainder is 11. When the same number is divided by 17. then remainder

is 9. what is the number?
a. 339 b. 349 c. 369 d. none of these

In a division sum, (he divisor is 10 times the quotient and 5 times the remainder. [f the remainder is 46, what is
the dividend?

a. 4236 b. 4036 ¢. 4336 d. 5336

On dividing a number by 357. we get 39 as remainder. On dividing the same number 17. what will be the
remainder?

a.0 b.3 c. S d. 11

100. On dividing a number by 5, we get 3 as remainder. What will the remainder when the square of the number is

divided by 57

a0 b. 1 ¢. 2 - d.4

LEE R X



ADICHUNCHANAGIRI UNIVERSITY

First Semester BE Degree Examination
{CBSC Scheme)
Time: 3 Hours Max Marks: 100 marks

SUB: ENGINEERING PHYSICS
Q P Code: 60003

Instructions: 1. Answer five full questions.
2. Choose one full question from each module
3. Your answer should be specific to the guestions asked.
4. write the same guestion numbers as they appear in this question paper.
5. Write Legibly

MODULE-1
1. a Define damped oscillations and forced oscillations with examples. 4 marks
b, Describe the construction and working of Reddy Shock tube. 6 marks
¢.  Define simple harmonic motion. Derive the cquation for simple harmonic motion 6 marks
using Hooke's law.
d. Evaluate the resonance frequency of a spring of force constant 2467 N/, carrying 4 marks
a mass of 100 gm,
OR
5 a  Define Mach number. Write the applications of shock waves. & marks
Discuss the theory of forced vibrations and hence obtain the expression for 10 marks
amplitude.
¢, Find the frequency of oscillation of a free particle exccuting simple harmoni¢ 4 marks

motion of amplitude 0.35 m 1f the maximum velocity it can attain 1s 220 ms.

MODULE -2
3. a. Define young's modulus. bulk modulus and rigidity modulus and derive a relation 8 marks
between them.,
b, Define bending moment of a beam. Derive an expression for bending moment 8 marks

(5.1 = (3)10)

¢. A wire length | m and diameter | mm is clamped at one of its ends. Calculate the 4 marks
couple required to twist the other end by 9. Given rigidity modulus = 2.8x 10" Nim?,

OR
4. a  Stale Hooke's law of elasticity. Derive an expression for young's modulus Y of a 10 marks
material of a single cantilever.
b What are torsional oscillations? Mention the expression for couple per unit twist of 6 marks

a solid cylinder and expression for period of oscillation.
. A solid lead sphere of radius 10.3 m s subjected to a normal pressure of 10 N/m* 4 marks
acting all over the surface. Determine the change in its volume.

PTO



10.
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MODULE -3
Define lattice and basis. Explain seven crystal systems with ncat diagram.
Discuss different 1ypes of optical hibers with suitable diagrams.
A monochromatic X-ray beam of wavelength 0.7 A undergoes first order Bragyg
ceflection from the plane {302) of cubic crystal at a glancing angle of 35 Caleulate
the lattice constant

OR

Detive an expression for aumerical aperture in erms of refractive index of core and
cladding.
Derive Bragg's law.
Derive an expression for interplanar spacing of a crystal n terms of miller indices.
Calculate the V-number and number of modes supported by an optical fiber of core
index 1.54 and cladding index 1.5 at operating wavelength 1.3 pm. The diameter of
ihe fiber is 50 um.

MODULE — 4
Set up | -dimensional time independent Schrodinger's wave equation and mention
any two properties of wave function.
Derive an cxpression for encrgy density at thermal equilibrium through Einstein’s
cocfficients.
An electron has a speed of 500 m/s correct up to 0.01 %. With what fundamental
accuracy the posiion of the electron can be located?

OR

Show that the electron cannot exist inside the nucleus using Heisenberg's
uncertainity principle.
What is a laser? Describe the construction and working of COz laser with the help
of energy level diagram.
A pulsed laser emits of pulses of 20 ns duration with an average power: pulse
being 0.1 Mw. If the number of photons cmitted per pulse 1s 6.081 x 107, calculate
the wavelength of the laser.

MODULE -5
Define Fermi level and Fermi factor. Write the assumptions of quantuim free
electron theory.
Derive ap expression for conductivity of gemiconductors.
What are polar and non polar dielectrics?
The Fermi level 1n silver 1s 8.5 eV oat 0%K. Calculate the pumber  of
frec clectrons 7 unit volume.

OR

Obtain an expression for Fermi energy al 0% K.
Denve Clausius-Mossotti equation.
Discuss solid, liquid and gascous dielectrics with examples.
The following data are given for intrinsic germanium at 300 K. The cleciron and
hole mobilities are 0.85 yle! and 0.04 mTV s ' Find the resistivity ol the
sample if the intrinsic carrier concentration 18 7 X 104" m™.

Y £

10 marks

6 marks

4 marks

6 marks
4 marks

6 marks
4 marks

8 marks

8 marks

4 marks

6 marks

10 marks

|

4 marks

6 marks

6 marks
4 marks
4 marks

6 marks
& marks
4 marks
4 marks



ADICHUNCHANAGIRI UNIVERSITY

First Semester BE Degree Examination
(CBSC Scheme)
Time: 3 Hours Max Marks: 100 marks

SUB: CIVIL ENGINEERING AND MECHANICS
Q P Cade: 60005

Instructions: 1. Answer five full questions.
. Choose one full question from cach module
. Your answer should be specific to the questions asked.

e D

4. Write the same question numbers as they appear in this question paper.
5. Write Legibly
MODULI-1
I @ With neat sketeh explain different types of dams, 10 Marks
b Explain the role of Civil Engineer in Infrastructure development of the country 1O Marks
OR
2 a  Explam briefly any two scopes of Civil Engincering, 10 Marks
b Explain the Effect ol Infrastructure on Socio-economic development a country (0 Marks
MODULE-2
3 a Explain the basic 1deahization of Civil Engineering 10 Marks
b Statc and prove Varignon’s Theorem 3 Marks
¢ A block weighing 10kN is resting on an inclined plane as shown in Fig.Q.3(c). 3 Marks
Determine 1ts components normal to and parallel to the inclined plane.
The plane makes an angle 20" with the horizontal.
!
0
2o
Fig.Q.3(0)
OR
4 a State Law of Transmissibility of Forces, Law of superposition and Law of physical 0 Muarks
independence
b Define Foree and its characteristics 4 Marks

¢ A body is subjected to the three forces as shown in Fig.Q.4(c}). Determine the direction o 10 Marks
the force F so that the resultant is in x” direction, when 1) F=5000N 1i) F=3000N.




MODULE-3

$ a  Mention the equations of Equilibrium required for Coplanar concurrent and Coplanar 4 Marks
non-concurrent system of forces
b State and Prove Lami’s theorem 6 Marks
¢ Two spheres of radius F00mm and weight SkN is in rectangular box as shown in [0 Marks
Fig.Q5(c). Caleulate the reactions at the point of contacts.

! ;)k‘{

. Soo mvi

Fig.Q5(c)
OR
6 a With neat sketch explain different types of Beams. 6 Marks
b What are statically determinate and indeterminate beams 4 Marks

¢ Determine the reactions for a cantilever beam fixed at *A” and free at *B” loaded shown 10 Marks
in Fig Q6é(c).

Q0¥ 2xK e

. B
: pimm
Fig.Qo(¢)
MODULE-4
7 a  Derive the centroid of a Semicircle by the method of Integration. 8 Marks
b Locate the centroid of the plane shown in Fig.Q7(b) 12 Marks

Fig.Q.7(b)



9

10

d

b

OR

Determine radius of gyration of shaded area shown in Fig.Q8(a) about the axis AB.

A B
.,-' /r“Z . ‘0 ‘)f I//:}/i/_/
! | ]
B 400 e ML Diwenssong afe
v P
State and prove Parallel axis theorem.
MODULE-5

Derive an cxpression for Greatest height reached by a particle and the time 1t takes

A stone is dropped from the top of a tower 50m high. At the same time another stone 15
thrown up from the ground with a velocity of 25m’s. At what distance from the top and
afler how much time the two stones cross each other”

OR

What is super clevation? Mention its advantages and disadvantages.

A cricket Ball is thrown from a height of 1.8m above the ground level at angle 30" with
the horizontal with a velocity 12mis and is caught by the fielder ata height of 0.6m above
the ground. Determine the distance between the two players,

o ek e v

12 Marks

8 Marks

8 Marks

12 Marks

8 Marks

2 Marks



Time; 3 Hours

ADICHUNCHANAGIRI UNIVERSITY

First Semester BE Degree Examination
(CBSC Schemc)

SUB: ELEMENTS OF MECHANICAL ENGINEERING
Q P Code: 60010

Instructions: |. Answer five full questions.

-
)

2 Choose one full guestion from each module

1 Your answer should be specific to the questions asked.

4. Write the same question numbers as they appear in this question paper.
5. Write Legibly

MODULE-1
Explain: (i) Hydroelectric Power Plant
(i1} Wind Power Plant.
List the Boiler Mountings and Accessories. Explain any four.
OR
What are turbines? Explain Kaplan turbine with neat sketches.

Differentiate between Open and Closed cycle Gas Turbines.

MODULE-2
With PV diagram explain Otto cycle and Diesel Cycle

Foliowing data  were collected  from  a  d-stroke  single cylinder  oil
engine at full load. Bore=200mm, stroke = 280mm. speed — 300rpm. indicated mean
effective pressure = 5.0 bar, torque on the brake drum=250 Nm, oil consumed= 4.2 kg/hr
and calorific value of oil = 41 MJ/kg. Determine mechanical efficiency, indicated thermal
efficiency and brake thermal cfficiency.

OR
With a neat sketeh explain the working of Vapour Absorption Refrigeration system

Draw neat sketch and explain the working of Domestic Air Conditioner

MODULE-3
With neat sketches explain (1) Facing
(11} Thread cutting
(1) Reaming
(iv) Counter Sinking

(v} Boring.

Max Marks: 100 marks

LO marks

10 marks

12 murks

0% marks

L0 marks

1O marks

1O marks

10 marks

1O marks

1]
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With neat sketches explain working Operations of
(1) Surface Grinding
{11) Centerless Grinding

OR

With a neat sketch explain Electric Arc Welding

Differentiate between Soldering and Welding

MODULE-4
Define (1) Velocity ratio
(ny Creep
(1) Slip
(1v) Lubrication

Explain ldler and Stepped Cone drive mechanisms,
Two mating gears have 30 and 45 involute tecth of module 12 mm and 20" pressure
angle. Determune veloenty ratio and centre distance between gears,

OR

Explain Ball bearings and Roller bearings with neat sketches

Discuss any four propertics of a good lubricant.

MODULE-5

What are engineering materials? Classify and explain cach.
Write a short note on (1) Casl iron (11) Steel

Explain any three properties of polymeric materials

OR

What are Matrix and Reinforcements? Explain the classification of Composite materials

Explain the applications of Composites in Aircraft and automobile industrics,

Rk

) marks

[0 marks

10 marks

(4 marks

2 marks

04 marks

12 marks

08 marks

(36 marks
{8 marks

06 marks

0% marks

12 marks



ADICHUNCHANAGIR! UNIVERSITY

First Semester BE Degree Examination

(CBSC Scheme)
Time: 3 Hours

Max Marks: 100 marks

Sub: Basic Electrical Engincering

QP Code: 66004
Instructions: 1. Answer five full questions,
2. Choose one full question from each module
3. Your answer should be specitic 1o the questions asked.

4. Write the same question numbers as they
3. Write Legibly

appear in this question paper.
Module-1

State and explain Ohms and mention any two limitations

b A portion of the network is shown in Fig 1(b)

across the 15Q resistor if 30V. find the value of resistance R and the current I.

5 e
e AR L

LA —l # P\_ o T
T TNy

N IC—W - _4?'. :1 r
e

Ranel's T.“_'_] t{h)

L)

Define RMS value ol an alternating quantity and derive the expression for the same.

OR
2 a4 Inthe network shown in Fig2(a). find the Voltages Vac, Vee, Vac and Vad

N g T Tk

a7 NT -
ey -}_' 4J
i > 12y .
. {f % L_ /,a’ - Loy
- T f_..-&."v'\,-\i.....,..:_:\,'\_.f'p\:_’:_ e .f
¥ Ly ¢ Y ‘
W !

f_:/] i ';_E_\')

b Determine the current in all branches of the network shown in Fig2(c).

ool g Y
-y b

; e = e
e e
S e
™ o
.

i ’\\ . S
= - L

¢ Dcline average value of an AC quantity and derive the expression for the same.

6 Murks

with the polarities as indicated. The voltage 8 Muarks

6 Marks

O Marks

8 Marks

6 Morks

Page 10f3
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Module-2

With circuit diagram and wave forms show that the average power 1§ zero in pure

resistance.

With circuit diagram and Phasor diagram derive the expression for Line Voltage and
Current for a Star connected balanced load.

A balanced Star connected load of (¥ - j6) Q‘phasa is connected to a 3-phase. 230V

supply. Find the line current, powertactor, active power and reactive power.

OR
Show that the average power demand 18 never zero in case of series RL circwut with
relevant circuit and waveforms.

Show that two wattmeters are sutficient to measure 3-phase power with relevant circuit
and phasor diagram.

Three similar coils are connected in star takes a total power of [L3kw ata p.fof 0.2

lagging from a 3-0. 00v, 50Hz supply. Determine the parameters of the circuit.

Module-3

Cxplain the constructional features of various types of transformers.

A 400)230v, S0Hz single phase transformer is provided with 500 turns on LV side,
Calculate
(N No. of turns on the HV side
(I Effective area of cross section of the core of the flux density 1o be less than
| 4wbim®

What do vou mean by Electric Shock? With neat diagram. explain the pipe earthing”
OR

Derive the condition for maximum efticiency for a transform

A single phase 20K VA transformer has 1000 primary and 2500 secondary turns. The net
cross sectional arca in 100 ¢m”. When the primary winding is connected to 500V, 50Hz
supply. Calculate the following

(1) The maximum value of flux density

(1) The secondary induced voltage

(I} Primary and secondary full load currents

With circuit diagram and truth table. Explain the operation of three way control of lamps

8 Marks

6 Marks

6 Marks

8 Marks

&6 Marks

8 Marks

4 Marks

8 Marks

6 Marks

6 Marks

8 Marks

Page 2 of 3
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Module-4
Derive the EMF equation of a DC generators

Explant the various characteristics of a DC shunt motor

A 4 pole DC Shunt motor tales22.5A from a 250V supply. The armature resistance is
0.53Q and shunt field resistance in 1252, The armature is wave wound with 300
conductors. If the flux/pole is 0.02wbs. Calculate (1) Speed (1) Torque developed and
{111} power developed.

OR
What is a de gencrator? What is the basic principle on which it is working? Give the
classification of DC generators.
Explain the various characteristics of series motor with relevant diagrams.

A series motor runs at 600rpm when taking a current of | [0A from a 230V supply. Given

that Ry=012Q, Rge= 0.030. the usetul thux:pole for 110A is 0.024wb and that for 50A is

0.0144wbs. Calculate the speed when the current has fallen to S0A.
Module-5

Explain the constructional features of various types of synchronous generators.
What is an IM? Explain the principle of operation
A 3 phase IM 1s wound for 8 poles if the full load slip is 2.5%. Calculate

(1 Synchronous specd

(I} Slip Speed

(111)  Rotor speed

(IV}  Rotor frequency

OR

With usual notations, derive an expression (or the induced voltage for a synchronous
generator

What 15 a slip? Explain its significance

An § pole alternator runs at 750 rpm and supplies power to a 6 pole IM which has a full
load slip of 3%. Find the full load speed of the motor and frequency of rotor emf.

LR 3 ]

6 Mairks
8 Marks

O Marks

O Marks

8 Marks

6 Muarks

8 Marks
6 Muarks
6 Marks

6 Marks

6 Marks
8 Muarks

Page 3 of 3
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First Semester BE Examination July 2021

(CBCS Scheme) :
Time: 3 Hours Max Marks: 100 marks

Sub: Basic Electrlcal Engmeehng
QP Code‘ 60004/60014 |

Instructlons 1. Answer five full questions. - %,3

2. Choose one full question from cachmodule

3. Your answér should be specific to the questions asked.® Q *
4. write the same question numbers as they appear in this questlon paper. Q

5. Write Legibly (b
Module -1 '<L

State and explain Ohm’s law and mention its limitations. 6 marks

Derive an expression for the equivalent resistance of thre@ors which are 8 marks
connected in series and also explain the characteristics of §s clbgyits.

e
o @

¢ A 8 ohm resistor is in scries with a paralle] combination esistors 12 ohm and 6 marks
6 ohm. If the current in the 6 ohm resistor is SA.detenv tal power dissipated

in the circuit.
N

2 a State and explain the Kirchhoff’s laws with an e 7 marks

o

Define RMS value of alternating curre ow that its value is proportlonal to 7 marks

* maximum, value. ;3% --.-?.*’ : g:;
i

Define the followmg with respegt to sinusoidal altemating quanﬁty: (i) Average 6 marks
Value, (ii) Form factor and, (iii %@ r
odule — 2

C

3 a Show that in a pure indutof tH% current lag behind the voltage by 90°. Also draw the 6 marks

voltage and current yaveforms
A 230 V, 50 H pply is applied to a coil of 0.06H inductance and 2.5 7 marks

b
resistance connec series with a 6.8pF capacitor. Calculate (i) Impedance (ii)
Current (iii angle between current and voltage (iv) power factor (v) power
consume

¢ Obtain the ionship between line and phase voItages and currents in three phase 7 marks
balapcedfielta connected system
S :

4 a@ t the advantages of three phase system as compared to single phase system 6 marks

E" Show that two wattmeter’s measure three phase power with suitable circuit diagram 8 marks
and vector diagrams.
¢ A coil of resistance 10, and inductance 1.013 H, is connected in series witha 10 p F 6 marks
capacitor, Calculate (a) the resonant frequency, (b) the circuit current, when
connected to a 240 V, 50 Hz supply, and
(c) the P.D. developed across the capacitor
Module — 3

5 a Explain the working principle of transformer. 6 marks
PTO



b List different types of loss in transformer and explain each one in brief, 8 marks

¢ A 250KVA, 11000/415V,50Hz single phase transformer has 80 turns on secondary. 6 marks
Calculate. (i)The rated primary and secondary currents (iiyThe number of primaty

turns (iii)The maximum value of flux (iv)Voltage induced per turn
Or
a What is earthing? Why earthing is required? Wlth the help of sketch : 8 marks
Explain plate earthing. '
b Wlth a neat sketch and truth table explain 2 way ¢ and 3 way control of lamp 8 marks
¢ What are the Precautlons agamst electric shock? ; b 4 marks'
: .-% . e Module — 4 _
2 Ez‘gblam the working prmc J?le of D.C motor Wéth smtable dlagrams g Q rks ﬁm
b ® Derive an EMF equatlon for D.C generator with usual notations T 6 marks
¢ A shunt generator delivers 195A at terminal voltage of 250V, The armature r 8 marks
and shunt field resistance are 0.02Q and 50Q respectively. The iro ion '
losses equal 950W. Find \
(i) E.M.F generated (ii) Cu losses (iii) output of the prime motor - (iv)

commercial, mechanical and electrical efficiencies.

Or \
a Discuss the following characteristics for i) series motor ii@\otor with relevant 8 marks

plots. i)Tav/sla i)Nv/isla ?\

b Explain the function of following parts of D.C maghige. 6 marks
i) Yoke ~ ii) Field winding # mutator
iv) Pole shoe v} Pole core vi) Brush

¢ A 500V shunt motor has 4 poles and a wadg Janmected winding with 492 conductors. 6 marks.
»xThe flux per pole is 0.05Wh.the full loaf Myred tis 20 Amps. The armaturc and shunt #e -
field resistances 0.1Q and 250Q respectivel . Calculate the speed and the developed

torque. N
odule -5

a Explain the working pringj Q Mphase synchronous generator. 6 marks
b Derive an EMF equagipn ?meator with suitable considerations 8 marks
¢ A 3-phase, 12-pgleNalternator is coupled to an engine running at 500rpm. The 6 marks

alternator su%ﬁf att” induction motor which has a full-load speed of 1455rpm.find

the slip a% t of poles of the motor

2 Or :
a scHbe the constructional features of 3 phase induction motor with suitable 8 marks
ia s
b WWith a circuit diagram explain the working of a star delta starter for a three phase 7 marks
?&nduction motor
A 3 phase, 6 pole, star connected alternator has 48 slots and 12 conductors per slot on 5 marks

the armature. If the rotor at 1200rpm and Flux per pole is 0.3Wb. The winding factor

and pitch factor is 0.95. Calculate the phase e.m.f and line e.m.f.
P
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Instrucllons 1. Answer f ve full questions.

- 2. Choose one full question from: ‘each module
3. Your answer should be specific to the questions asked.
4, write the same question numbers as they appear in this question paper.
5. Write Legibly

Module -1
1 a Explain with a neat sketch working of Solar Power Plant 10 marks
b Define any five steam properties 10 marks

OR

2 a Explain with a neat sketch working of Kaplan Turbines 10 marks
Explain with a neat sketch working of Open cycle Gas Turbine 10 marks

- Module -2
3 a Using PV diagram explain Diesel cycle 10 marks
b Following data are collected from a 4-stroke single cylinder oil engine at full load. 10 marks

Bore=200 mm, stroke = 280 mm, speed = 300 rpm, indicated mean effective
pressure = 5.6 bar, torque on the brake drum=250 Nm, oil consumed = 4.2 kg/h and
calorific value of oil = 41 MJ/kg. Calculate mechanical efficiency, indicated thermal
efficiency and brake thermal efficiency.

Or
4 a Define the following 10 marks
i. Refrigerating Effect
ii. Ton of Refrigeration
iii. Unit of Refrigeration
iv. Coefficient of Performance
v. Ice Making capacity
b Describe with a neat sketch the working of vapour Compression refrigerator. 10 marks
Module - 3
5 a Explain the following operations with neat sketch 12 marks

] Knurling  (ii) Counter Sinking  (iii) Thread cutting

b Explain Cylindrical Grinding with a neat sketch 08 marks
Or
6 a Define Brazing and explain its working principle 10 marks

b Distinguish between the welding and Brazing 10 marks



10

]

Module - 4

Explain any 5 advantages of gear drives over belt drives

Explain with a neat sketch working of Idler Puiley
Or

Explain any 5 properties of a good lubricant
Explain Ball & Roller Bearings :
' Module - 5

 Differentiate between Ferrous and non- Ferrous metals

Define Engineering matenals and explain the composntlon and appllcatlons of any

three types of steel
Or

Broadly classify composite materials

What are the advantages and disadvantages of composite materials

ek ok %

PTO
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10 marks

10 marks

10 marks

10 mar:l_c_e_. :

10 marfk;
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Time: 3 Hours Max Marks: 100 marks

Sub: Engineering Physics
Q P Code: 60003/60013

Instructions: 1. Answer five full questions. ‘
2. Choose one full question from each module
3. Your answer should be specific to the questions asked.
4. write the same question numbers as they appear in this question paper.
5. Write Legibly :

Module -1

1 a Define SHM. Starting from Hooke's law derive the differential equation for SHM. 08 marks
Mention the characteristics of SHM.

b Describe construction and working of Reddy shock tube. Give any two applications. 08 marks

¢ In a spring mass system, the spring is compressed to 1.6 cm on loading mass of 04 marks
98 kg. Calculate spring constant of the spring. .-~

OR
2 a What are forced oscillations? Derive expreé_sio’ﬁ for amplitude and phase of forced 10 marks
oscillations. -
b Discuss the basics of law of conservation of energy, mass and momentum. 06 marks

¢ In a shock tube experiment, it was found that, the shock waves are produced with 04 marks
Mach number 2. The distanée between two pressure sensors in a shock tube is 170
mm. In what time the shock waves travel the distance between the sensors? Speed of

sound is 340 ms!. -
' Module -2

3 a Derive relation between Y, K and o 8 marks

b Describe siﬁgie cantilever. Derive the expression for Young’s modulus of the 8 marks
material of rectangular beam.
¢ ‘In stretching experiment, the extension produced in a wire of a load 2.5 kg is 4 marks
"..0.45 cm. The length of the wire is 2 m and its radius is 0.013 cm. Find Young’s
-modulus of the wire.
Or
4 a Define the different moduli of elasticity. Describe strain coefficients. 8 marks

b What are Torsional oscillations? Derive expression for couple per unit twist of a 8 marks
cylinder.

¢ Calculate the angular twist of a wire of length 0.3m and radius 0.2x10°m, when a 4 marks
torque of 5x10- Nm is applied. Rigidity modulus = 8x10' Nm2.

PTO
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Module - 3

What is space lattice? Describe briefly the Seven Crystal System, with neat
diagrams.

What is numerical aperture? Obtain an expression for numerical aperture in an
optical fiber )

Draw the following planes in a cubic unit cell (100), (110), (011) and (111)

Or

Define coordination number and packing factor. Calculate the APF for SC, BCC and
FCC.

Discuss the types of attenuation in optical fiber.

First order spectrum is formed when X-rays of wavelength 1.5 A is mCIdent on a
crystal at 12°. Calculate the interplanar spacing of the crystal.
Module - 4

State and explain Heisenberg's uncertainty principle. Mention its signiﬁcﬁnée.
Describe construction and working of COz laser using energy level dlagram

The ratio of population of two energy levels is 1.039 x10 30 Find the wavelength of
light emitted at 330K.

Or
Set up one dimensional Schrodinger’s time independent equation.
o
Obtain expression for energy density using Einstein’s coefficients.

The speed of electron is measured to within an uncertainty of 2.2x10* ms’'in one
dimension. What is the minimum width required by electron to be confined in atom?

Module - 5
Give the assumptions of Quantum free electron theory. Discuss two success of QFET.

What are dielectrics? Explain types of polarization.

The dielectric constant of Sulphur is 3.4. Assuming a cubic lattice for its structure,
Calculate the electronic polarizability of Sulphur if it has 3.89 x 10%%atoms/m?.

R : Or :
Derive expression for electrical conductivity of a Semiconductor.
Derive expression for Fermi energy at temperature 0 K.

Calculate the probability of an electron occupying an energy level 0.02 eV above the
Fermi level at 400K.

* ok kK

08 marks

(8 marks

04 marks

10 _rnarks

06 marks
04 marks

6 marks
10 marks

4 marks

8 marks
8 marks

4 marks

8 marks
8 marks

4 marks

8 marks

8 marks

4 marks
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Instructlons. 1. Your answer should be specific to the questions asked. - gé%

2. write the same question numbers as they appear in this question paper. Q

3. Write Legibly
g&}
Question Paper Version - A

'-)

Answer all the questions P lOOXl 100

1

Employees desire professionals who do which of the following? \ {"“"‘k—.%

A. Treat others respectfully only when they deserve it
B. Speak their minds and talks over others

D. Discuss personal issues with coworkers

Your emails should be generally:

A. Brief and to the point, but well-written —~, Q,}3 Long and vague

~ C. Riddled with errors .’y * D Passage

When you get a personal phone call in a mee@ouz

A. Ignore it and call them back later
B. Excuse yourself and take it outside: !?neﬂy
C. Answer and have a loud conversatiqg,

D. None of the above :
ﬁ\é

Unlike social etiquette, oﬁ'lce and bussiness etiquette are primarly based on

A. Hierarchy and powc “% B. Personal relation
C. Common sense ™ 3 D. Option Aand C

&
Your friend fromi ¢ college Jjoins your company in a superior role to you. How should you interact with her
in the office?’ *; e

A, Talk mformally and don’t take her seriously
B. Show jealousy '
C. Break friendship ties and maintain only professional relationship

D. Treather like a superior in the office and as a friend outside

ihe’key elements of presentation are:

% A. Presenter B. The message and the medium
C. Duration and time D. All of the above
Topic identification is level one reqiuirement for a formal presentation
A Yes B. No
C. Maybe D. Bothaandc
How many pumps does a proffesional handshake require?
A3 B.4 _
C.5 D. Two and a grab of the forearm

PTO
A text is more efficient than an email when letting someone know you are running behind.

' ! Page 1 of 32
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11

12

13

14

15

16

17

18

19

A, True B. False
C. Maybe D. None of the above

Is the most important thing you must do before you leave a party?

A. Get business card from a new contact
B. Ask for a doggie bag

C. Say goodbye to the host

D. Both Aand C

What does the outdated term “turning the table” mean?

A. Talk to the person on your left side during the first course, and rotate sides aﬁer each course
B. Move the table to be closer to the dessert buffet
C. ‘Change seating throughout the course of a dinner party

D. None :
During an in-person conversation, what percent of your message is delievered through your spoken
words? o
A 7% B.38% ﬁ;&
C.55% D. 43% &Y
, o BV
When is the most gracious time to respend to an invitation? %
A. Within 24 hours of receiving the invitation “;%Q
B. Within one week of receiving the invitation *‘;\—% =
C. Anytime % R
D.Both A and C %a .

You can tell a lot about a person by their handshake. The fd::)ulzale handshake (where the person places
their second hand on top of yours), is likely to be used, by.

A. Someone who tends to dominate in the meetmgs D

B. Someone who is submissive

C. Someone who trusts you and waats you to tfu:ﬁhém

D. None ’ i

Eye contact is an important part of communication, and a lack of it can imply deception. To avoid staring
at somebody, how can you naturally, strike'a balance?

A. When breaking eye contact, laok: toithe left or to the right
B. Look down at the floor every: 3(Lsecouds or S0

C. Look just past the person

D. None &4 Y

S T

When you stand up to Lalk in front of a group of people, what can you do to exude confidence?
4.;-7‘

A, Strike a wnde stance

B. Try to position 4"desk or table between you and your audience
C. Clasp your hands in front of you

D. Both A énd B

Whlchc;f these signals suggest the person you are speaking to might not be telling the whole truth?

‘A, They make steady eye contact
™ »B."They make frequent hand to face touches, including attempts to cover their mouth
% C. They answer you fairly promptly

D.Both AandC

You need to ask some tough questions about your team’s performance, and you notice that your team
leader’s leg is shaking. Does that suggest?

A. He’s feeling bored by the conversation

B. He’s feeling jittery about your line of questioning
C. He is exuding confidence

D. None

While addressing a senior member of your team about staffing changes, she suddenly crosses her arms.
Page 2 of 32
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21

22

23

24

25

26

27

28

29

30

31'

32

33

34

Do you take that to mean?

A. She suddenly feels cold

B. She’s not sure what to do with her hands

C. She is feeling defenseless, and is trying to shut out what is being proposed
D. None

Using your hands while you talk can communicate a range of meanings, from enthusiasm and passion, to
a lack of control, What would calm rounded hand gestures say to you?

A, “I'm open and clear”

B. “i think i’m in trouble”

C. “i’'m feeling over the moon”

D. None

Listening means to respond to advice or request : : &,

A. True " B. False C Maybe D None : \ Y
Which of these is not a step in the listening process? s ) Q :

A. To stop talking B. Receiving Q -
C. Misinterpreting D. Responding (b
Which of these is the first step in the listening process? .

A. Stop talking B. Receiving ﬁ{}

C. Interpreting D. Responding

Which of these is the third step in the listening process? & Q

B,

A. Stop talking B. Interpreting T,
C. Responding D. Receiving "{l:m

Ry
%

Is the last step of the listening process.

A. Receiving B. Interpreting (‘5%

C. Responding D. Stop talkmg

Hearing means perceiving with ears. (:\

A, True ' B. False C Maybe D. None
Which of these is not a type of llsterung" w

A. Appreciative listening /B. Superficial listening

C. Focused listening o D. Musical listening

Which of these types of}igtenﬁ_iné-lﬁcks depth?

A. Appreciative listening i‘ B. Supetficial listening

C. Focused llstenlng \‘u} D. Evaluative listening

In which of these types of listening, does the listener feel grateful?
s e
A. Superfi 01al hstemng B. Attentive listening

C. Apprecmtwe listening D. Evaluative listening

W]nch of these types of listening is followed by skilled listeners?
Al Focused listening B. Evaluative listening

. C Attentwe listening D. Empathetic listening

In which of these, the listener puts himself in place of the speaker?
" A. Focused listening B. Evaluative listening
C. Attentive listening D. Empathetic listening

Body language can make or break a speech

A. True B. False C. Maybe D. None
Which of these is the study and classification of speech sounds?

A. Gestures B. Speech style
C. Phonetics D. Spoof

PTO
Which of these is not an element of the speaking technique?
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36
37
.:38 :
39

40

41
42

43

45

47

KA
%

27"

i

Lt

48

49

50

A Voice quality B. Word stress
C. Appearance D. Correct tones

Which of these means giving emphasis to a syllable

A. Voice quality B. Word stress

C. Tone D. Message

Which of these factors is not involved in the determination of correct tone?
A. Pitch B. Dressing style

C. Quality D. Strength

Which of these is not a type of tone?

A, Urgenttone - B. Serious tone

C. Restrained tone . D. Jumping tone

Which of these tones represent thoughtﬁxlness?

A. Serious tone B. Urgent tone N
C. Happy tone D. Outraged tone ﬁmxﬁj
Which of these tones is an unemotional tone? e

A. Happy tone B. Qutraged tone %Jy

C. Restrained tone D. Humorous tone N

Tone is used when speaker wants to bring about a good impression”s &her life.

A, Qutraged B. Reflective

C. Restrained D. Urgent @

On is used in speaking of things in motion. ? e

A. True B.False C. Maybe £ 'D. None
Fill in the blank. The dog sprang him, ﬂ:;‘”;

A.On B. Upon C.In + D.Over

Till is used for time.

A. True ' B. False C Ma D. None
Which of these comes 1n1med1ately aﬁer the noun‘?

A. Adverb phrase _ B Adjeétlve phrase

C. Verb phrase { fD Pronoun phrase

Which of these statemcgts%is falseﬁ?

A. The subject should usyally follow the verb.

B. The object usually%cg;ﬁes after the verb.

C. When there is’4n iidirect object and a direct object, the indirect precedes the direct.
D. When the adjective is used attributively it comes before the noun which it qualifies.

Every statement must have a subject and a

A, Ndlm ) B. Verb C. Predicate D. Phrase
Choose the cortect statement.

A, Do not make friend with selfish people.

*B. Do not make friendship with selfish people.

* C. Do not make friends with selfish people.
D. Do not make friendly with selfish people.

Choose the correct statement.

A. She doesn’t know the reason for his disappearance.
B. She doesn’t know the reason of his disappearance.
C. She doesn’t know the reason at his disappearance.
D. She doesn’t know the reason with his disappearance

Some students are at copying. _
A. Adapt B. Adept C. Adopt D. Edept
Father me not to go out in the cold.
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A. Advised B. Advised C. Advice D. Advise

Fill in the blank. I advised her drink it.

A. Don't B. Not to C. To not D. To don’t

Choose the correct statement.

A. He obtained passing marks. B. He obtained pass marks.

C. He obtained passed marks. D. He obtained passing mark.

Choose the correct statement. _

A. Anil talks french well. B. Anil chats french well.

C. Anil speaks french well. D. Anil talk french well. .
Chioose the correct statement, : *z'f’%%
A. The ship was drowned. - B. The ship drowned. - %‘13
C. The ship sank. ' D. The ship had sank . Q

Choose the correct statement %
A. It is they who has to leave this place. (’b

B. 1t is they who have to leave this place. .

C. It is them who has to leave this place. { 515

D. It is them who have to leave this place &\\ V
Fill in the blank.

Offerings made upon the )

A. Altar B. Alter C. Altar @s D! Alter
Which of the following statements is incorrect?

AL A letter must be written in one single paragraph,

B. A letter must be complete in all respects.

C. A letter must be written in legible handwriting.  § &
D. A letter must be properly punctuated. ad

Which of these is an example of courteous leayg &

A. Yours sincerely B. Yours smcerely,

C. Yours sincerely D. S Cerely

Where should the signature of the writerbe placed?

A. Above the courteous leave’ takmg

B. Below the courteous leave taking

C. Next to the courteous { leave taking

D. On the envelope %

What is the mforrﬁatlon endorsed on the envelope?

A Name B. ?}dress C. Name and address ~ D. Name and date
In the follomng qucstron choose the correct code form.

If ‘air™is called ‘green’, ‘green’ is called ‘red’, ‘red’ is called ¢ sea’, ‘sea’ is called ‘blue’, ‘blue’ is called
water and water’ is called ‘pink’, then what is the color of grass‘?

'A_, Qreen B. Air
%:C.Red D. Pink

In the following question, choose the correct code form.
According to new terminology, ‘aries’ means ‘air’, ‘taurus’ means ‘light’, ‘libra” means ‘water” and
‘scorpio’ means ‘earth’. What would an organism breathe in?

A. Aries B. Taurus C. Libra D. Scorpio
Choose the word which is least like the other words in the group.

A. Grenade B. Katana _
C. Shotgun D. Rifle PTO
Choose the word which is not similar to the other words in the group.
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66

67

68

69

70

71

72

D Black B. Red C. White D. Orange
73

A. Peas B. Cabbage C. Spinach
D. Tomato

Solve the following question and choose the correct alternative from the following.
1,2, 3, 4, and 5 are sitting in row but not necessarily in that order.

All of them are sitting in a row with their backs toward north.

3 is immediate right to 5 and 4 is immediate left to 1. Only 2 is between 1 and 5.
Which of the following are at the extreme ends?

A 3,4 B.2,5 C.2,1 D.4,5

In the following question, choose the correct code form.

If, in a language, ‘one’ is called ‘two’, “two’ is called *three’, ‘three’ is called “four’, ‘four’ is called
‘five’ and “five’ is called ‘six’,

Then what is the square of number 27 ) )

A. Three B.Four | C.Five D. Six L Ry

If ‘dog is called ‘lion’, ‘lion’ is callcd ‘bison’, ‘bison’ is called ‘snake’, ‘snake’ is caIIed mongoose
‘mongoose’ is called ‘crocodile’, then which one is reared as pet?

! %\J
A.Lion B. Bison C. Snake ’b
D. Mongoose fll .

AN

Choose the word which is least like the other words in the group.
A, Timor B. India ™
C. Rhodes D. Borneo ’K “w?

Choose the word which is not similar to the other words in the group

A. Bonnet B. Fender ?Eé

C. Dashboard D. Hubcap

Read the following information to answer the given qucs%
Five brothers are standing in a row facing north.

Tony is not adjacent to bony or mony. Sony is not adjacent to bony. Tony is adjacent to dony. Dony is at
the middle in the row. : i 3

Then, which pair is at the extreme ends? Q

A. Tony, dony B. Dony, bony :

C. Sony, mony D. Mony, tony ™., -,

S
2

Read the following information tg“ang;vger the given question.

There are seven monkeys sitting. in.arow - annie, bonnie, connie, donni¢, earnie, fernie and genie.
Genie is to the right of donnic anéi to the left of bonnie.

Annie is on the right of conme

Annie and donnie have ope'monkey between them.

Eamie and boumc have two mounkeys between them.

Donnie and fenue have two monkeys between them.

Who is on the" qnmedlate right of bonnie?

A. Donnie ¥ B. Earnie C. Genie D. Fernie
& .
If* bluegmeans green’, ‘green’ means ‘yellow’, ‘yellow” means ‘orange’, ‘orange’ means ‘black’,

‘blackmea.ns ‘white’, “‘white” means ‘red’, ‘red’” means ‘pink’, ‘pink’ means ‘brown’, ‘brown’ means

‘grey’, then what is the color of human blood?

In the following question, choose the comrect code form,

The number/word group in the question is to be codified according to the following letter codes:
Number 9 8 7 6 5 4 3 2 1 0
Letter Q U I C K L Y R O D

13311728

A.OYYOOIRU B. OYYOIROU

C. OYYORIOU D. OYYOUIRO

74  In the following question, choose the correct code form.

The number/word group in the question is to be codified according to the following letter codes (use the
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4. Write the same question numbers as they appear in this questlon paper
5. Write Legibly
Module - 1 )
a Find the directional derivatives of & = x%yz + 4xz? at (1, -2, -1) along 2i - j-2k 6 marks
b IfA = xz3i — 2x%yzj + 2yz*k find VA and V. (VxA). f 7 marks
¢ ShowthatF=(y+2)i+ (+xj+x+ y)k is irrotational. Also fnd a scalar function ¢ such 7 marks
that F =V ¢ L
Or _
a IfE =V (xy’z2) find divF and curlF at the point (l -I l) 6 marks
b Iff=xi+yj+zk andr = || prove that V (r") = nrn 2¢ 7 marks
¢ Showthat Fo= (x +y +az)i+ (bx + 2y —z)j +. (x + cy + 2z)k find a,b,c such that curlF = 0. 7 marks
g Module 2
g 'f; “
8 Solve: 6dy+ 17dy+12y-—e"" - 6 marks
b Solve : 5;—2 - 4dy +4y = ez" + c052x 7 marks
¢ Solve:(2x+ 1)2y - 6(2x + l)y + 16y = 8(2x + 1) 7 marks
Or
Solve : ﬁ -2 dyﬁ- ¢ = xeX, 6 marks
b Solve by the rnethod of variation of parameters y 4y = tanx. 7 marks
¢ So['we };? d—y -x3 dy X +y = x"logx. 7 marks
Module - 3
a Form the partial differentlal equation by eliminating the arbitrary functions 6 marks
Bx+y+zxt+y?—z8)=0.
2
b solve aiaz_y sinx. siny for which 2 —; = —2siny whenx =0 & z=0if y is an odd multiple 7 marks
of— or [z~01fy“(2n+1) ]
¢ Derive an expression for one dimensional heat equation. 7 marks

PTO
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Or

Form the PDE by eliminating the arbitrary function : z = eX*BYf(ax — by).

&z i
Solve : ﬁ =zgiventhat wheny = 0, z = X & £ =e7X

Discuss the variable possible solution of one dimensional wave equation.
Module — 4

Discuss the convergence of T7_,(1 + —)" by using Cauchy’s root test
Test the convergence of series using D’ Alembert’s ratio test
3 + 3? + 3* 4 3¢ +
4+1 42+1 4341 4441

: . . . d?
Obrtain the series solution of the equation ax—f +y=40

Or

2
. 1y .
Discuss the convergence of 30—, (%-) 3in by using Cauchy’s root test,

Prove that] (x) = \/-2_ sinx. ‘:\:‘

Module - 5§

From the following table find the number of students who have obtalned
(a) less than 45 marks (b) between 40 and 45 marks. -

, Marks 30-40 | 40-50 | 50- 60 60 70. o)
No. of students | 31 42 51, 35 31

Use Lagrange’s interpolation formula to find (2)
X 0 | 3 4 .
y [-12] 0] 612

Evaluate f by using Slmpson s 1/3rd rule taking four equal strips and hence deduce an

approximare val ue of .

Or

Fit an interpolating po]ynomla] for the data. uyy = 355,uy = ~5,ug = —21,u, = ~14,

Uy = — 125 by usmg Newton’s divided difference formula.

Obtain a reai root ofthe equation x> — 2x — 5 = 0. Correct to three decimal places.

Evaluate_f 3x2dx Dlwde the [0,6] in to six equal parts by weddle’s rule.
ek ok ok

6 marks

7 marks

7 marks

6 marks

f’f?narks

~ 7 marks

6 marks
7 marks

7 marks

6 marks

7 marks

7 marks

6 marks

7 marks

7 marks



SUBJECT: BASIC ELECTRONIC ENGINEERING

Module: 1 Digital Fundamentals.

1 Define number system? Mention its type and explain each with example.

2 Explain how to convert decimal to binary and binary to decimal with suitable
examples.

3 Explain how to convert hexadecimal to decimal and decimal to hexadecimal with
suitable examples.

4 Convert the following.
L (128)102(?)22> (?)s
i, (111001101)2~> (?) 102(?)16
iii.  (FA876)16 2 (?) 22> ()10
iv.  (3E.4FC)16 =2 (?) 102 (?)2
v.  (11001.011)2 = (?) 102> (?)2
vi.  (555.40)10 = ( )2 =( )16
vii.  (1110101011001)2=( )16 = ( )10

5 Convert the Following:

I.  (00110111010.01011)2=()s= ( )10=( )16
ii. (FBE.DC)is=()10=()s=()2
iii.  (510.67525)10= ()2=()16=()8

6 Given M = 11010110 and N = 01000101, Determine a) (M- N) b) (N-M) using
Binary 2s complement method.

7 Perform the Subtraction using 1's complement method
I.  (11010), — (10000)2

ii.  (11101)2 - (11000)2

iii.  (1000100)2 — (1010100)

8 Subtract using 2°s complement
i.  (111001)2 from (101011);
. (42)10 - (68)10

9 Solve using 2’s compliment subtraction:
i. m=11001.0110, n=10110.1010; Solve (i) m —n, (ii)n- m
ii. m=011101.01110,n =010111.10111; Solve (i)m-n, (ii)n-m

10 | Explain all the gates with symbol and truth table.

11 | Realize using only NAND gate.
i. A+B

ii. AB

iii. A®B

12 | Explain full adder circuit with gates and truth table.

13 | Realize the full adder using two half adder. Derive the expression for sum and
carry.

14 | Prove the following identities using truth table:
(i) A.B=A+B




(i) A. (A+B) = A

15

State and prove De-Morgan’s theorem.

16

Simplify the following i) AB+ AC+ ABC (AB+C) ii) (A+B) (CD+E).

17

Discuss half adder with circuit diagram and truth table.

For the expression Y= AB+A B
1) Obtain the truth table
il) Realise the logic using AND, OR, NOT gates

iii) Realise the logic using NAND gates only

18

Simplify the following Boolean expressions and draw the logic diagram using
NOT, AND, OR gates for simplified expression and write the truth table.

) Y=ABCD + ABCD + ABCD + ABCD

ii)Y= 4 + B+ CD

Module 2: Semiconductor Diode and its application

' Define PN junction diode. Explain the construction of PN junction diode.

2 Explain the characteristic curve of PN junction diode.

3 Explain the operation of PN junction diode under for forward and reverse biased
condition.

4 Define rectifier. Sketch a half wave rectifier with wave forms and derive the
following
i. Average voltage
ii. Average current
iii. Efficiency
iv. Ripple factors

5 Explain the operation of half wave rectifier with neat circuit diagram and wave
form.

6 Show that the ripple factor of a half wave rectifier is 1.12 and efficiency is
40.5%.

7 In an HWR, the 2° voltage of transformer is 80V, if the value of load resistance is
20Q. Calculate a) DC voltage b) PIV c) DC current d) Power delivered to the
load e) Rectification efficiency.

8 Explain the operation of full wave rectifier with capacitor filter with neat circuit
diagram and wave form.

9 Illustrate the operation of a full wave rectifier circuit with center tap transformer.
Sketch the input and output waveforms.

10 | Explain with neat circuit diagram and waveform the working of center tap full
wave rectifier. Show that efficiency of full wave rectifier is 81%.(R)

11 | Derive the following for full wave rectifier.




i. Average voltage
ii. Average current
iii. Efficiency

iv. Ripple factors

12 | Explain the operation of full wave rectifier with capacitor filter with neat circuit
diagram and wave form.

13 | In an HWR, the 2° voltage of transformer is 80V, if the value of load resistance is
20Q. Calculate a) DC voltage b) PIV ¢) DC current d) Power delivered to the load
e) Rectification efficiency.

14 | Explain how zener diode helps in voltage regulation with neat circuit diagram.

15 | What is zener diode? With neat circuit diagram explain the operation of voltage

regulator.
16 | Determine the range of Vi in which the Zener diode of below figure conducts
IR
—
/\/\/\/ 1z ‘ IL
Ly i RL
w— 2200 v 1.2 kQ

Vz=20V ; Pz(max)=1200mW

Module 3: Transistors and its applications

1 | Define transistor. Explain the structure of transistor with symbol

2 | Describe in detail the working principle of a PNP bipolar junction transistor.

3 | Describe in detail the working principle of a NPN bipolar junction transistor.
Why is it called Bipolar?

4 | Draw and explain the input and output characteristics of n-p-n silicon transistor
in CE configuration. Indicate cut off, saturation and active regions.

5 | Describe DC Load line and Operating point of a transistor with neat sketch.

6 | With neat circuit diagram, explain in detail transistor as amplifier and switch.

7 | Explain the Construction of p-Channel JFET with neat diagram.

8 | Explain the Construction of p-Channel JFET with neat diagram.

9 | Explain the drain characteristics curve and transfer characteristic curve of an n-
channel JFET.




10

Explain the drain characteristics curve and transfer characteristic curve of an p-
channel JFET

11

Explain the construction of n-channel depletion type MOSFET with neat
diagram.

12

Explain the construction of p-channel depletion type MOSFET with neat
diagram.

13

Explain the operation of n-channel depletion type MOSFET with drain
characteristics curve and transfer characteristic curve.

14

Explain the operation of p-channel depletion type MOSFET with drain
characteristics curve and transfer characteristic curve

15

Explain the construction of n-channel enhancement type MOSFET with neat
diagram.

16

Explain the construction of p-channel enhancement type MOSFET with neat
diagram.

17

Explain the operation of n-channel enhancement type MOSFET with drain
characteristics curve and transfer characteristic curve.

18

Explain the operation of p-channel enhancement type MOSFET with drain
characteristics curve and transfer characteristic curve.

19

List the difference between Depletion-MOSFET and Enhancement-MOSFET.

20

Explain the construction and operation of SCR with neat circuit diagram and VI
characteristics.

21

Explain the two transistor model of SCR.

22

Explain the switching action of SCR.

Module 4: Operational Amplifier and Oscillators.

1 List the characteristics of ideal Op-Amp.
2 List the ideal characteristics of Operational Amplifier and explain any two.
3 Define the following term with respect to op-amp.
i. CMRR ii. Slewrate iii. PSRR iv. Offset voltage
4 Explain the block diagram of Operation Amplifier.
5 Explain the concepts of virtual ground of op-amp with neat circuit diagram.
6 Derive the expression for output voltage and gain for inverting Amplifier with

neat circuit diagram.




7 Derive the expression for output voltage and gain for non-inverting Amplifier
with neat circuit diagram.

8 Explain voltage follower with neat circuit expression and waveform.

9 Explain the Application of Op-Amp as an Integrator & Voltage follower.

10 | Explain the Inverting summing Amplifier and Derive the equation for output
voltage and gain.

11 | Explain the non-inverting summing Amplifier and Derive the equation for output
voltage and gain.

12 | Explain the Application of Op-Amp as a Differentiator with suitable equations.

13 | Explain the Application of Op-Amp as a integrator with suitable equations.

14 | Explain op-amp as a subtractor with neat circuit diagram.

15 | Find the Vo for the circuit given

S0 k)

= VW
|

10k0) A
“V‘V\A.'q‘-
v - 1k02 & °Vs
L — .AA.N\,_Y_,
0V ! ‘ L

3
1k

| }—‘*4 VWA

16 | Find the output voltage and gain for inverting amplifier if Vin=10V, R=57KQ
and R1=10KQ.

17 | Explain RC phase shift oscillator with circuit diagram and necessary equations.

18 | State and explain the Barkhausen’s criteria for oscillator.

19 | With a neat circuit diagram explain the working of Wein bridge oscillator.

20 | Define an oscillator. Derive the equation for Wein bridge oscillator

Module 5: Communication System

With neat block Diagram explain the basic communication system.

Define Amplitude modulation with waveform and expression.

Explain the need for modulation

Define modulation index for AM. Sketch AM wave for m>1 and m=1.

Gl | W N~

Derive the modulation index of AM in terms of Vmaxand Vmin With neat
waveform.

Define Frequency modulation with waveform and expression.

What are the difference between AM and FM

Explain principle of operation of Mobile communication.

With neat block diagram explain cellular transmitter system.

10 | With neat block diagram explain cellular transmitter system.

11 | With neat block diagram explain microwave communication system

12 | With neat block diagram explain the fiber optic communication system.
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ADICHUNCHANAGIRI UNIVERSITY 18ELE13/23
First Semester BE Examination July 2021

(CBCS Scheme)
Time: 3 Hours Max Marks: 100 marks

Sub: Basic Electrical Engineering
Q P Code: 60004/60014

Instructions: 1. Answer five full questions.
2. Choose one full question from each module
3. Your answer should be specific to the questions asked.
4. write the same question numbers as they appear in this question paper.
5. Write Legibly

Module -1

1 a State and explain Ohm’s law and mention its limitations. 6 marks

b Derive an expression for the equivalent resistance of three resistors which are 8 marks
connected in series and also explain the characteristics of series circuits.
¢ A 8 ohm resistor is in series with a parallel combination of two resistors 12 ohm and 6 marks
6 ohm. If the current in the 6 ohm resistor is 5A.determine the total power dissipated
in the circuit.
OR

2 a State and explain the Kirchhoff’s laws with an example 7 marks

b Define RMS value of alternating current, show that its value is proportional to 7 marks
maximum value.

¢ Define the following with respect to sinusoidal alternating quantity: (i) Average 6 marks
Value, (ii) Form factor and, (iii) peak factor
Module - 2

3 a Show that in a pure inductor the current lag behind the voltage by 90°. Also draw the 6 marks
voltage and current waveforms.

b A 230 V, 50 Hz ac supply is applied to a coil of 0.06H inductance and 2.5Q 7 marks
resistance connected in series with a 6.8uF capacitor. Calculate (i) Impedance (ii)
Current (iii) Phase angle between current and voltage (iv) power factor (v) power
consumed

¢ Obtain the relationship between line and phase voltages and currents in three phase 7 marks
balanced delta connected system

Or

4 a Listout the advantages of three phase system as compared to single phase system 6 marks

b Show that two wattmeter’s measure three phase power with suitable circuit diagram 8 marks
and vector diagrams.
¢ A coil of resistance 10, and inductance 1.013 H, is connected in series with a 10 p F 6 marks
capacitor. Calculate (a) the resonant frequency, (b) the circuit current, when
connected to a 240 V, 50 Hz supply, and
(c) the P.D. developed across the capacitor
Module - 3

5 a Explain the working principle of transformer. 6 marks
PTO



10

List different types of loss in transformer and explain each one in brief.

A 250KVA, 11000/415V,50Hz single phase transformer has 80 turns on secondary.
Calculate. (i)The rated primary and secondary currents (ii)The number of primary
turns (iif) The maximum value of flux (iv)VVoltage induced per turn

Or
What is earthing? Why earthing is required? With the help of sketch
Explain plate earthing.
With a neat sketch and truth table explain 2 way and 3 way control of lamp.

What are the Precautions against electric shock?
Module — 4

Explain the working principle of D.C motor with suitable diagrams.
Derive an EMF equation for D.C generator with usual notations

A shunt generator delivers 195A at terminal voltage of 250V. The armature resistance
and shunt field resistance are 0.02Q and 50Q respectively. The iron and friction
losses equal 950W. Find

(i) E.M.F generated (ii) Cu losses (iii) output of the prime motor (iv)
commercial, mechanical and electrical efficiencies.
Or

Discuss the following characteristics for i) series motor ii) shunt motor with relevant
plots. i) Tav/sla ii)Nv/sla

Explain the function of following parts of D.C machine.
i) Yoke ii) Field winding i) Commutator
iv) Pole shoe v) Pole core vi) Brush
A 500V shunt motor has 4 poles and a wave connected winding with 492 conductors.
The flux per pole is 0.05Whb.the full load current is 20 Amps. The armature and shunt
field resistances 0.1Q and 250Q respectively. Calculate the speed and the developed
torque.

Module - 5

Explain the working principle of 3 phase synchronous generator.

Derive an EMF equation for alternator with suitable considerations

A 3-phase, 12-pole alternator is coupled to an engine running at 500rpm. The
alternator supplies an induction motor which has a full-load speed of 1455rpm.find
the slip and number of poles of the motor

Or

Describe the constructional features of 3 phase induction motor with suitable
diagrams

With a circuit diagram explain the working of a star delta starter for a three phase
induction motor

A 3 phase, 6 pole, star connected alternator has 48 slots and 12 conductors per slot on
the armature. If the rotor at 1200rpm and Flux per pole is 0.3Wb. The winding factor
and pitch factor is 0.95. Calculate the phase e.m.f and line e.m.f.

*hkkkk
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8 marks

8 marks

4 marks

6 marks
6 marks
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6 marks
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ADICHUNCHANAGIRI UNIVERSITY 18ELN13/23
First Semester BE Examination July 2021

(CBCS Scheme)
Time: 3 Hours Max Marks: 100 marks

Sub: Basic Electronics
Q P Code: 60008/60017

Instructions: 1. Answer five full questions.
2. Choose one full question from each module
3. Your answer should be specific to the questions asked.
4. write the same question numbers as they appear in this question paper.
5. Write Legibly

Module -1

1 a Explain the operation of PN junction diode under forward and reverse bias 7 marks
conditions with the help of V-I characteristics curve.
b What is Zener diode? With neat circuit diagrams, explain the operation of a voltage 7 marks
regulator with and without load.
¢ A diode with VF = 0.7V is connected as a half wave rectifier, the load resistance is 6 marks
600€Q2 and AC input is 24V(r m s).Determine (i) output voltage (ii) load current and
(iii) diode peak inverse voltage.

OR

2 a With aneat circuit diagram, explain the working of a two diode (centre-tapped) full- 8 marks

wave rectifier along with relevant waveforms.
Write a note on: (i) Photodiode (ii) LED 8 marks
Distinguish between Zener and Avalanche breakdown. 4 marks

Module — 2

3 a Explain the construction and working of N-channel JFET. 9 marks
b With a neat circuit diagram, explain the operation of a CMOS inverter. 7 marks

c For the JFET in Figure.1,Vgs(oi)=-4V and Ipss=12mA.Determine the minimum value 4 marks
of Vpp required to put the device in the constant-current region of operation when

VGSZOV.
L,
P T
Figure.1
Or
4 a With neat diagram, explain the construction and characteristics of an enhancement type 9 marks
MOSFET.
b What is SCR? Explain the working of SCR using two-transistor model. 6 marks
¢ Explain phase control application of SCR. 5 marks
Module - 3
5 a Listand explain the characteristics of an ideal op-amp and mention the applications 8 marks
of op-amp

PTO
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Refer to the op-amp in Figure.2. if vi=0.5 V, calculate (a)the output voltage v,, and

(b)the current in the 10kQ resistor.
25kQ

10 k2

Figure.2
Explain the operation of an op-amp as a non-inverting amplifier with neat diagram and
waveforms. Derive the expression for output voltage.

Or

Draw the three input inverting summer circuit and derive an expression for its output
voltage.
With a neat circuit diagram, show how an op-amp can be used as an integrator.
Derive the expression for output voltage
A certain op-amp has an open loop voltage gain of 1,00,000 and a common mode
gain of 0.2. Determine the CMRR and express it in decibels.

Module - 4

With neat circuit diagram, explain how transistor is used as a voltage amplifier.
Derive an equation for voltage gain Av.
Explain RC phase shift oscillator with circuit diagram and necessary equations.

(a)Determine the value of R¢ necessary for the circuit in Figure.3 to operate as an
oscillator.
(b)Determine the frequency of the oscillation.

WA

o4

.
.

| /::» ~‘_|| —+l

IHWY
-W—
W

Figure.3
Or

Explain the Barkhausens’ criteria for oscillations
With a neat circuit diagram, explain the working of Wien bridge oscillator.

Explain with circuit, astable multivibrator using IC 555

Module -5
State and prove De-Morgan’s theorem.

What are universal gates? Realize AND and OR gates using universal gates.

Convert the following

i.(1011.01)2=(?)10 ii. (A2B.1D)16=(?)10=(?)2
1i.(1073.32)g=(?) iv.(1000111011.01101),=(?)s=(?)16
Or

Design a full adder and implement it using two half adders and write the equations
for sum and carry.

With the help of a logic diagram and truth table, explain the working of a clocked
SR flip-flop.

With a neat block diagram, explain the elements of a communication system.

*hkkkk

4 marks

8 marks

8 marks

8 marks

4 marks

8 marks

8 marks

4 marks

6 marks
8 marks

6 marks

6 marks
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9 marks
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ADICHUNCHANAGIRI UNIVERSITY 18EME15/25
First/Second Semester BE Examination July 2021

(CBCS Scheme)
Time: 3 Hours Max Marks: 100 marks

Sub: Elements of Mechanical Engineering
Q P Code: 60010/60019

Instructions: 1. Answer five full questions.
2. Choose one full question from each module
3. Your answer should be specific to the questions asked.
4. write the same question numbers as they appear in this question paper.
5. Write Legibly

Module - 1
1 a Explain with a neat sketch working of Solar Power Plant 10 marks
b Define any five steam properties 10 marks
OR
2 a Explain with a neat sketch working of Kaplan Turbines 10 marks
Explain with a neat sketch working of Open cycle Gas Turbine 10 marks
Module - 2
3 a Using PV diagram explain Diesel cycle 10 marks

b Following data are collected from a 4-stroke single cylinder oil engine at full load. 10 marks
Bore=200 mm, stroke = 280 mm, speed = 300 rpm, indicated mean effective
pressure = 5.6 bar, torque on the brake drum=250 Nm, oil consumed = 4.2 kg/h and
calorific value of oil = 41 MJ/kg. Calculate mechanical efficiency, indicated thermal
efficiency and brake thermal efficiency.

Or
4 a Define the following 10 marks
I. Refrigerating Effect
ii. Ton of Refrigeration
iii. Unit of Refrigeration
iv. Coefficient of Performance
v. lce Making capacity
b - Describe with a neat sketch the working of vapour Compression refrigerator. 10 marks
Module -3
5 a Explain the following operations with neat sketch 12 marks

(1 Knurling (i) Counter Sinking  (iii) Thread cutting

b Explain Cylindrical Grinding with a neat sketch 08 marks
Or
6 a Define Brazing and explain its working principle 10 marks

b Distinguish between the welding and Brazing 10 marks
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Module — 4
Explain any 5 advantages of gear drives over belt drives

Explain with a neat sketch working of Idler Pulley
Or
Explain any 5 properties of a good lubricant

Explain Ball & Roller Bearings

Module -5
Differentiate between Ferrous and non-Ferrous metals

Define Engineering materials and explain the composition and applications of any
three types of steel
Or

Broadly classify composite materials

What are the advantages and disadvantages of composite materials

*kkkk

PTO
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10 marks
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ADICHUNCHANAGIRI UNIVERSITY 18MAT21
Second Semester BE Examination July 2021

(CBCS Scheme)
Time: 3 Hours Max Marks: 100 marks

Sub: Engineering Mathematics - 11
Q P Code: 60012

Instructions: 1. Answer five full questions.
2. Choose one full question from each module
3. Your answer should be specific to the questions asked.
4. write the same question numbers as they appear in this question paper.
5. Write Legibly

Module - 1
1 a Find the directional derivatives of ¢ = x2yz + 4xz? at (1, -2, -1) along 2i - j - 2k. 6 marks
b IfA = (3x%y — 2)i + (xz3 + y*)j — 2x322k , find grad(divA) at (2,-1,0). 7 marks
C ShowthatF = (y + 2)i + (z + x)j + (x + y)k is irrotational. Also find a scalar function ¢ 7 marks
suchthat F = V ¢.
OR
2 a |IfF =V (xy3z2) find divF and curlF at the point (1, -1, 1). 6 marks
b Iff=xi+yj+zk andr = |f| prove that V (r®) = nr"2¢. 7 marks
C  Show that F = :::?2 is both solenoidal and irrotational. 7 marks
Module - 2
3 a By Ay ,dy o 6 marks
Solve: S —2-2 442 —8y = 0.
b Solve:y" + 3y’ +2y = 12x2. 7 marks
c Solve: (2x+1)%y —6(2x+ 1)y + 16y = 8(2x + 1)2. 7 marks
Or
2
4 a Solve:%—2%+y=xex. 6 marks
b Solve by the method of variation of parameters y” + y = tanx. 7 marks
c L@y dy o 2 7 marks
Solve : x 2 X Ty =x logx.
Module -3
5 a Form the partial differential equation by eliminating the arbitrary constants 6 marks
ax? +by? +z%2=1.
2
b solve aax_azy = sinx.siny for which Z—; — —2sinywhenx=0 & z=0if y isan odd multiple ¢ Marks
of g.or [z =0ify=(2n+ 1)%].
¢ Derive an expression for one dimensional wave equation. 7 marks

PTO
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Or

Form the PDE by eliminating the arbitrary function : z = e®**bYf(ax — by).
. ﬂ _ H _ — X ﬂ — A X

Solve : 22 =z giventhatwheny = 0, z = e* & ay =€

Discuss the variable possible solution of one dimensional heat equation.

Module — 4

Discuss the convergence of Y5_(1 + %)“2 by using Cauchy’s root test.

Test the convergence of series using D’ Alembert’s ratio test
3 32 33 34
4+1 4241 4341 4441

2
Obtain the series solution of the equation % +y=0.
Or

2
. N\ 1 .
Discuss the convergence of Y.;7_, (%) 3= Dy using Cauchy’s root test.

Prove that J1(x) = \/%sinx.

2
If x3 + 2x% — x + 1 = aPy(x) + bP; (%) + cP,(x) + dP;(x) find the
values of a,b,c,d.

Module -5

From the following table find the number of students who have obtained
(@) less than 45 marks  (b) between 40 and 45 marks.
Marks | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
No. of students | 31 42 51 35 31

Use Lagrange’s interpolation formula to find y(2).
x| 0 1 3 4
y |-12] 0 | 6 | 12

X

Evaluate fol 11(2 by using Simpson’s 1/3"9 rule taking four equal strips and hence deduce an
approximate value of 7.

Or

Apply Newton’s divided difference formula to find f(4) for the given data :
X 0 2 3 6

f(x) -4 2 14 158

Apply Newton-Raphson method to find an approximate root of the equation
x3 — 2x — 5 = 0 which lies near x = 2.

Use weddle’s rule to compute the area bounded by the curve y = f(x), X-axis and the extreme
ordinates from the following table.

X 0 1 2 3 4 5 6

y 0 2| 25| 23| 2| 17| 15

*kkkik
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ADICHUNCHANAGIRI UNIVERSITY

18EGH18
First Semester BE Degree Examination July 2021
(CBCS Scheme)
Time: 3 Hours Max Marks: 100 marks
Sub: ENGLISH |
Q P Code: 60001
Instructions: 1. Your answer should be specific to the questions asked.
2. write the same question numbers as they appear in this question paper.
3. Write Legibly
Question Paper Version — A
Answer all the questions 100X1=100
1 The students who apply to engineering colleges drop out because of lack of guidance.
A. True B. False C. Neutral D. Not applicable
2  The students are not responsible for the decisions that they take to join engineering.
A. True B. False C. Neutral D. Not applicable
3 There is a massive difference between what a college expects than a school from its students.
A. True B. False C. Neutral D. Not applicable
4  The students must have clear picture of what they want to become after engineering right from 1st year
of engineering.
A. True B. False C. Neutral D. Not applicable
5  The students must not approach the library for referring to books which is prescribed in the syllabus.
A. True B. False C. Neutral D. Not applicable
6  Anengineer, in order to be performing well in their career must have only technical knowledge.
A. True B. False C. Neutral D. Not applicable
7 !Engineers are the reasons for which the commerce, trade and marketing has experienced drastic
improvement.
A. True B. False C. Neutral D. Not applicable
8 Inorder to be an effective engineer, one must pay closer and keen attention to minutest details.
A. True B. False C. Neutral D. Not applicable
9  Engineers do not require leadership as well as management skills.
A. True B. False C. Neutral D. Not applicable
10 Engineers know the value of time.
A. True B. False C. Neutral D. Not applicable
11 mom is on the phone.

A. You B. YourC. You’re D. Yours

PTO
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12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

looking a lot better than you diD.
A.You B. YourC. You’re D. Yours
If in town, come by and see us.
A.You B. YourC. You’re D. Yours
If you do it again certain to get sent to the office.
A.You B. YourC. You’re D. Yours
Was it brother i saw last week?
A.You B. YourC. You’re D. Yours
I hopethat __ happy in your new joB.
A.You B. YourC. You’re D. Yours

| hope you get lots of presents on birthday.
A.You B. YourC. You’re D. Yours

not going out looking like that.

A.You B. YourC. You’re D. Yours

I'm coming over to house to sort this out.

A.You B. YourC. You’re D. Yours

Do you know where going?

A.You B. YourC. You’re D. Yours

The applause showed how deeply the presentation had the audience.
A. Affect B. Effect C. Affected D. Effected

His attitude was by his upbringing.

A. Affect B. Effect C. Affected D. Effected

No matter what he does, it will have no on me.

A. Affect B. Effect C. Affected D. Effected

No matter what he does, it will not me.

A. Affect B. Effect C. Affected D. Effected

How was the team by the loss of their coach?

A. Affect B. Effect C. Affected D. Effected

What is the type of introduction called, when it is required to introduce yourself in quick time frame?

A. Self introduction B. Group introduction C. Elevator introduction ~ D. None of these
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Choose the best option which suits the best for professional introduction.

A. Dress appropriately B. Keep eye contact C. Be confident D. All of these

A non — formally prepared speech is calleD.

A. Extempore speaking B. Presentation C. Debate D. None of these

Which of these element is not involved in the process of communication?

A. Pipe B. Sender C. Message D. Channel

Which of these is the third element of communication?

A. Sender B. Reciver C. Channel D. Message

Which of these is the most important tool of communication?

A. Body language B. Gestures C. Language D. Posture

Which of these must be avoided in any presentation?

A. Proper grammar B. Complex words  C. Short sentences D. Clear voice
Which of these is not important in an oral presentation?

A. Words B. Body language C. Gestures D. Audience size
Which of these is the best way to establish a proper rapport with audience?

A. Pointing finger B. Making eye contact C. Waving hands D.standing erect
In an oral presentation, the speaker should not

A. Panic B. Pause C. Making eye contact D. Inspire

Which number among the following is divisible by 7?

ATT754 B. 7666 C. 77784 D. 5643

Which number among the following is divisible by 8?

A. 762928 B. 220953 C. 19537455 D. None of these
Which number among the following is divisible by both 7 and 11?

A.4540074 B. 293076 C. 1793498 D. 5740702
Which of the following number is divisible by 63?

A.492815 B. 4107872 C. 5893407 D. 6221628
Which number is divisible by 18?

A.52794 B. 432181 C. 1725516 D. None of these
What is the unit digit in the product (365 x 659 x 771)?

Al B.2 C. 4 D.6
PTO
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What is the unit digit in 7105
a.l B.5 C.7 D.9
How many 3-digit numbers are completely divisible 6?

a. 140 B. 150 C.151 D. 166
(112 +122 +132 + ... + 202) = ?

A. 398 B. 2485 C. 4232 D.1563
What is the unit digit in(795 - 358)?

A0 B4 C.6 D. 7
What will be remainder when 17200 is divided by 18 ?

a. 17 B. 16 C.1 D.2

When a number is divided by 13, the remainder is 11. When the same number is divided by 17, then
remainder is 9. What is the number?

A. 339 B. 349 C. 369 D. None of these

In a division sum, the divisor is 10 times the quotient and 5 times the remainder. If the remainder is 46,
what is the dividend?

A. 4236 B. 4036 C. 4336 D. 5336

On dividing a number by 357, we get 39 as remainder. On dividing the same number 17, what will be the
remainder?

A0 B.3 C.5 D.11

On dividing a number by 5, we get 3 as remainder. What will the remainder when the square of the
number is divided by 5?

A0 B.1 C.2 D.4

How many of the following numbers are divisible by 3 but not by 9 ?
2133, 2343, 3474, 4131, 5286, 5340, 6336, 7347, 8115, 9276

a.5 B. 6 C.7 D. None of these

The difference between the place value and the face value of 6 in the numeral 856973 is
a. 973 B. 5994 C. 5973 D. 435

The smallest 6 digit number exactly divisible by 111 is:

a. 111111 B. 11077 C. 100011 D. 2233109

The largest 5 digit number exactly divisible by 91 is:

a. 88899 B. 99918 C. 45361 D. 98978

What is the unit digit in (4137)754?

a.l B.3 C.7 D.9
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Read the following passages and answer the questions given below
(g56 — 65)

The greening of the aged
1. A visit to most homes for the aged is so depressing that second visits are uncommon. The men and
women we see there are listless, unresponsive, and often incapable of performing simple tasks. They
appear unmotivated, uninterested, and turned away from others. Their debilitated physical and emotional
condition is not a necessary consequence of old age. Rather, it is the inevitable result of being treated
like a passive object in an institutional setting.

2. Recently, two young researchers from yale university, ellen langer and judith rodin, decided to see
whether they could reverse the debilitated condition of residents in one of these old-age homes (1976).
Their sample consisted of 91 residents, aged 65 to 90, all well enough to be walking about. The
investigators reasoned that the crucial psychological process missing in such institutions was taking
responsibility for one’s own decisions. To be an actor in life’s drama, we must act, decide, and be
responsible for the consequences. To let others decide for us is to lose the main ingredient in self-esteem
and competence.

How are the residents of old age homes described in paragraph 1?

A. Healthy B. Sad C. Uncommon D. Weak, poor and troubled

According to the author, what is the reason for their poor condition?

A. Left out feel B. Uninterested C. Ill treated like a passive object D. None of these
(par. 2) what was the researchers’ hypothesis; i.e., what idea was their research based on?

A. Improving self esteem B. Taking responsibility C.less competence D. Change the condition of
the poor

(par. 2) what is the main ingredient in self-esteem and confidence?

A. Act and decide B. Decision making C. Debilated condition D.none of these

3. Accordingly, about half of the participants in the study were randomly assigned to a situation in which
they received instructions that emphasized the need for them to take more responsibility for caring for
themselves and for improving the quality of life in the home. They were then asked to choose a plant
from among a box of them as a present — but they were told they had to care for it. In contrast, the second
group of patients was given instructions that stressed the responsibility of the staff to provide good
services for the residents. They were handed a plant as a present and informed that the nurses would
water it for them.

4. The results of the enhanced sense of personal responsibility were dramatiC. On questionnaire ratings
and behavioral measures, the experimental group (“i’ll do it myself”) showed significant improvement
over the comparison group (“let george do it for you”) on alertness, active participation, and general
sense of well-being.

(par. 4) how did the researchers measure the results of the study?

A. Questionnaire ratings B. Behavioral meausres C.questionnaire  ratings and  behavioral
measures D. None of these

Which group improved more?

A. Experimental B. Comparison C. Both D. None of these
In what areas did the better group show improvement?

A. Alertness B. Active participation C. Sense of well being D. All of these
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5. Eighteen months later, these positive results still persisted, as indicated by the nurses’ higher ratings of
the happiness, sociability, and vigor of the personally responsible group. But most startling of all,
encouraging the residents to be responsible for themselves and their plants made them live longer! The
overall death rate for the entire nursing home during an eighteen-month period prior to the experiment
was 25 percent. Following the experiment, only 15 percent of the personally responsible residents died,
compared to twice as many for the no-responsibility group.

6. In conclusion, psychological interventions of this kind not only improve mood and attitudes; they
seem to affect the very process of life and death itself.

(par. 5) how were results 18 months later?
A. Results perished B. No change C. Results remained D. None of these
What was the most surprising finding of the study?

A. None changed B. Residents became brave C. Their plants made them live longer D.
None of these

Choose the correct conclusion from the options given below.

A. Residents can be changed  B. Psychological interventions help residents  C. People will not die
D. None of these

When we read only to find the answer, this technique is calleD.

A. Skimming B. Scanning C. Churning D. Wringing
When we read by skipping through sections of a passge, this technique is calleD.

A. Skimming B. Scanning C. Churning D. Wringing
When we read only the headings to identify the answer, this technique is calleD.

A. Skimming B. Scanning C. Churning D. Wringing
Which technique helps you to read upto 1000 words a minute?

A. Skimming B. Scanning C. Churning D. Wringing
Which technique is very useful to identify which section of a passage is to be read?

A. Skimming B. Scanning C. Churning D. Wringing
In the 5 stages of listening process which stage is ‘remembering’?

A. Stage 1 B. Stage 2 C. Stage 3 D. Stage 4

In the 5 stages of listening process which stage is ‘recieving’?

A. Stage 1 B. Stage 2 C. Stage 3 D. Stage 4

In the 5 stages of listening process which stage is “‘understanding’?

A. Stage 1 B. Stage 2 C. Stage 3 D. Stage 5

In the 5 stages of listening process which stage is ‘evaluating’?

A. Stage 4 B. Stage 1 C. Stage 3 D. Stage 5
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In the 5 stages of listening process which stage is ‘responding’?

A. Stage 4 B. Stage 1 C. Stage 3 D. Stage 5

What is the barrier of listening called if a person has hearing problems?

A. Egotism B. Rapid thoughts C. Impaired hearing D. None of these

What is the barrier of listening called if a person’s mind wanders onto topics which are not related to
speaker’s words?

A. Egotism B. Rapid thoughts C. Impaired hearing D. None of these

What is the barrier of listening called if a person is given a lot of information to receive?

A. Egotism B. Rapid thoughts C. Overloaded messages D. None of these

What is the barrier of listening called if a person cannot understand the accent spoken by the speaker?
A. Faulty assumptions B. Cultural differences C. Egotism D. None of these

What is the barrier of listening called if a person thinks listening is merely a passive activity?

A. Faulty assumptions B. Cultural differences C. Egotism D. None of these

P5qr, p4qgs, p3qt, ___, plgv

A. Pqw B. Pqv2 C. P2qu D. Pq3u

Qpo, nml, kji, ,edc

A. Hgf B. Cab C. Jl D. Ghi
scd, tef, ugh, _, wkl

A.Cmn B. Uji C. Vij D. ljt

Elfa, glha, ilja, __ , mlna

A. Olpa B. Klma C. Llma D. Klla

In a certain code, sikkim is written as thljjl, how is training written in that code?
A. Sgbhohof  B. Ugbhoiof C. Ugbhohoi D. Ugbhohof
If completed is coded as mocelpdet, then direction will be coded as:

A. Ridtcenoj  B. Sidtcenoi  C. Ridtcenoi  D. Rietcenoi

Eat+that=apple. What is a+I+t?

A.13 B. 10 C.11 D.9

Send+more=money. What is m+o+n+e+y?

All B.12 C.13 D. 14

PTO
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base+ball=games. What is g+a+m+e+s?

A2l B. 23

C.25

lets+wave=later. What is |+a+t+e+r?

Al12 B. 13

C. 14

D. 29

D. 15

donald+gerald=robert. What is r+o+b+e+r+t?

A.22 B. 24 C.26

Scd, tef, ugh, __, wkl

A.cmn B.uji C.vij

Fag, gaf, hai, iah,

A.jak B. Hal C.Hal D.Hai
Elfa, glha, ilja, _ , mlna

A. Olpa B. KiIma C.LIlma
Elf+elf=fool. What is f+o+0+1?

All B. 12 C.13

D.2

D. ljt

D. Klla

D. 14

Roads+cross=danger. What is d+a+n+g+e+r?

A. 28 B.31 C.33
Rab, scd, tef,  vij

A.gvh B. Ugh C. Uvg
Srqg, pon, mlk, _  gfe

A. ljh B. Jih C. Jhi
Kel, Ifm, mgn, nho, oip, __

A.jpo B. Pjo C. Pjq
E2hi, , ehi4, e5hi, eh6i

A. Eh3i B. Ei3h C. 12e3h

D. 35

D.hgu

D. Ihj

D. None of these

D. None of these

*khkk
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Question Paper Version — B
Answer all the questions 100X1=100

1 How many of the following numbers are divisible by 3 but not by 9 ?

2133, 2343, 3474, 4131, 5286, 5340, 6336, 7347, 8115, 9276

a.5 B. 6 C. 7 D. None of these
2 The difference between the place value and the face value of 6 in the numeral 856973 is

a. 973 B. 5994 C. 5973 D. 435

3 The smallest 6 digit number exactly divisible by 111 is:

a. 111111 B. 11077 C. 100011 D. 2233109
4  The largest 5 digit number exactly divisible by 91 is:

a. 88899 B. 99918 C. 45361 D. 98978
5  What is the unit digit in (4137)754?

a.l B.3 C.7 D.9

Read the following passages and answer the questions given below
(q06 - 15)

The greening of the aged
1. A visit to most homes for the aged is so depressing that second visits are uncommon. The men and
women we see there are listless, unresponsive, and often incapable of performing simple tasks. They
appear unmotivated, uninterested, and turned away from others. Their debilitated physical and emotional
condition is not a necessary consequence of old age. Rather, it is the inevitable result of being treated
like a passive object in an institutional setting.

2. Recently, two young researchers from yale university, ellen langer and judith rodin, decided to see
whether they could reverse the debilitated condition of residents in one of these old-age homes (1976).
Their sample consisted of 91 residents, aged 65 to 90, all well enough to be walking about. The
investigators reasoned that the crucial psychological process missing in such institutions was taking
responsibility for one’s own decisions. To be an actor in life’s drama, we must act, decide, and be
responsible for the consequences. To let others decide for us is to lose the main ingredient in self-esteem
and competence.

PTO
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How are the residents of old age homes described in paragraph 1?

A. Healthy B. Sad C. Uncommon D. Weak, poor and troubled

According to the author, what is the reason for their poor condition?

A. Left out feel B. Uninterested C. Ill treated like a passive object D. None of these
(par. 2) what was the researchers’ hypothesis; i.e., what idea was their research based on?

A. Improving self esteem B. Taking responsibility C.less competence D. Change the condition of
the poor

(par. 2) what is the main ingredient in self-esteem and confidence?

A. Act and decide B. Decision making C. Debilated condition D.none of these

3. Accordingly, about half of the participants in the study were randomly assigned to a situation in which
they received instructions that emphasized the need for them to take more responsibility for caring for
themselves and for improving the quality of life in the home. They were then asked to choose a plant
from among a box of them as a present — but they were told they had to care for it. In contrast, the second
group of patients was given instructions that stressed the responsibility of the staff to provide good
services for the residents. They were handed a plant as a present and informed that the nurses would
water it for them.

4. The results of the enhanced sense of personal responsibility were dramatiC. On questionnaire ratings
and behavioral measures, the experimental group (“i’ll do it myself”’) showed significant improvement
over the comparison group (“let george do it for you™) on alertness, active participation, and general
sense of well-being.

(par. 4) how did the researchers measure the results of the study?

A. Questionnaire ratings B. Behavioral meausres C.questionnaire  ratings and  behavioral
measures D. None of these

Which group improved more?

A. Experimental B. Comparison C. Both D. None of these

In what areas did the better group show improvement?

A. Alertness B. Active participation C. Sense of well being D. All of these

5. Eighteen months later, these positive results still persisted, as indicated by the nurses’ higher ratings of
the happiness, sociability, and vigor of the personally responsible group. But most startling of all,
encouraging the residents to be responsible for themselves and their plants made them live longer! The
overall death rate for the entire nursing home during an eighteen-month period prior to the experiment
was 25 percent. Following the experiment, only 15 percent of the personally responsible residents died,
compared to twice as many for the no-responsibility group.

6. In conclusion, psychological interventions of this kind not only improve mood and attitudes; they
seem to affect the very process of life and death itself.

(par. 5) how were results 18 months later?
A. Results perished B. No change C. Results remained D. None of these
What was the most surprising finding of the study?

A. None changed B. Residents became brave C. Their plants made them live longer D.
None of these
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Choose the correct conclusion from the options given below.

A. Residents can be changed  B. Psychological interventions help residents  C. People will not die
D. None of these

When we read only to find the answer, this technique is calleD.

A. Skimming B. Scanning C. Churning D. Wringing
When we read by skipping through sections of a passge, this technigue is calleD.

A. Skimming B. Scanning C. Churning D. Wringing
When we read only the headings to identify the answer, this technique is calleD.

A. Skimming B. Scanning C. Churning D. Wringing
Which technique helps you to read upto 1000 words a minute?

A. Skimming B. Scanning C. Churning D. Wringing
Which technique is very useful to identify which section of a passage is to be read?
A. Skimming B. Scanning C. Churning D. Wringing
In the 5 stages of listening process which stage is ‘remembering’?

A. Stage 1 B. Stage 2 C. Stage 3 D. Stage 4

In the 5 stages of listening process which stage is ‘recieving’?

A. Stage 1 B. Stage 2 C. Stage 3 D. Stage 4

In the 5 stages of listening process which stage is “‘understanding’?

A. Stage 1 B. Stage 2 C. Stage 3 D. Stage 5

In the 5 stages of listening process which stage is ‘evaluating’?

A. Stage 4 B. Stage 1 C. Stage 3 D. Stage 5

In the 5 stages of listening process which stage is ‘responding’?

A. Stage 4 B. Stage 1 C. Stage 3 D. Stage 5

What is the barrier of listening called if a person has hearing problems?

A. Egotism B. Rapid thoughts C. Impaired hearing D. None of these

What is the barrier of listening called if a person’s mind wanders onto topics which are not related to
speaker’s words?

A. Egotism B. Rapid thoughts C. Impaired hearing D. None of these
What is the barrier of listening called if a person is given a lot of information to receive?
A. Egotism B. Rapid thoughts C. Overloaded messages D. None of these

What is the barrier of listening called if a person cannot understand the accent spoken by the speaker?
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A. Faulty assumptions B. Cultural differences C. Egotism D. None of these PTO
What is the barrier of listening called if a person thinks listening is merely a passive activity?

A. Faulty assumptions B. Cultural differences C. Egotism D. None of these

P5qr, p4gs, p3qt, __ , plqv

A. Pgw B. Pqv2 C.P2qu D. Pq3u

Qpo, nml, kji, ,edc

A. Hof B. Cab C. Jl D. Ghi
scd, tef, ugh, _, wkl

A.Cmn B. Uji C. Vij D. ljt

Elfa, glha, ilja, _ , mlna

A. Olpa B. Klma C. LIma D. Klla

In a certain code, sikkim is written as thljjl, how is training written in that code?
A. Sgbhohof  B. Ugbhoiof C. Ugbhohoi D. Ugbhohof
If completed is coded as mocelpdet, then direction will be coded as:

A. Ridtcenoj  B. Sidtcenoi  C. Ridtcenoi  D. Rietcenoi

Eat+that=apple. What is a+1+t?

A.13 B. 10 C.11 D.9

Send+more=money. What is m+o+n+e+y?

All B.12 C.13 D.14

base+ball=games. What is g+a+m+e+s?

A2l B. 23 C.25 D. 29

lets+wave=later. What is |+a+t+e+r?

Al2 B. 13 C. 14 D. 15

donald+gerald=robert. What is r+o+b+e+r+t?

A.22 B.24 C. 26 D.2
Scd, tef, ugh, , Wkl
A.cmn B.uji C.vij D. Ijt

Fag, gaf, hai, iah,
A.jak B. Hal C.Hal D. Hai

Elfa, glha, ilja, , mina
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A. Olpa B.Klma C.LIma D. Klla
Elf+elf=fool. What is f+o+o+1?
All B. 12 C.13 D. 14

Roads+cross=danger. What is d+a+n+g+e+r?

A. 28 B.31 C.33 D. 35
Rab, scd, tef, vij

A.gvh B. Ugh C. Uvg D.hgu
Srq, pon, mlk,  gfe

A. ljh B. Jih C. Jhi D. Ihj

Kel, Ifm, mgn, nho, oip,

A.jpo B. Pjo C. Pjq D. None of these
E2hi, , €hi4, e5hi, eh6i
A. Eh3i B. Ei3h C. 12e3h D. None of these

The students who apply to engineering colleges drop out because of lack of guidance.

A. True B. False C. Neutral D. Not applicable

The students are not responsible for the decisions that they take to join engineering.

A. True B. False C. Neutral D. Not applicable

There is a massive difference between what a college expects than a school from its students.
A. True B. False C. Neutral D. Not applicable

The students must have clear picture of what they want to become after engineering right from 1st year
of engineering.
A. True B. False C. Neutral D. Not applicable

The students must not approach the library for referring to books which is prescribed in the syllabus.
A. True B. False C. Neutral D. Not applicable

An engineer, in order to be performing well in their career must have only technical knowledge.

A. True B. False C. Neutral D. Not applicable

Engineers are the reasons for which the commerce, trade and marketing has experienced drastic
improvement.

A. True B. False C. Neutral D. Not applicable
In order to be an effective engineer, one must pay closer and keen attention to minutest details.
A. True B. False C. Neutral D. Not applicable

Engineers do not require leadership as well as management skills.
A. True B. False C. Neutral D. Not applicable
Engineers know the value of time.

A. True B. False C. Neutral D. Not applicable

Page 21 of 75



61

62

63

64

65

66

67

68

69

70

71

72

73

74

75

mom is on the phone.

A.You B. Your C. You’re D. Yours
looking a lot better than you diD.

A.You B. Your C. You're D. Yours

If in town, come by and see us.

A.You B. YourC. You’re D. Yours

If you do it again certain to get sent to the office.

A.You B. YourC. You’re D. Yours

Was it brother i saw last week?

A.You B. YourC. You’re D. Yours

I hopethat __ happy in your new joB.

A.You B. Your C.Youre D. Yours

| hope you get lots of presents on birthday.

A.You B. Your C.You're D. Yours
not going out looking like that.

A.You B. Your C.You’re D. Yours

I'mcomingoverto ___ house to sort this out.

A.You B. YourC. You’re D. Yours

Do you know where going?

A.You B. YourC. You’re D. Yours

The applause showed how deeply the presentation had

A. Affect B. Effect C. Affected D. Effected
His attitude was by his upbringing.

A. Affect B. Effect C. Affected D. Effected
No matter what he does, it will have no on me.
A. Affect B. Effect C. Affected D. Effected
No matter what he does, it will not me.
A. Affect B. Effect C. Affected D. Effected
How was the team by the loss of their coach?
A. Affect B. Effect C. Affected D. Effected

the audience.

PTO
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What is the type of introduction called, when it is required to introduce yourself in quick time frame?

A. Self introduction B. Group introduction C. Elevator introduction ~ D. None of these

Choose the best option which suits the best for professional introduction.

A. Dress appropriately B. Keep eye contact C. Be confident D. All of these

A non — formally prepared speech is calleD.

A. Extempore speaking B. Presentation C. Debate D. None of these

Which of these element is not involved in the process of communication?

A. Pipe B. Sender C. Message D. Channel

Which of these is the third element of communication?

A. Sender B. Reciver C. Channel D. Message

Which of these is the most important tool of communication?

A. Body language B. Gestures C. Language D. Posture

Which of these must be avoided in any presentation?

A. Proper grammar B. Complex words  C. Short sentences D. Clear voice
Which of these is not important in an oral presentation?

A. Words B. Body language C. Gestures D. Audience size
Which of these is the best way to establish a proper rapport with audience?

A. Pointing finger B. Making eye contact C. Waving hands D.standing erect
In an oral presentation, the speaker should not

A. Panic B. Pause C. Making eye contact D. Inspire

Which number among the following is divisible by 7?

ATT754 B. 7666 C. 77784 D. 5643

Which number among the following is divisible by 8?

A. 762928 B. 220953 C. 19537455 D. None of these
Which number among the following is divisible by both 7 and 11?

A.4540074 B. 293076 C. 1793498 D. 5740702
Which of the following number is divisible by 63?

A.492815 B. 4107872 C. 5893407 D. 6221628
Which number is divisible by 18?

A.52794 B. 432181 C. 1725516 D. None of these
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99

100

PTO
What is the unit digit in the product (365 x 659 x 771)?

Al B.2 C.4 D.6
What is the unit digit in 7105

a.l B.5 C.7 D.9
How many 3-digit numbers are completely divisible 67

a. 140 B. 150 C.151 D. 166
(112 +122 + 132 +... +202) = ?

A. 398 B. 2485 C. 4232 D.1563
What is the unit digit in(795 - 358)?

A0 B.4 C.6 D. 7
What will be remainder when 17200 is divided by 18 ?

a. 17 B. 16 C.1 D.2

When a number is divided by 13, the remainder is 11. When the same number is divided by 17, then
remainder is 9. What is the number?

A. 339 B. 349 C. 369 D. None of these

In a division sum, the divisor is 10 times the quotient and 5 times the remainder. If the remainder is 46,
what is the dividend?

A. 4236 B. 4036 C. 4336 D. 5336

On dividing a number by 357, we get 39 as remainder. On dividing the same number 17, what will be the
remainder?

A0 B.3 C.5 D. 11

On dividing a number by 5, we get 3 as remainder. What will the remainder when the square of the
number is divided by 5?

A.0 B.1 C.2 D.4

*kkk
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ADICHUNCHANAGIRI UNIVERSITY

18EGH18
First Semester BE Degree Examination July 2021
(CBCS Scheme)
Time: 3 Hours Max Marks: 100 marks
Sub: ENGLISH I
Q P Code: 60001
Instructions: 1. Your answer should be specific to the questions asked.
2. write the same question numbers as they appear in this question paper.
3. Write Legibly
Question Paper Version — C
Answer all the questions 100X1=100

1 Whatis the type of introduction called, when it is required to introduce yourself in quick time frame?
A. Self introduction ~ B. Group introduction ~ C. Elevator introduction ~ D. None of these
2 Choose the best option which suits the best for professional introduction.
A. Dress appropriately B. Keep eye contact C. Be confident D. All of these
3 Anon - formally prepared speech is calleD.
A. Extempore speaking B. Presentation C. Debate D. None of these
4  Which of these element is not involved in the process of communication?
A. Pipe B. Sender C. Message D. Channel
5  Which of these is the third element of communication?
A. Sender B. Reciver C. Channel D. Message
6  Which of these is the most important tool of communication?
A. Body language B. Gestures C. Language D. Posture
7  Which of these must be avoided in any presentation?
A. Proper grammar B. Complex words  C. Short sentences D. Clear voice
8  Which of these is not important in an oral presentation?
A. Words B. Body language C. Gestures D. Audience size
9  Which of these is the best way to establish a proper rapport with audience?
A. Pointing finger B. Making eye contact C. Waving hands D. Standing erect

10 Inan oral presentation, the speaker should not
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13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

A. Panic B. Pause C. Making eye contact D. Inspire
PTO
Which number among the following is divisible by 7?

ATT754 B. 7666 C. 77784 D. 5643

Which number among the following is divisible by 8?

A.762928 B. 220953 C. 19537455 D. None of these
Which number among the following is divisible by both 7 and 11?

A.4540074 B. 293076 C. 1793498 D. 5740702
Which of the following number is divisible by 63?

A.492815 B. 4107872 C. 5893407 D. 6221628

Which number is divisible by 18?

A.52794 B. 432181 C. 1725516 D. None of these
What is the unit digit in the product (365 x 659 x 771)?

Al B.2 C.4 D.6

What is the unit digit in 7105

a.l B.5 C.7 D.9

How many 3-digit numbers are completely divisible 6?

a. 140 B. 150 C.151 D. 166
(112 +122 +132 + ... + 202) = ?

A. 398 B. 2485 C. 4232 D.1563
What is the unit digit in(795 - 358)?

A0 B.4 C.6 D. 7
What will be remainder when 17200 is divided by 18 ?

a. 17 B. 16 C.1 D.2

When a number is divided by 13, the remainder is 11. When the same number is divided by 17, then
remainder is 9. What is the number?
A. 339 B. 349 C. 369 D. None of these

In a division sum, the divisor is 10 times the quotient and 5 times the remainder. If the remainder is 46,
what is the dividend?
A. 4236 B. 4036 C. 4336 D. 5336

On dividing a number by 357, we get 39 as remainder. On dividing the same number 17, what will be the
remainder?
A.0 B.3 C.5 D.11

On dividing a number by 5, we get 3 as remainder. What will the remainder when the square of the
number is divided by 5?
A0 B.1 C.2 D.4

How many of the following numbers are divisible by 3 but not by 9 ?
2133, 2343, 3474, 4131, 5286, 5340, 6336, 7347, 8115, 9276
a.5 B. 6 C. 7 D. None of these

The difference between the place value and the face value of 6 in the numeral 856973 is
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35

a. 973 B. 5994 C. 5973 D. 435

The smallest 6 digit number exactly divisible by 111 is:
a. 111111 B. 11077 C. 100011 D. 2233109
The largest 5 digit number exactly divisible by 91 is:

a. 88899 B. 99918 C. 45361 D. 98978
What is the unit digit in (4137)754?
a.l B.3 C.7 D.9

Read the following passages and answer the questions given below
(931 -40)

The greening of the aged
1. A visit to most homes for the aged is so depressing that second visits are uncommon. The men and
women we see there are listless, unresponsive, and often incapable of performing simple tasks. They
appear unmotivated, uninterested, and turned away from others. Their debilitated physical and emotional
condition is not a necessary consequence of old age. Rather, it is the inevitable result of being treated
like a passive object in an institutional setting.

2. Recently, two young researchers from yale university, ellen langer and judith rodin, decided to see
whether they could reverse the debilitated condition of residents in one of these old-age homes (1976).
Their sample consisted of 91 residents, aged 65 to 90, all well enough to be walking about. The
investigators reasoned that the crucial psychological process missing in such institutions was taking
responsibility for one’s own decisions. To be an actor in life’s drama, we must act, decide, and be
responsible for the consequences. To let others decide for us is to lose the main ingredient in self-esteem
and competence.

How are the residents of old age homes described in paragraph 1?

A. Healthy B. Sad C. Uncommon D. Weak, poor and troubled

According to the author, what is the reason for their poor condition?

A. Left out feel B. Uninterested C. Ill treated like a passive object D. None of these
(par. 2) what was the researchers’ hypothesis; i.e., what idea was their research based on?

A. Improving self esteem B. Taking responsibility C.less competence D. Change the condition of
the poor

(par. 2) what is the main ingredient in self-esteem and confidence?

A. Act and decide B. Decision making C. Debilated condition D.none of these

3. Accordingly, about half of the participants in the study were randomly assigned to a situation in which
they received instructions that emphasized the need for them to take more responsibility for caring for
themselves and for improving the quality of life in the home. They were then asked to choose a plant
from among a box of them as a present — but they were told they had to care for it. In contrast, the second
group of patients was given instructions that stressed the responsibility of the staff to provide good
services for the residents. They were handed a plant as a present and informed that the nurses would
water it for them.

4. The results of the enhanced sense of personal responsibility were dramatiC. On questionnaire ratings
and behavioral measures, the experimental group (“i’ll do it myself”) showed significant improvement
over the comparison group (“let george do it for you”) on alertness, active participation, and general
sense of well-being.

(par. 4) how did the researchers measure the results of the study?
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A. Questionnaire ratings B. Behavioral meausres C.questionnaire  ratings and  behavioral
measures D. None of these

PTO
Which group improved more?
A. Experimental B. Comparison C. Both D. None of these
In what areas did the better group show improvement?
A. Alertness B. Active participation C. Sense of well being D. All of these

5. Eighteen months later, these positive results still persisted, as indicated by the nurses’ higher ratings of
the happiness, sociability, and vigor of the personally responsible group. But most startling of all,
encouraging the residents to be responsible for themselves and their plants made them live longer! The
overall death rate for the entire nursing home during an eighteen-month period prior to the experiment
was 25 percent. Following the experiment, only 15 percent of the personally responsible residents died,
compared to twice as many for the no-responsibility group.

6. In conclusion, psychological interventions of this kind not only improve mood and attitudes; they
seem to affect the very process of life and death itself.

(par. 5) how were results 18 months later?

A. Results perished B. No change C. Results remained D. None of these
What was the most surprising finding of the study?

A. None changed B. Residents became brave C. Their plants made them live longer
D. None of these

Choose the correct conclusion from the options given below.

A. Residents can be changed  B. Psychological interventions help residents ~ C. People will not die
D. None of these
When we read only to find the answer, this technique is calleD.

A. Skimming B. Scanning C. Churning D. Wringing
When we read by skipping through sections of a passge, this technique is calleD.
A. Skimming B. Scanning C. Churning D. Wringing
When we read only the headings to identify the answer, this technique is calleD.
A. Skimming B. Scanning C. Churning D. Wringing

Which technique helps you to read upto 1000 words a minute?
A. Skimming B. Scanning C. Churning D. Wringing

Which technique is very useful to identify which section of a passage is to be read?
A. Skimming B. Scanning C. Churning D. Wringing
In the 5 stages of listening process which stage is ‘remembering’?

A. Stage 1 B. Stage 2 C. Stage 3 D. Stage 4

In the 5 stages of listening process which stage is ‘recieving’?

A. Stage 1 B. Stage 2 C. Stage 3 D. Stage 4

In the 5 stages of listening process which stage is ‘understanding’?

A. Stage 1 B. Stage 2 C. Stage 3 D. Stage 5
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In the 5 stages of listening process which stage is ‘evaluating’?
A. Stage 4 B. Stage 1 C. Stage 3 D. Stage 5
In the 5 stages of listening process which stage is ‘responding’?

A. Stage 4 B. Stage 1 C. Stage 3 D. Stage 5
What is the barrier of listening called if a person has hearing problems?
A. Egotism B. Rapid thoughts C. Impaired hearing D. None of these

What is the barrier of listening called if a person’s mind wanders onto topics which are not related to
speaker’s words?
A. Egotism B. Rapid thoughts C. Impaired hearing D. None of these

What is the barrier of listening called if a person is given a lot of information to receive?

A. Egotism B. Rapid thoughts C. Overloaded messages D. None of these

What is the barrier of listening called if a person cannot understand the accent spoken by the speaker?
A. Faulty assumptions B. Cultural differences C. Egotism D. None of these

What is the barrier of listening called if a person thinks listening is merely a passive activity?

A. Faulty assumptions B. Cultural differences C. Egotism D. None of these

P5qr, p4gs, p3qt,  , plqv

A. Pqw B. Pqv2 C. P2qu D. Pq3u

Qpo, nml, kji, _ ,edc

A. Hgf B. Cab C. Jki D. Ghi
scd, tef, ugh, _, wkl

A.Cmn B. Uji C. Vij D. ljt

Elfa, glha, ilja, _ , mina

A. Olpa B. Klma C.LIma D. Klla

In a certain code, sikkim is written as thljjl, how is training written in that code?
A. Sgbhohof  B. Ugbhoiof C. Ugbhohoi D. Ugbhohof
If completed is coded as mocelpdet, then direction will be coded as:

A. Ridtcenoj  B. Sidtcenoi  C. Ridtcenoi  D. Rietcenoi

Eat+that=apple. What is a+I+t?

A.l13 B. 10 C.1 D.9

Send+more=money. What is m+o+n+e+y?

All B.12 C.13 D.14

base+ball=games. What is g+a+m+e+s?

A2l B. 23 C.25 D. 29

lets+wave=later. What is |+a+t+e+r?

Al2 B. 13 C.14 D. 15

donald+gerald=robert. What is r+o+b+e+r+t?

A.22 B.24 C. 26 D.2
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Scd, tef, ugh, , WKI

A.cmn B.uji C.vij D. Ijt
PTO
Fag, gaf, hai, iah,
A.jak B. Hal C.Hal D. Hai
Elfa, glha, ilja, , mlna
A. Olpa B.Klma C.LIma D. Klla

Elf+elf=fool. What is f+o+o0+1?
A1l B. 12 C.13 D. 14

Roads+cross=danger. What is d+a+n+g+e+r?

A. 28 B.31 C.33 D. 35
Rab, scd, tef, vij

A.gvh B. Ugh C. Uvg D.hgu
Srq, pon, mlk, _ dfe

A. ljh B. Jih C. Jhi D. Ihj

Kel, Ifm, mgn, nho, oip,

A.jpo B. Pjo C. Pjq D. None of these
E2hi, , €hi4, e5hi, ehbi
A. Eh3i B. Ei3h C. 12e3h D. None of these

The students who apply to engineering colleges drop out because of lack of guidance.

A. True B. False C. Neutral D. Not applicable

The students are not responsible for the decisions that they take to join engineering.

A. True B. False C. Neutral D. Not applicable

There is a massive difference between what a college expects than a school from its students.
A. True B. False C. Neutral D. Not applicable

The students must have clear picture of what they want to become after engineering right from 1st year
of engineering.
A. True B. False C. Neutral D. Not applicable

The students must not approach the library for referring to books which is prescribed in the syllabus.
A. True B. False C. Neutral D. Not applicable

An engineer, in order to be performing well in their career must have only technical knowledge.

A. True B. False C. Neutral D. Not applicable

Engineers are the reasons for which the commerce, trade and marketing has experienced drastic
improvement.

A. True B. False C. Neutral D. Not applicable
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In order to be an effective engineer, one must pay closer and keen attention to minutest details.

A. True B. False C. Neutral

D. Not applicable

Engineers do not require leadership as well as management skills.

A. True B. False C. Neutral

Engineers know the value of time.

A. True B. False C. Neutral
mom is on the phone.
A.You B. YourC. You’re D. Yours

looking a lot better than you diD.

A.You B. YourC. You’re D. Yours
If in town, come by and see us.
A.You B. YourC. You’re D. Yours

If you do it again
A.You B. YourC. You’re
Was it

D. Yours

brother i saw last week?

A. You B. YourC. You’re D. Yours

| hope that happy in your new joB.

A.You B. YourC. You’re D. Yours

I hope you get lots of presents on

A.You B. YourC. You’re D. Yours
not going out looking like that.

A.You B. YourC. You’re D. Yours

I'm coming over to

A.You B. YourC. You’re D. Yours
Do you know where going?
A.You B. YourC. You’re D. Yours

The applause showed how deeply the presentation had

A. Affect B. Effect C. Affected

His attitude was

A. Affect B. Effect C. Affected
No matter what he does, it will have no
A. Affect B. Effect C. Affected

No matter what he does, it will not

D. Not applicable

D. Not applicable

certain to get sent to the office.

birthday.

house to sort this out.

the audience.

D. Effected

by his upbringing.

D. Effected
on me.
D. Effected

me.

A. Affect B. Effect C. Affected

D. Effected

by the loss of their coach?
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A. Affect B. Effect C. Affected D. Effected
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ADICHUNCHANAGIRI UNIVERSITY

18EGH18
First Semester BE Degree Examination July 2021
(CBCS Scheme)
Time: 3 Hours Max Marks: 100 marks
Sub: ENGLISH |
Q P Code: 60001
Instructions: 1. Your answer should be specific to the questions asked.
2. write the same question numbers as they appear in this question paper.
3. Write Legibly
Question Paper Version — D
Answer all the questions 100X1=100

1

When we read only to find the answer, this technique is calleD.

A. Skimming B. Scanning C. Churning D. Wringing
When we read by skipping through sections of a passge, this technigue is calleD.

A. Skimming B. Scanning C. Churning D. Wringing
When we read only the headings to identify the answer, this technique is calleD.

A. Skimming B. Scanning C. Churning D. Wringing
Which technique helps you to read upto 1000 words a minute?

A. Skimming B. Scanning C. Churning D. Wringing
Which technique is very useful to identify which section of a passage is to be read?

A. Skimming B. Scanning C. Churning D. Wringing
In the 5 stages of listening process which stage is ‘remembering’?

A. Stage 1 B. Stage 2 C. Stage 3 D. Stage 4

In the 5 stages of listening process which stage is ‘recieving’?

A. Stage 1 B. Stage 2 C. Stage 3 D. Stage 4

In the 5 stages of listening process which stage is ‘understanding’?

A. Stage 1 B. Stage 2 C. Stage 3 D. Stage 5

In the 5 stages of listening process which stage is ‘evaluating’?

A. Stage 4 B. Stage 1 C. Stage 3 D. Stage 5
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In the 5 stages of listening process which stage is ‘responding’?

A. Stage 4 B. Stage 1 C. Stage 3 D. Stage 5
PTO

What is the barrier of listening called if a person has hearing problems?
A. Egotism B. Rapid thoughts C. Impaired hearing D. None of these

What is the barrier of listening called if a person’s mind wanders onto topics which are not related to
speaker’s words?

A. Egotism B. Rapid thoughts C. Impaired hearing D. None of these

What is the barrier of listening called if a person is given a lot of information to receive?

A. Egotism B. Rapid thoughts C. Overloaded messages D. None of these

What is the barrier of listening called if a person cannot understand the accent spoken by the speaker?
A. Faulty assumptions B. Cultural differences C. Egotism D. None of these

What is the barrier of listening called if a person thinks listening is merely a passive activity?

A. Faulty assumptions B. Cultural differences C. Egotism D. None of these

P5qr, p4qgs, p3qt, ___, plgv

A. Pqw B. Pqv2 C. P2qu D. Pq3u

Qpo, nml, kji, ,edc

A. Hgf B. Cab C. Jl D. Ghi
scd, tef, ugh, _, wkl

A.Cmn B. Uji C. Vij D. ljt

Elfa, glha, ilja, __ , mlna

A. Olpa B. Klma C. Llma D. Klla

In a certain code, sikkim is written as thljjl, how is training written in that code?
A. Sgbhohof  B. Ugbhoiof C. Ugbhohoi D. Ugbhohof
If completed is coded as mocelpdet, then direction will be coded as:

A. Ridtcenoj  B. Sidtcenoi  C. Ridtcenoi  D. Rietcenoi

Eat+that=apple. What is a+I+t?

A.13 B. 10 C.11 D.9

Send+more=money. What is m+o+n+e+y?

All B.12 C.13 D. 14

base+ball=games. What is g+a+m+e+s?
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A.21 B. 23 C.25 D. 29
lets+wave=later. What is |+a+t+e+r?
A.12 B. 13 C.14 D. 15

donald+gerald=robert. What is r+o+b+e+r+t?

A.22 B. 24 C.26 D.2
Scd, tef, ugh, , WKI
A.cmn B.uji C.vij D. Ijt

Fag, gaf, hai, iah,

A.jak B. Hal C.Hal D. Hai

Elfa, glha, ilja, _ , mlna

A. Olpa B.Klma C. LIma D. Klla
Elf+elf=fool. What is f+o+0+1?

All B. 12 C. 13 D.14

Roads+cross=danger. What is d+a+n+g+e+r?

A. 28 B.31 C.33 D. 35

Rab, scd, tef, | vij

A.gvh B. Ugh C. Uvg D.hgu

Srq, pon, mlk,  gfe

A. ljh B. Jih C. Jhi D. Ihj

Kel, Ifm, mgn, nho, oip,

A.jpo B. Pjo C. Pjq D. None of these
E2hi, , ehi4, e5hi, eh6i

A. Eh3i B. Ei3h C.12e3h  D. None of these

The students who apply to engineering colleges drop out because of lack of guidance.

A. True B. False C. Neutral D. Not applicable

The students are not responsible for the decisions that they take to join engineering.

A. True B. False C. Neutral D. Not applicable

There is a massive difference between what a college expects than a school from its students.
A. True B. False C. Neutral D. Not applicable

The students must have clear picture of what they want to become after engineering right from 1st year
of engineering.
A. True B. False C. Neutral D. Not applicable

The students must not approach the library for referring to books which is prescribed in the syllabus.
A. True B. False C. Neutral D. Not applicable

An engineer, in order to be performing well in their career must have only technical knowledge.

A. True B. False C. Neutral D. Not applicable

Engineers are the reasons for which the commerce, trade and marketing has experienced drastic
improvement.
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A. True B. False C. Neutral D. Not applicable

In order to be an effective engineer, one must pay closer and keen attention to minutest details.

A. True B. False C. Neutral D. Not applicable

Engineers do not require leadership as well as management skills.

A. True B. False C. Neutral D. Not applicable

Engineers know the value of time.

A. True B. False C. Neutral D. Not applicable
mom is on the phone.

A.You B. Your C.You’re D. Yours

looking a lot better than you diD.
A. You B. Your C.You’re D.Yours
If in town, come by and see us.

A.You B.Your C. You’re D. Yours
If you do it again certain to get sent to the office.

A.You B.Your C.You're D. Yours

Was it brother i saw last week?

A.You B. Your C.You're D. Yours
| hope that happy in your new joB.

A.You B. Your C. You're D. Yours

I hope you get lots of presents on birthday.

A.You B. Your C.You're D. Yours
not going out looking like that.

A.You B. Your C.Youre D.Yours

I'm coming over to house to sort this out.

A.You B. Your C.Youre D.Yours

Do you know where going?

A. You B. Your C.You're D. Yours

The applause showed how deeply the presentation had the audience.
A. Affect B. Effect C. Affected D. Effected

His attitude was by his upbringing.

A. Affect B. Effect C. Affected D. Effected

No matter what he does, it will have no on me.

A. Affect B. Effect C. Affected D. Effected

No matter what he does, it will not me.

PTO
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A. Affect B. Effect C. Affected D. Effected

How was the team by the loss of their coach?

A. Affect B. Effect C. Affected D. Effected

What is the type of introduction called, when it is required to introduce yourself in quick time frame?
A. Self introduction B. Group introduction C. Elevator introduction ~ D. None of these
Choose the best option which suits the best for professional introduction.

A. Dress appropriately B. Keep eye contact C. Be confident D. All of these

A non — formally prepared speech is calleD.

A. Extempore speaking B. Presentation C. Debate D. None of these

Which of these element is not involved in the process of communication?

A. Pipe B. Sender C. Message D. Channel

Which of these is the third element of communication?

A. Sender B. Reciver C. Channel D. Message

Which of these is the most important tool of communication?

A. Body language B. Gestures C. Language D. Posture

Which of these must be avoided in any presentation?

A. Proper grammar B. Complex words  C. Short sentences D. Clear voice
Which of these is not important in an oral presentation?

A. Words B. Body language C. Gestures D. Audience size
Which of these is the best way to establish a proper rapport with audience?

A. Pointing finger B. Making eye contact C. Waving hands D.standing erect

In an oral presentation, the speaker should not

A. Panic B. Pause C. Making eye contact D. Inspire
Which number among the following is divisible by 7?

ATT754 B. 7666 C. 77784 D. 5643

Which number among the following is divisible by 8?
A.762928 B. 220953 C. 19537455 D. None of these

Which number among the following is divisible by both 7 and 11?
A.4540074 B. 293076 C. 1793498 D. 5740702
Which of the following number is divisible by 63?

A.492815 B. 4107872 C. 5893407 D. 6221628
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Which number is divisible by 18?

A.52794 B. 432181 C. 1725516 D. None of these
PTO
What is the unit digit in the product (365 x 659 x 771)?
Al B.2 C.4 D.6
What is the unit digit in 7105
a.l B.5 C.7 D.9

How many 3-digit numbers are completely divisible 6?

a. 140 B. 150 C.151 D. 166
(112 +122 + 132 +... +202) = ?
A. 398 B. 2485 C. 4232 D.1563

What is the unit digit in(795 - 358)?

A0 B.4 C.6 D. 7
What will be remainder when 17200 is divided by 18 ?
a. 17 B. 16 C.1 D.2

When a number is divided by 13, the remainder is 11. When the same number is divided by 17, then
remainder is 9. What is the number?
A. 339 B. 349 C. 369 D. None of these

In a division sum, the divisor is 10 times the quotient and 5 times the remainder. If the remainder is 46,
what is the dividend?
A. 4236 B. 4036 C. 4336 D. 5336

On dividing a number by 357, we get 39 as remainder. On dividing the same number 17, what will be the
remainder?
A.0 B.3 C.5 D.11

On dividing a number by 5, we get 3 as remainder. What will the remainder when the square of the
number is divided by 5?
A.0 B.1 C.2 D.4

How many of the following numbers are divisible by 3 but not by 9 ?
2133, 2343, 3474, 4131, 5286, 5340, 6336, 7347, 8115, 9276
a.b B. 6 C. 7 D. None of these

The difference between the place value and the face value of 6 in the numeral 856973 is
a. 973 B. 5994 C. 5973 D. 435

The smallest 6 digit number exactly divisible by 111 is:

a. 111111 B. 11077 C. 100011 D. 2233109

The largest 5 digit number exactly divisible by 91 is:

a. 88899 B. 99918 C. 45361 D. 98978
What is the unit digit in (4137)754?
a.l B.3 C.7 D.9

Read the following passages and answer the questions given below
(991 - 100)
The greening of the aged
1. A visit to most homes for the aged is so depressing that second visits are uncommon. The men and
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women we see there are listless, unresponsive, and often incapable of performing simple tasks. They
appear unmotivated, uninterested, and turned away from others. Their debilitated physical and emotional
condition is not a necessary consequence of old age. Rather, it is the inevitable result of being treated
like a passive object in an institutional setting.

2. Recently, two young researchers from yale university, ellen langer and judith rodin, decided to see
whether they could reverse the debilitated condition of residents in one of these old-age homes (1976).
Their sample consisted of 91 residents, aged 65 to 90, all well enough to be walking about. The
investigators reasoned that the crucial psychological process missing in such institutions was taking
responsibility for one’s own decisions. To be an actor in life’s drama, we must act, decide, and be
responsible for the consequences. To let others decide for us is to lose the main ingredient in self-esteem
and competence.

How are the residents of old age homes described in paragraph 1?

A. Healthy B. Sad C. Uncommon D. Weak, poor and troubled

According to the author, what is the reason for their poor condition?

A. Left out feel B. Uninterested C. Ill treated like a passive object D. None of these
(par. 2) what was the researchers’ hypothesis; i.e., what idea was their research based on?

A. Improving self esteem B. Taking responsibility C. Less competence D. Change the condition of
the poor
(par. 2) what is the main ingredient in self-esteem and confidence?

A. Act and decide B. Decision making C. Debilated condition D.none of these

3. Accordingly, about half of the participants in the study were randomly assigned to a situation in which
they received instructions that emphasized the need for them to take more responsibility for caring for
themselves and for improving the quality of life in the home. They were then asked to choose a plant
from among a box of them as a present — but they were told they had to care for it. In contrast, the second
group of patients was given instructions that stressed the responsibility of the staff to provide good
services for the residents. They were handed a plant as a present and informed that the nurses would
water it for them.

4. The results of the enhanced sense of personal responsibility were dramatiC. On questionnaire ratings
and behavioral measures, the experimental group (“i’ll do it myself”) showed significant improvement
over the comparison group (“let george do it for you”) on alertness, active participation, and general
sense of well-being.

(par. 4) how did the researchers measure the results of the study?

A. Questionnaire ratings B. Behavioral meausres C.questionnaire  ratings and  behavioral
measures D. None of these
Which group improved more?

A. Experimental B. Comparison C. Both D. None of these
In what areas did the better group show improvement?
A. Alertness B. Active participation C. Sense of well being D. All of these

5. Eighteen months later, these positive results still persisted, as indicated by the nurses’ higher ratings of
the happiness, sociability, and vigor of the personally responsible group. But most startling of all,
encouraging the residents to be responsible for themselves and their plants made them live longer! The
overall death rate for the entire nursing home during an eighteen-month period prior to the experiment
was 25 percent. Following the experiment, only 15 percent of the personally responsible residents died,
compared to twice as many for the no-responsibility group.

6. In conclusion, psychological interventions of this kind not only improve mood and attitudes; they
seem to affect the very process of life and death itself.

(par. 5) how were results 18 months later?

A. Results perished B. No change C. Results remained D. None of these
What was the most surprising finding of the study?

A. None changed B. Residents became brave C. Their plants made them live longer
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D. None of these
100 Choose the correct conclusion from the options given below.

A. Residents can be changed  B. Psychological interventions help residents  C. People will not die

D. None of these
**kk
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Question Paper Version — A

Answer all the questions 100X1=100

1

Employees desire professionals who do which of the following?

A. Treat others respectfully only when they deserve it

B. Speak their minds and talks over others

C. Listen actively, honor commitments, and seek help when needed
D. Discuss personal issues with coworkers

Your emails should be generally:

A. Brief and to the point, but well-written B. Long and vague
C. Riddled with errors D. Passage

When you get a personal phone call in a meeting, you:

A. Ignore it and call them back later

B. Excuse yourself and take it outside briefly
C. Answer and have a loud conversation

D. None of the above

Unlike social etiquette, office and bussiness etiquette are primarly based on
A. Hierarchy and power B. Personal relation
C. Common sense D. Option Aand C

Your friend from college joins your company in a superior role to you. How should you interact with her
in the office?

A. Talk informally and don’t take her seriously

B. Show jealousy

C. Break friendship ties and maintain only professional relationship
D. Treat her like a superior in the office and as a friend outside

The key elements of presentation are:

A. Presenter B. The message and the medium
C. Duration and time D. All of the above

Topic identification is level one regiuirement for a formal presentation

A.Yes B. No
C. Maybe D.Bothaand c

How many pumps does a proffesional handshake require?

A.3 B.4
C.5 D. Two and a grab of the forearm
PTO
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A text is more efficient than an email when letting someone know you are running behind.

A. True B. False
C. Maybe D. None of the above

Is the most important thing you must do before you leave a party?

A. Get business card from a new contact
B. Ask for a doggie bag

C. Say goodbye to the host
D.BothAand C

What does the outdated term “turning the table” mean?

A. Talk to the person on your left side during the first course, and rotate sides after each course
B. Move the table to be closer to the dessert buffet

C. Change seating throughout the course of a dinner party

D. None

During an in-person conversation, what percent of your message is delievered through your spoken
words?

A. 7% B.38%

C. 55% D. 43%

When is the most gracious time to respond to an invitation?

A. Within 24 hours of receiving the invitation
B. Within one week of receiving the invitation
C. Anytime

D.Both Aand C

You can tell a lot about a person by their handshake. The double handshake, (where the person places
their second hand on top of yours), is likely to be used by

A. Someone who tends to dominate in the meetings

B. Someone who is submissive

C. Someone who trusts you and wants you to trust them

D. None

Eye contact is an important part of communication, and a lack of it can imply deception. To avoid staring
at somebody, how can you naturally strike a balance?

A. When breaking eye contact, look to the left or to the right
B. Look down at the floor every 30 seconds or so

C. Look just past the person

D. None

When you stand up to talk in front of a group of people, what can you do to exude confidence?

A. Strike a wide stance

B. Try to position a desk or table between you and your audience
C. Clasp your hands in front of you

D. Both A and B

Which of these signals suggest the person you are speaking to might not be telling the whole truth?

A. They make steady eye contact

B. They make frequent hand to face touches, including attempts to cover their mouth
C. They answer you fairly promptly

D.Both Aand C

You need to ask some tough questions about your team’s performance, and you notice that your team
leader’s leg is shaking. Does that suggest?

A. He’s feeling bored by the conversation

B. He’s feeling jittery about your line of questioning
C. He is exuding confidence

D. None
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While addressing a senior member of your team about staffing changes, she suddenly crosses her arms.
Do you take that to mean?

A. She suddenly feels cold

B. She’s not sure what to do with her hands

C. She is feeling defenseless, and is trying to shut out what is being proposed

D. None

Using your hands while you talk can communicate a range of meanings, from enthusiasm and passion, to
a lack of control. What would calm rounded hand gestures say to you?

A. “’m open and clear”

B. “i think i’m in trouble”

C. “’m feeling over the moon”

D. None

Listening means to respond to advice or request

A. True B. False C. Maybe D. None
Which of these is not a step in the listening process?

A. To stop talking B. Receiving

C. Misinterpreting D. Responding

Which of these is the first step in the listening process?
A. Stop talking B. Receiving

C. Interpreting D. Responding

Which of these is the third step in the listening process?
A. Stop talking B. Interpreting

C. Responding D. Receiving

Is the last step of the listening process.

A. Receiving B. Interpreting
C. Responding D. Stop talking

Hearing means perceiving with ears.

A. True B. False C. Maybe D. None
Which of these is not a type of listening?

A. Appreciative listening B. Superficial listening

C. Focused listening D. Musical listening

Which of these types of listening lacks depth?

A. Appreciative listening B. Superficial listening
C. Focused listening D. Evaluative listening

In which of these types of listening, does the listener feel grateful?

A. Superficial listening B. Attentive listening

C. Appreciative listening D. Evaluative listening
Which of these types of listening is followed by skilled listeners?
A. Focused listening B. Evaluative listening
C. Attentive listening D. Empathetic listening
In which of these, the listener puts himself in place of the speaker?
A. Focused listening B. Evaluative listening
C. Attentive listening D. Empathetic listening
Body language can make or break a speech

A. True B. False C. Maybe D. None
Which of these is the study and classification of speech sounds?
A. Gestures B. Speech style

C. Phonetics D. Spoof

PTO
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Which of these is not an element of the speaking technique?

A. Voice quality B. Word stress
C. Appearance D. Correct tones

Which of these means giving emphasis to a syllable

A. Voice quality B. Word stress

C. Tone D. Message

Which of these factors is not involved in the determination of correct tone?
A. Pitch B. Dressing style

C. Quality D. Strength

Which of these is not a type of tone?

A. Urgent tone B. Serious tone

C. Restrained tone D. Jumping tone

Which of these tones represent thoughtfulness?

A. Serious tone B. Urgent tone

C. Happy tone D. Outraged tone
Which of these tones is an unemotional tone?

A. Happy tone B. Outraged tone
C. Restrained tone D. Humorous tone

Tone is used when speaker wants to bring about a good impression of her life.

A. Outraged B. Reflective

C. Restrained D. Urgent

On is used in speaking of things in motion.

A. True B. False C. Maybe D. None
Fill in the blank. The dog sprang him.

A. On B. Upon C.In D. Over

Till is used for time.

A. True B. False C. Maybe D. None

Which of these comes immediately after the noun?
A. Adverb phrase B. Adjective phrase
C. Verb phrase D. Pronoun phrase
Which of these statements is false?

A. The subject should usually follow the verb.
B. The object usually comes after the verb.

C. When there is an indirect object and a direct object, the indirect precedes the direct.
D. When the adjective is used attributively it comes before the noun which it qualifies.

Every statement must have a subject and a

A. Noun B. Verb C. Predicate D. Phrase
Choose the correct statement.

A. Do not make friend with selfish people.

B. Do not make friendship with selfish people.
C. Do not make friends with selfish people.

D. Do not make friendly with selfish people.

Choose the correct statement.

A. She doesn’t know the reason for his disappearance.
B. She doesn’t know the reason of his disappearance.
C. She doesn’t know the reason at his disappearance.
D. She doesn’t know the reason with his disappearance

Some students are at copying.
A. Adapt B. Adept C. Adopt D. Edept
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Father me not to go out in the cold.

A. Advised B. Advised C. Advice D. Advise
Fill in the blank. | advised her _ drinkit.

A.Don’t B. Not to C. To not D. To don’t
Choose the correct statement.

A. He obtained passing marks. B. He obtained pass marks.

C. He obtained passed marks. D. He obtained passing mark.

Choose the correct statement.

A. Anil talks french well. B. Anil chats french well.

C. Anil speaks french well. D. Anil talk french well.
Choose the correct statement.

A. The ship was drowned. B. The ship drowned.
C. The ship sank. D. The ship had sank

Choose the correct statement

A. It is they who has to leave this place.
B. It is they who have to leave this place.
C. It is them who has to leave this place.
D. It is them who have to leave this place

Fill in the blank.
Offerings made upon the
A. Altar B. Alter C. Altar D. Alter

Which of the following statements is incorrect?

A. A letter must be written in one single paragraph.
B. A letter must be complete in all respects.

C. A letter must be written in legible handwriting.
D. A letter must be properly punctuated.

Which of these is an example of courteous leave taking?
A. Yours sincerely B. Yours sincerely,

C. Yours sincerely D. Sincerely

Where should the signature of the writer be placed?

A. Above the courteous leave taking

B. Below the courteous leave taking

C. Next to the courteous leave taking

D. On the envelope

What is the information endorsed on the envelope?

A.Name _B. Address C. Name and address D. Name and date
Inthe following question, choose the correct code form.

If “air’ is called ‘green’, ‘green’ is called ‘red’, ‘red’ is called ‘sea’, ‘sea’ is called ‘blue’, ‘blue’ is called
‘water’ and ‘water’ is called ‘pink’, then what is the color of grass?

A. Green B. Air
C. Red D. Pink

In the following question, choose the correct code form.
According to new terminology, ‘aries’ means ‘air’, ‘taurus’ means ‘light’, ‘libra’ means ‘water’ and
‘scorpio’ means ‘earth’. What would an organism breathe in?

A. Aries B. Taurus C. Libra D. Scorpio
Choose the word which is least like the other words in the group.

A. Grenade B. Katana
C. Shotgun D. Rifle PTO
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Choose the word which is not similar to the other words in the group.
A. Peas B. Cabbage C. Spinach
D. Tomato

Solve the following question and choose the correct alternative from the following.
1, 2, 3,4, and 5 are sitting in row but not necessarily in that order.

All of them are sitting in a row with their backs toward north.

3 is immediate right to 5 and 4 is immediate left to 1. Only 2 is between 1 and 5.
Which of the following are at the extreme ends?

A.3,4 B.2,5 C.21 D.4,5

In the following question, choose the correct code form.

If, in a language, ‘one’ is called ‘two’, ‘two’ is called ‘three’, ‘three’ is called ‘four’, ‘four’ is called ‘five’
and ‘five’ is called ‘six’.

Then what is the square of number 2?

A. Three B. Four C. Five D. Six

If ‘dog’ is called ‘lion’, ‘lion’ is called ‘bison’, ‘bison’ is called ‘snake’, ‘snake’ is called ‘mongoose’,
‘mongoose’ is called ‘crocodile’, then which one is reared as pet?

A. Lion B. Bison C. Snake

D. Mongoose

Choose the word which is least like the other words in the group.

A. Timor B. India

C. Rhodes D. Borneo

Choose the word which is not similar to the other words in the group.
A. Bonnet B. Fender

C. Dashboard D. Hubcap

Read the following information to answer the given question.

Five brothers are standing in a row facing north.

Tony is not adjacent to bony or mony. Sony is not-adjacent to bony. Tony is adjacent to dony. Dony is at
the middle in the row.

Then, which pair is at the extreme ends?

A. Tony, dony B. Dony, bony

C. Sony, mony D. Mony, tony

Read the following information to answer the given question.

There are seven monkeys sitting in a row - annie, bonnie, connie, donnie, earnie, fernie and genie.
Genie is to the right of donnie and to the left of bonnie.

Annie is on the right of connie.

Annie and donnie have one monkey between them.

Earnie and bonnie have two monkeys between them.

Donnie and fernie have two monkeys between them.

Who is on the immediate right of bonnie?

A. Donnie B. Earnie C. Genie D. Fernie

If ‘blue’ means ‘green’, ‘green’ means ‘yellow’, ‘yellow’ means ‘orange’, ‘orange’ means ‘black’,
‘black’ means ‘white’, ‘white’ means ‘red’, ‘red” means ‘pink’, ‘pink’ means ‘brown’, ‘brown’ means
‘grey’, then what is the color of human blood?

A. Black B. Red C. White D. Orange

In the following question, choose the correct code form.
The number/word group in the question is to be codified according to the following letter codes:

Number 9 8 7 6 5 4 3 2 1 0
Letter Q U I C K L Y R 0] D
13311728

A. OYYOOIRU B. OYYOIROU

C. OYYORIOU D. OYYOUIRO
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In the following question, choose the correct code form.
The number/word group in the question is to be codified according to the following letter codes (use the
same table mentioned above)

Number 9 8 7 6 5 4 3 2 1 0
Letter Q U I C K L Y R ) D
08121993

A. DUROOQQY B. DUOROQQY

C. DOUROYQY D. DOUROYQQ

Choose the word which is least like the other words in the group.

A. Coconut B. Flax

C. Castor D. Mustard

Choose the word which is not similar to the other words in the group.

A. Joey B. Filly
C. Gosling D. Vixen

Read the following information to answer the given question.

There are seven monkeys sitting in a row - annie, bonnie, connie, donnie, earnie, fernie and genie.
Genie is to the right of donnie and to the left of bonnie.

Annie is on the right of connie.

Annie and donnie have one monkey between them.

Earnie and bonnie have two monkeys between them.

Donnie and fernie have two monkeys between them.

Who is exactly on the right of one that is exactly in the middle?

A. Donnie B. Connie
C. Annie D. Genie

Read the following information to answer the given question.

There are seven monkeys sitting in a row - annie, bonnie, connie, donnie, earnie, fernie and genie.
Genie is to the right of donnie and to the left of bonnie.

Annie is on the right of connie.

Annie and donnie have one monkey between them.

Earnie and bonnie have two monkeys between them.

Donnie and fernie have two monkeys between them.

Who is on the second position from the left?

A. Annie B. Bonnie

C. Connie D. Donnie

Technical writing is same as general writing.

A. True B. False C. Maybe D. None
Technical writing demands use of language.
A. Figurative B. Poetic C. Factual D. Dramatic

Which of these must be avoided in technical writing?
A. Facts B. Grammar C. Punctuation D. Personal feelings

Which of these words is used in technical writing?

A. Apex B. Top

C. Slanting D. Bottom
Which of these is a technical word for slanting?
A. Lateral B. Sloping

C. Tilting D. Bent

PTO
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Familiar words must be used in technical writing.

A. True B. False C. Maybe D. None
A scientist gets his special words from language

A. Latin B. English

C. French D. Italian

Trigonometry is a word.

A. French B. German

C. Indian D. Greek

Which of these means bioscope?

A. Math B. Science C. Cinema D. Binoculars
Electricity is derived from language
A. Indian B. Greek C. French D. Italian

Which of these reports are used in business?

A. Formal technical reports B. Informal reports
C. Personal reports D. Musical reports

Which of these forms is not used to write a non-formal report?

A. Filling in a blank form B. App
C. Form of a letter D. Memorandum

A non- formal report may be written by filling in a blank form.
A. True B. False C. Maybe D. None

In which of these forms is a non-formal letter not written?

A. Filling in a blank form B. Form of a letter
C. Form of a memorandum D. Formal of a notice

A non- formal report written in the form of a letter is similar to a

A. Friendly letter B. Business letter

C. Complaint letter D. Notice

A memorandum is almost like a letter.

A. True B. False C. Maybe D. None
Which of these forms does a formal report not take?

A. Essay B. Pamphlet C. Friendly letter D. Book

Which of these is not a type of a report?
A. Periodic B. Progress C. Trouble D. Fancy

Which of these reports contains information of a routine nature?
A. Periodic report B. Progress report C. Trouble report  D. Laboratory repo

Report includes breakdown of machinery.

A. Feasibility B. Periodic C. Trouble D. Progress

Asummaryis____ of the original report.

A. 2-5 percent B. 5-10 percent C. 12-15 percent  D. 15-20 percent

An abstractis __ of the original report.

A. 2-5 percent B. 5-10 percent C. 6-12 percent D. 7-13 percent
**k*k*k
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Question Paper Version — B

Answer all the questions 100X1=100
1 Fill in the blank. I advised her drink it.
A. Don’t B. Not to C. To not D. To don’t
2 Choose the correct statement.
A. He obtained passing marks. B. He obtained pass marks.
C. He obtained passed marks. D. He obtained passing mark.
3 Choose the correct statement.
A. Anil talks french well. B. Anil chats french well.
C. Anil speaks french well. D. Anil talk french well.
4 Choose the correct statement.
A. The ship was drowned. B. The ship drowned.
C. The ship sank. D. The ship had sank
5 Choose the correct statement
A. It is they who has to leave this place.
B. It is they who have to leave this place.
C. It is them who has to leave this place.
D. It is them who have to leave this place
6 Fill in the blank.
Offerings made upon the
A. Altar B. Alter C. Altar D. Alter
7 Which of the following statements is incorrect?
A. A letter must be written in one single paragraph.
B. A letter must be complete in all respects.
C. A letter must be written in legible handwriting.
D. A letter must be properly punctuated.
8 Which of these is an example of courteous leave taking?
A. Yours sincerely B. Yours sincerely,
C. Yours sincerely D. Sincerely
9 Where should the signature of the writer be placed?

A. Above the courteous leave taking
B. Below the courteous leave taking
C. Next to the courteous leave taking
D. On the envelope

PTO
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What is the information endorsed on the envelope?

A.Name B. Address C. Name and address D. Name and date

In the following question, choose the correct code form.

If “air’ is called ‘green’, ‘green’ is called ‘red’, ‘red’ is called ‘sea’, ‘sea’ is called ‘blue’, ‘blue’ is called

‘water’ and ‘water’ is called ‘pink’, then what is the color of grass?

A. Green B. Air
C.Red D. Pink

In the following question, choose the correct code form.

According to new terminology, ‘aries’ means ‘air’, ‘taurus’ means ‘light’, ‘libra’ means ‘water’ and

‘scorpio’ means ‘earth’. What would an organism breathe in?

A. Aries B. Taurus C. Libra

Choose the word which is least like the other words in the group.

A. Grenade B. Katana C. Shotgun

D. Rifle

Choose the word which is not similar to the other words in the group.
A. Peas B. Cabbage C. Spinach

D. Tomato

Solve the following question and choose the correct alternative from the following.

1, 2, 3,4, and 5 are sitting in row but not necessarily in that order.
All of them are sitting in a row with their backs toward north.

3 is immediate right to 5 and 4 is immediate left to 1. Only 2 is between 1 and 5.

Which of the following are at the extreme ends?
A. 3,4 B.2,5 C.21 D.4,5

In the following question, choose the correct code form.

If, in a language, ‘one’ is called ‘two’, ‘two’ is called ‘three’, ‘three’ is called ‘four’, ‘four’ is called ‘five’

and ‘five’ is called ‘six’.
Then what is the square of number 2?
A. Three B. Four C. Five D. Six

If “‘dog’ is called ‘lion’, ‘lion’ is called ‘bison’, ‘bison’ is called ‘snake’, ‘snake’ is called ‘mongoose’,

‘mongoose’ is called ‘crocodile’, then which one is reared as pet?

A. Lion B. Bison C. Snake

D. Mongoose

Choose the word which is least like the other words in the group.

A. Timor B. India

C. Rhodes D. Borneo

Choose the word which is not similar to the other words in the group.
A. Bonnet B. Fender

C. Dashboard D. Hubcap

Read the following information to answer the given question.
Five brothers are standing in a row facing north.

Tony is not adjacent to bony or mony. Sony is not adjacent to bony. Tony is adjacent to dony. Dony is at

the middle in the row.

Then, which pair is at the extreme ends?
A. Tony, dony B. Dony, bony
C. Sony, mony D. Mony, tony
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Read the following information to answer the given guestion.

There are seven monkeys sitting in a row - annie, bonnie, connie, donnie, earnie, fernie and genie.
Genie is to the right of donnie and to the left of bonnie.

Annie is on the right of connie.

Annie and donnie have one monkey between them.

Earnie and bonnie have two monkeys between them.

Donnie and fernie have two monkeys between them.

Who is on the immediate right of bonnie?

A. Donnie B. Earnie C. Genie D. Fernie

If ‘blue’ means ‘green’, ‘green’ means ‘yellow’, ‘yellow’ means ‘orange’, ‘orange’ means ‘black’,
‘black’ means ‘white’, ‘white’ means ‘red’, ‘red’ means ‘pink’, ‘pink’ means ‘brown’, ‘brown’ means
‘grey’, then what is the color of human blood?

A. Black B. Red C. White D. Orange

In the following question, choose the correct code form.
The number/word group in the question is to be codified according to the following letter codes:

Number 9 8 7 6 5 4 3 2 1 0
Letter Q U I Cc K L Y R O D
13311728
A.OYYOOIRU B. OYYOIROU

C.OYYORIOU D. OYYOUIRO

In the following question, choose the correct code form.
The number/word group in the question is to be codified according to the following letter codes (use the
same table mentioned above)

Number 9 8 7 6 5 4 3 2 1 0
Letter Q U | C K L Y R (0] D
08121993

A. DUROOQQY B. DUOROQQY

C. DOUROYQY D. DOUROYQQ

Choose the word whichis least like the other words in the group.

A. Coconut B. Flax

C. Castor D. Mustard

Choose the word which is not similar to the other words in the group.

A. Joey B. Filly
C. Gosling D. Vixen

Read the following information to answer the given question.

There are seven monkeys sitting in a row - annie, bonnie, connie, donnie, earnie, fernie and genie.
Genie is to the right of donnie and to the left of bonnie.

Annie is on the right of connie.

Annie and donnie have one monkey between them.

Earnie and bonnie have two monkeys between them.

Donnie and fernie have two monkeys between them.

Who is exactly on the right of one that is exactly in the middle?

A. Donnie B. Connie
C. Annie D. Genie PTO
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Read the following information to answer the given question.

There are seven monkeys sitting in a row - annie, bonnie, connie, donnie, earnie, fernie and genie.
Genie is to the right of donnie and to the left of bonnie.

Annie is on the right of connie.

Annie and donnie have one monkey between them.

Earnie and bonnie have two monkeys between them.

Donnie and fernie have two monkeys between them.

Who is on the second position from the left?

A. Annie B. Bonnie
C. Connie D. Donnie

Technical writing is same as general writing.

A. True B. False C. Maybe D. None
Technical writing demands use of language.
A. Figurative B. Poetic C. Factual D. Dramatic

Which of these must be avoided in technical writing?
A. Facts B. Grammar C. Punctuation D. Personal feelings

Which of these words is used in technical writing?

A. Apex B. Top

C. Slanting D. Bottom
Which of these is a technical word for slanting?
A. Lateral B. Sloping

C. Tilting D. Bent

Familiar words must be used in technical writing.

A. True B. False C. Maybe D. None
A scientist gets his special words from language

A. Latin B. English

C. French D. Italian

Trigonometry is a word.

A. French B. German

C. Indian D. Greek

Which of these means bioscope?

A. Math B. Science C. Cinema D. Binoculars
Electricity is derived from language

A. Indian B. Greek C. French D. Italian

Which of these reports are used in business?

A. Formal technical reports B. Informal reports

C. Personal reports D. Musical reports

Which of these forms is not used to write a non-formal report?

A. Filling in a blank form B. App
C. Form of a letter D. Memorandum

A non- formal report may be written by filling in a blank form.
A. True B. False C. Maybe D. None

In which of these forms is a non-formal letter not written?

A. Filling in a blank form B. Form of a letter
C. Form of a memorandum D. Formal of a notice
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A non- formal report written in the form of a letter is similar to a

A. Friendly letter B. Business letter

C. Complaint letter D. Notice

A memorandum is almost like a letter.

A. True B. False C. Maybe D. None
Which of these forms does a formal report not take?

A. Essay B. Pamphlet C. Friendly letter D. Book

Which of these is not a type of a report?
A. Periodic B. Progress C. Trouble D. Fancy

Which of these reports contains information of a routine nature?
A. Periodic report B. Progress report C. Trouble report  D. Laboratory repo

Report includes breakdown of machinery.

A. Feasibility B. Periodic C. Trouble D. Progress

Asummaryis ___ of the original report.

A. 2-5 percent B. 5-10 percent C. 12-15 percent D. 15-20 percent

An abstractis ____ of the original report.

A. 2-5 percent B. 5-10 percent C. 6-12 percent D. 7-13 percent

Employees desire professionals who do which of the following?

A. Treat others respectfully only when they deserve it

B. Speak their minds and talks over others

C. Listen actively, honour commitments, and seek help when needed
D. Discuss personal issues with co-workers

Your emails should be generally:

A. Brief and to the point, but well-written B. Long and vague
C. Riddled with errors D. Passage

When you get a personal phone call in a meeting, you:

A. Ignore it and call them back later

B. Excuse yourself and take it outside briefly
C. Answer and have a loud conversation

D. None of the above

Unlike social etiquette, office and business etiquette are primarily based on

A. Hierarchy and power B. Personal relation
C. Common sense D. Option Aand C

Your friend from college joins your company in a superior role to you. How should you interact with her
in the office?

A. Talk informally and don’t take her seriously

B. Show jealousy

C. Break friendship ties and maintain only professional relationship
D. Treat her like a superior in the office and as a friend outside

The key elements of presentation are:

A. Presenter B. The message and the medium
C. Duration and time D. All of the above

Topic identification is level one requirement for a formal presentation

A.Yes B. No
C. Maybe D. Both Aand C
PTO
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How many pumps does a professional handshake require?

A3 B. 4 C.5 D. Two and a grab of the forearm
A text is more efficient than an email when letting someone know you are running behind.
A. True B. False

C. Maybe D. None of the above

Is the most important thing you must do before you leave a party?

A. Get business card from a new contact
B. Ask for a doggie bag

C. Say goodbye to the host

D. BothAand C

What does the outdated term “turning the table” mean?

A. Talk to the person on your left side during the first course, and rotate  sides after each course
B. Move the table to be closer to the dessert buffet

C. Change seating throughout the course of a dinner party

D. None

During an in-person conversation, what percent of your message is delievered through your spoken
words?

A. 7% B.38% C. 55% D. 43%

When is the most gracious time to respond to an invitation?

A. Within 24 hours of receiving the invitation
B. Within one week of receiving the invitation
C. Anytime

D.Both Aand C

You can tell a lot about a person by their handshake. The double handshake, (where the person places
their second hand on top of yours), is likely to be used by

A. Someone who tends to dominate in the meetings

B. Someone who is submissive

C. Someone who trusts you and wants you to trust them

D. None

Eye contact is an important part of communication, and a lack of it can imply deception. To avoid staring
at somebody, how can you naturally strike a balance?

A. When breaking eye contact, look to the left or to the right
B. Look down at the floor every 30 seconds or so

C. Look just past the person

D. None

When you stand up to talk in front of a group of people, what can you do to exude confidence?

A. Strike a wide stance

B. Try to position a desk or table between you and your audience
C. Clasp your hands in front of you

D. Both Aand B

Which of these signals suggest the person you are speaking to might not be telling the whole truth?

A. They make steady eye contact

B. They make frequent hand to face touches, including attempts to cover their mouth
C. They answer you fairly promptly

D.Both Aand C

You need to ask some tough questions about your team’s performance, and you notice that your team
leader’s leg is shaking. Does that suggest?

A. He’s feeling bored by the conversation

B. He’s feeling jittery about your line of questioning
C. He is exuding confidence

D. None
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While addressing a senior member of your team about staffing changes, she suddenly crosses her arms.
Do you take that to mean?

A. She suddenly feels cold

B. She’s not sure what to do with her hands

C. She is feeling defenseless, and is trying to shut out what is being proposed

D. None

Using your hands while you talk can communicate a range of meanings, from enthusiasm and passion, to
a lack of control. What would calm rounded hand gestures say to you?

A. “’m open and clear”

B. “i think i’m in trouble”

C. “’m feeling over the moon”

D. None

Listening means to respond to advice or request

A. True B. False C. Maybe D. None
Which of these is not a step in the listening process?

A. To stop talking B. receiving

C. Misinterpreting D. Responding

Which of these is the first step in the listening process?
A. Stop talking B. Receiving

C. Interpreting D. Responding

Which of these is the third step in the listening process?
A. Stop talking B. Interpreting

C. Responding D. Receiving

Is the last step of the listening process.

A. Receiving B. Interpreting
C. Responding D. Stop talking

Hearing means perceiving with ears.

A. True B. False C. Maybe D. None
Which of these is not a type of listening?

A. Appreciative listening B. Superficial listening

C. Focused listening D. Musical listening

Which of these types of listening lacks depth?

A. Appreciative listening B. Superficial listening
C. Focused listening D. Evaluative listening

In which of these types of listening, does the listener feel grateful?

A. Superficial listening B. Attentive listening

C. Appreciative listening D. Evaluative listening
Which of these types of listening is followed by skilled listeners?
A. Focused listening B. Evaluative listening
C. Attentive listening D. Empathetic listening
In which of these, the listener puts himself in place of the speaker?
A. Focused listening B. Evaluative listening
C. Attentive listening D. Empathetic listening
Body language can make or break a speech

A. True B. False C. Maybe D. None
Which of these is the study and classification of speech sounds?
A. Gestures B. Speech style

C. Phonetics D. Spoof

PTO
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Which of these is not an element of the speaking technique?

A. Voice quality B. Word stress
C. Appearance D. Correct tones

Which of these means giving emphasis to a syllable

A. Voice quality B. Word stress

C. Tone D. Message

Which of these factors is not involved in the determination of correct tone?

A. Pitch B. Dressing style

C. Quality D. Strength

Which of these is not a type of tone?

A. Urgent tone B. Serious tone  C. Restrained tone D. Jumping tone

Which of these tones represent thoughtfulness?
A. Serious tone B. Urgent tone C. Happy tone D. Outraged tone

Which of these tones is an unemotional tone?

A. Happy tone B. Outraged tone
C. Restrained tone D. Humorous tone

Tone is used when speaker wants to bring about a good impression of her life.

A. Outraged B. Reflective C. Restrained D. Urgent
On is used in speaking of things in motion.

A. True B. False C. Maybe D. None
Fill in the blank. The dog sprang ____ him.

A. On B. Upon C.In D. Over

Till is used for time.

A. True B. False C. Maybe D. None

Which of these comes immediately after the noun?

A. Adverb phrase B. Adjective phrase  C. Verb phrase D. Pronoun phrase
Which of these statements is false?

A. The subject should usually follow the verb.

B. The object usually comes after the verb.

C. When there is an indirect object and a direct object, the indirect precedes the direct.
D. When the adjective is used attributively it comes before the noun which it qualifies.

Every statement must have a subject and a

A. Noun B. Verb C. Predicate D. Phrase
Choose the correct statement.

A. Do not make friend with selfish people.

B. Do not make friendship with selfish people.
C. Do not make friends with selfish people.

D. Do not make friendly with selfish people.

Choose the correct statement.

A. She doesn’t know the reason for his disappearance.
B. She doesn’t know the reason of his disappearance.
C. She doesn’t know the reason at his disappearance.
D. She doesn’t know the reason with his disappearance

Some students are at copying.

A. Adapt B. Adept C. Adopt D. Edept
Father me not to go out in the cold.

A. Advised B. Advised C. Advice D. Advise

*kkk*k
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1

In the following question, choose the correct code form.

If “air’ is called ‘green’, ‘green’ is called ‘red’, ‘red’ is called ‘sea’, ‘sea’ is called ‘blue’, ‘blue’ is called
‘water’ and ‘water’ is called ‘pink’, then what is the color of grass?

A. Green B. Air

C. Red D. Pink

In the following question, choose the correct code form.

According to new terminology, ‘aries’ means ‘air’, ‘taurus’ means ‘light’, ‘libra’ means ‘water’ and
‘scorpio’ means ‘earth’. What would an organism breathe in?

A. Aries B. Taurus C. Libra D. Scorpio

Choose the word which is least like the other words in the group.

A. Grenade B. Katana C. Shotgun

D. Rifle

Choose the word which is not similar to the other words in the group.

A. Peas B. Cabbage C. Spinach

D. Tomato

Solve the following question and choose the correct alternative from the following.

1,2, 3, 4, and 5 are sitting in row but not necessarily in that order.

All of them are sitting in a row with their backs toward north.

3 is immediate right to 5 and 4 is immediate left to 1. Only 2 is between 1 and 5.

Which of the following are at the extreme ends?

A 34 B.2,5 cC.21 D.4,5

In the following question, choose the correct code form.

If, in a language, ‘one’ is called ‘two’, ‘two’ is called ‘three’, ‘three’ is called ‘four’, ‘four’ is called ‘five’
and “five’ is called ‘six’.

Then what is the square of number 2?

A. Three B. Four C. Five D. Six

If “‘dog’ is called ‘lion’, ‘lion’ is called ‘bison’, ‘bison’ is called ‘snake’, ‘snake’ is called ‘mongoose’,
‘mongoose’ is called ‘crocodile’, then which one is reared as pet?

A. Lion B. Bison C. Snake

D. Mongoose

Choose the word which is least like the other words in the group.

A. Timor B. India
C. Rhodes D. Borneo
Choose the word which is not similar to the other words in the group.

A. Bonnet B. Fender
C. Dashboard D. Hubcap PTO
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Read the following information to answer the given guestion.

Five brothers are standing in a row facing north.

Tony is not adjacent to bony or mony. Sony is not adjacent to bony. Tony is adjacent to dony. Dony is at
the middle in the row.

Then, which pair is at the extreme ends?

A. Tony, dony B. Dony, bony

C. Sony, mony D. Mony, tony

Read the following information to answer the given question.

There are seven monkeys sitting in a row - annie, bonnie, connie, donnie, earnie, fernie and genie.
Genie is to the right of donnie and to the left of bonnie.

Annie is on the right of connie.

Annie and donnie have one monkey between them.

Earnie and bonnie have two monkeys between them.

Donnie and fernie have two monkeys between them.

Who is on the immediate right of bonnie?

A. Donnie B. Earnie C. Genie D. Fernie

If ‘blue’ means ‘green’, ‘green’ means ‘yellow’, ‘yellow’ means ‘orange’, ‘orange’ means ‘black’, ‘black’
means ‘white’, ‘white’ means ‘red’, ‘red’ means ‘pink’, ‘pink’ means ‘brown’, ‘brown’ means ‘grey’,
then what is the color of human blood?

A. Black B. Red C. White D. Orange

In the following question, choose the correct code form.
The number/word group in the question is to be codified according to the following letter codes:

Number 9 8 7 6 5 4 3 2 1 0
Letter Q U I C K L Y R ) D
13311728
A.OYYOOIRU B. OYYOIROU

C. OYYORIOU D. OYYOUIRO

In the following question, choose the correct code form.
The number/word group in the question is to be codified according to the following letter codes (use the
same table mentioned above)

Number 9 8 7 6 5 4 3 2 1 0
Letter Q ) | C K L Y R 0] D
08121993

A. DUROOQQY B. DUOROQQY

C. DOUROYQY D. DOUROYQQ

Choose the word which is least like the other words in the group.

A. Coconut B. Flax

C. Castor D. Mustard

Choose the word which is not similar to the other words in the group.

A. Joey B. Filly

C. Gosling D. Vixen

Read the following information to answer the given question.

There are seven monkeys sitting in a row - annie, bonnie, connie, donnie, earnie, fernie and genie.
Genie is to the right of donnie and to the left of bonnie.

Annie is on the right of connie.

Annie and donnie have one monkey between them.

Earnie and bonnie have two monkeys between them.

Donnie and fernie have two monkeys between them.

Who is exactly on the right of one that is exactly in the middle?

A. Donnie B. Connie

C. Annie D. Genie
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Read the following information to answer the given guestion.

There are seven monkeys sitting in a row - annie, bonnie, connie, donnie, earnie, fernie and genie.
Genie is to the right of donnie and to the left of bonnie.

Annie is on the right of connie.

Annie and donnie have one monkey between them.

Earnie and bonnie have two monkeys between them.

Donnie and fernie have two monkeys between them.

Who is on the second position from the left?

A. Annie B. Bonnie

C. Connie D. Donnie

Technical writing is same as general writing.

A. True B. False C. Maybe D. None
Technical writing demands use of language.
A. Figurative B. Poetic C. Factual D. Dramatic

Which of these must be avoided in technical writing?

A. Facts B. Grammar C. Punctuation D. Personal feelings

Which of these words is used in technical writing?

A. Apex B. Top

C. Slanting D. Bottom

Which of these is a technical word for slanting?

A. Lateral B. Sloping

C. Tilting D. Bent

Familiar words must be used in technical writing.

A. True B. False C. Maybe D. None
A scientist gets his special words from language
A. Latin B. English

C. French D. Italian

Trigonometry is a word.

A. French B. German

C. Indian D. Greek

Which of these means bioscope?

A. Math B. Science C. Cinema D. Binoculars
Electricity is derived from language
A. Indian B. Greek C. French D. Italian

Which of these reports are used in business?

A. Formal technical reports B. Informal reports

C. Personal reports D. Musical reports
Which of these forms is not used to write a non-formal report?
A. Filling in a blank form B. App

C. Form of a letter D. Memorandum

A non- formal report may be written by filling in a blank form.
A. True B. False C. Maybe D. None
In which of these forms is a non-formal letter not written?

A. Filling in a blank form B. Form of a letter

C. Form of a memorandum D. Formal of a notice
A non- formal report written in the form of a letter is similar to a
A. Friendly letter B. Business letter

C. Complaint letter D. Notice

PTO
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A memorandum is almost like a letter.

A. True B. False C. Maybe D. None

Which of these forms does a formal report not take?

A. Essay B. Pamphlet C. Friendly letter D. Book

Which of these is not a type of a report?

A. Periodic B. Progress C. Trouble D. Fancy

Which of these reports contains information of a routine nature?

A. Periodic report B. Progress report C. Trouble report  D. Laboratory repo
Report includes breakdown of machinery.

A. Feasibility B. Periodic C. Trouble D. Progress

A summary is of the original report.

A. 2-5 percent B. 5-10 percent C. 12-15 percent  D. 15-20 percent

An abstract is of the original report.

A. 2-5 percent B. 5-10 percent C. 6-12 percent D. 7-13 percent

Employees desire professionals who do which of the following?

A. Treat others respectfully only when they deserve it

B. Speak their minds and talks over others

C. Listen actively, honour commitments, and seek help when needed
D. Discuss personal issues with coworkers

Your emails should be generally:

A. Brief and to the point, but well-written B. Long and vague
C. Riddled with errors D. Passage

When you get a personal phone call in a meeting, you:

A. Ignore it and call them back later

B. Excuse yourself and take it outside briefly

C. Answer and have a loud conversation

D. None of the above

Unlike social etiquette, office and business etiquette are primarly based on

A. Hierarchy and power B. Personal relation
C. Common sense D. Option Aand C

Your friend from college joins your company in a superior role to you. How should you interact with her
in the office?

A. Talk informally and don’t take her seriously

B. Show jealousy

C. Break friendship ties and maintain only professional relationship

D. Treat her like a superior in the office and as a friend outside

The key elements of presentation are:

A Presenter B. The message and the medium

C. Duration and time D. All of the above

Topic identification is level one regiuirement for a formal presentation
A.Yes B. No

C. Maybe D.Bothaandc

How many pumps does a proffesional handshake require?

A.3 B.4

C.5 D. Two and a grab of the forearm

A text is more efficient than an email when letting someone know you are running behind.

A. True B. False
C. Maybe D. None of the above
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Is the most important thing you must do before you leave a party?
A. Get business card from a new contact
B. Ask for a doggie bag
C. Say goodbye to the host
D.Both Aand C
What does the outdated term “turning the table” mean?

A. Talk to the person on your left side during the first course, and rotate sides after each course

B. Move the table to be closer to the dessert buffet

C. Change seating throughout the course of a dinner party

D. None

During an in-person conversation, what percent of your message is delievered through your spoken
words?

A. 7% B.38%

C. 55% D. 43%

When is the most gracious time to respond to an invitation?

A. Within 24 hours of receiving the invitation

B. Within one week of receiving the invitation

C. Anytime

D.Both Aand C

You can tell a lot about a person by their handshake. The double handshake, (where the person places
their second hand on top of yours), is likely to be used by

A. Someone who tends to dominate in the meetings

B. Someone who is submissive

C. Someone who trusts you and wants you to trust them

D. None

Eye contact is an important part of communication, and a lack of it can imply deception. To avoid staring
at somebody, how can you naturally strike a balance?

A. When breaking eye contact, look to the left or to the right

B. Look down at the floor every 30 seconds or so

C. Look just past the person

D. None

When you stand up to talk in front of a group of people, what can you do to exude confidence?

A. Strike a wide stance

B. Try to position a desk or table between you and your audience

C. Clasp your hands in front of you

D.Bothaandb

Which of these signals-suggest the person you are speaking to might not be telling the whole truth?

A. They make steady eye contact

B. They make frequent hand to face touches, including attempts to cover their mouth

C. They answer you fairly promptly

D.Both Aand C

You need to ask some tough questions about your team’s performance, and you notice that your team
leader’s leg is shaking. Does that suggest?

A. He’s feeling bored by the conversation

B. He’s feeling jittery about your line of questioning

C. He is exuding confidence

D. None

While addressing a senior member of your team about staffing changes, she suddenly crosses her arms.
Do you take that to mean?

A. She suddenly feels cold

B. She’s not sure what to do with her hands

C. She is feeling defenseless, and is trying to shut out what is being proposed

D. None

Using your hands while you talk can communicate a range of meanings, from enthusiasm and passion, to

a lack of control. What would calm rounded hand gestures say to you?

A. “1’m open and clear”

B. “i think i’m in trouble”

C. “’m feeling over the moon”

D. None PTO
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Listening means to respond to advice or request

A. True B. False C. Maybe D. None
Which of these is not a step in the listening process?
A. To stop talking B. receiving
C. Misinterpreting D. Responding
Which of these is the first step in the listening process?
A. Stop talking B. Receiving
C. Interpreting D. Responding
Which of these is the third step in the listening process?
A. Stop talking B. Interpreting
C. Responding D. Receiving

Is the last step of the listening process.
A. Receiving B. Interpreting
C. Responding D. Stop talking
Hearing means perceiving with ears.
A. True B. False C. Maybe D. None
Which of these is not a type of listening?
A. Appreciative listening B. Superficial listening
C. Focused listening D. Musical listening
Which of these types of listening lacks depth?
A. Appreciative listening B. Superficial listening
C. Focused listening D. Evaluative listening
In which of these types of listening, does the listener feel grateful?
A. Superficial listening B. Attentive listening
C. Appreciative listening D. Evaluative listening
Which of these types of listening is followed by skilled listeners?
A. Focused listening B. Evaluative listening
C. Attentive listening D. Empathetic listening
In which of these, the listener puts himself in place of the speaker?
A. Focused listening B. Evaluative listening
C. Attentive listening D. Empathetic listening

Body language can make or break a speech
A. True B. False C. Maybe D. None

Which of these is the study and classification of speech sounds?

A. Gestures B. Speech style

C. Phonetics D. Spoof

Which of these is not an element of the speaking technique?
A. Voice quality B. Word stress

C. Appearance D. Correct tones

Which of these means giving emphasis to a syllable

A. Voice quality B. Word stress

C. Tone D. Message

Which of these factors is not involved in the determination of correct tone?
A. Pitch B. Dressing style

C. Quality D. Strength

Which of these is not a type of tone?

A. Urgent tone B. Serious tone

C. Restrained tone D. Jumping tone
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Which of these tones represent thoughtfulness?

A. Serious tone B. Urgent tone
C. Happy tone D. Outraged tone
Which of these tones is an unemotional tone?
A. Happy tone B. Outraged tone
C. Restrained tone D. Humorous tone
Tone is used when speaker wants to bring about a good impression of her life.
A. Outraged B. Reflective
C. Restrained D. Urgent

On is used in speaking of things in motion.

A. True B. False C. Maybe D. None
Fill in the blank. The dog sprang _____ him.

A. On B. Upon C.In D. Over

Till is used for time.

A. True B. False C. Maybe D. None

Which of these comes immediately after the noun?

A. Adverb phrase B. Adjective phrase
C. Verb phrase D. Pronoun phrase

Which of these statements is false?

A. The subject should usually follow the verb.

B. The object usually comes after the verb.

C. When there is an indirect object and a direct object, the indirect precedes the direct.
D. When the adjective is used attributively it comes before the noun which it qualifies.

Every statement must have a subject and a

A. Noun B. Verb C. Predicate D. Phrase
Choose the correct statement.

A. Do not make friend with selfish people.

B. Do not make friendship with selfish people.

C. Do not make friends with selfish people.

D. Do not make friendly with selfish people.

Choose the correct statement.

A. She doesn’t know the reason for his disappearance.
B. She doesn’t know the reason of his disappearance.
C. She doesn’t know the reason at his disappearance.
D. She doesn’t know the reason with his disappearance

Some students are _____ at copying.

A. Adapt B. Adept C. Adopt D. Edept
Father ___ me not to go out in the cold.

A. Advised B. Advised C. Advice D. Advise
Fill in the blank.l advised her __ drink it.

A. Don’t B. Not to C. Tonot D. To don’t

Choose the correct statement.

A. He obtained passing marks. B. He obtained pass marks.
C. He obtained passed marks. D. He obtained passing mark.

PTO
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Choose the correct statement.

B. Anil chats french well.
D. Anil talk french well.

A. Anil talks french well.
C. Anil speaks french well.

Choose the correct statement.

A. The ship was drowned. B. The ship drowned.

C. The ship sank. D. The ship had sank

Choose the correct statement

A. It is they who has to leave this place.
B. It is they who have to leave this place.
C. It is them who has to leave this place.
D. It is them who have to leave this place

Fill in the blank.
Offerings made upon the
A. Altar B. Alter C. Altar

Which of the following statements is incorrect?

A. A letter must be written in one single paragraph.

B. A letter must be complete in all respects.

C. A letter must be written in legible handwriting.

D. A letter must be properly punctuated.

Which of these is an example of courteous leave taking?
A. Yours sincerely B. Yours sincerely,

C. Yours sincerely D. Sincerely

Where should the signature of the writer be placed?

A. Above the courteous leave taking

B. Below the courteous leave taking

C. Next to the courteous leave taking

D. On the envelope

What is the information endorsed on the envelope?

A.Name B. Address C.Name andaddress D. Name and date

*kkk

D. Alter
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Second Semester BE Degree Examination July 2021
(CBCS Scheme)

Time: 3 Hours Max Marks: 100 marks

Sub: ENGLISH 11
Q P Code: 60011

Instructions: 1. Your answer should be specific to the questions asked.

2. write the same question numbers as they appear in this question paper.
3. Write Legibly

Question Paper Version — D

Answer all the questions 100X1=100

1

Read the following information to answer the given guestion.

There are seven monkeys sitting in a row - annie, bonnie, connie, donnie, earnie, fernie and genie.
Genie is to the right of donnie and to the left of bonnie.

Annie is on the right of connie.

Annie and donnie have one monkey between them.

Earnie and bonnie have two monkeys between them.

Donnie and fernie have two monkeys between them.

Who is on the immediate right of bonnie?

A. Donnie B. Earnie C. Genie D. Fernie

If ‘blue’ means ‘green’, ‘green’ means ‘yellow’, ‘yellow’ means ‘orange’, ‘orange’ means ‘black’,
‘black’ means ‘white’, ‘white’ means ‘red’, ‘red’ means ‘pink’, ‘pink’ means ‘brown’, ‘brown’ means
‘grey’, then what is the color of human blood?

A. Black B. Red C. White D. Orange

In the following question, choose the correct code form.
The number/word group in the question is to be codified according to the following letter codes:

Number 9 8 7 6 5 4 3 2 1 0

Letter Q U | C K L Y R (0] D

13311728
A.OYYOOIRU B. OYYOIROU
C. OYYORIOU D. OYYOUIRO

In the following question, choose the correct code form.
The number/word group in the question is to be codified according to the following letter codes (use the
same table mentioned above)

Number 9 8 7 6 5 4 3 2 1 0

Letter Q U I C K L Y R 0] D

08121993

A. DUROOQQY B. DUOROQQY

C. DOUROYQY D. DOUROYQQ

Choose the word which is least like the other words in the group.

A. Coconut B. Flax
C. Castor D. Mustard PTO
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Choose the word which is not similar to the other words in the group.

A. Joey B. Filly
C. Gosling D. Vixen
Read the following information to answer the given question.

There are seven monkeys sitting in a row - annie, bonnie, connie, donnie, earnie, fernie and genie.

Genie is to the right of donnie and to the left of bonnie.

Annie is on the right of connie.

Annie and donnie have one monkey between them.

Earnie and bonnie have two monkeys between them.

Donnie and fernie have two monkeys between them.

Who is exactly on the right of one that is exactly in the middle?
A. Donnie B. Connie

C. Annie D. Genie

Read the following information to answer the given question.

There are seven monkeys sitting in a row - annie, bonnie, connie, donnie, earnie, fernie and genie.

Genie is to the right of donnie and to the left of bonnie.
Annie is on the right of connie.

Annie and donnie have one monkey between them.
Earnie and bonnie have two monkeys between them.
Donnie and fernie have two monkeys between them.
Who is on the second position from the left?

A. Annie B. Bonnie

C. Connie D. Donnie

Technical writing is same as general writing.

A. True B. False C. Maybe D. None

Technical writing demands use of language.

A. Figurative B. Poetic C. Factual D. Dramatic

Which of these must be avoided in technical writing?

A. Facts B. Grammar C. Punctuation D. Personal feelings

Which of these words is used in technical writing?

A. Apex B. Top

C. Slanting D. Bottom

Which of these is a technical word for slanting?

A. Lateral B. Sloping

C. Tilting D. Bent

Familiar words must be used in technical writing.

A. True B. False C. Maybe D. None
A scientist gets his special words from language
A. Latin B. English

C. French D. Italian

Trigonometry is a word.

A. French B. German

C. Indian D. Greek

Which of these means bioscope?

A. Math B. Science C. Cinema D. Binoculars
Electricity is derived from language

A. Indian B. Greek C. French D. Italian

Which of these reports are used in business?

A. Formal technical reports B. Informal reports

C. Personal reports D. Musical reports
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Which of these forms is not used to write a non-formal report?

A. Filling in a blank form B. App

C. Form of a letter D. Memorandum

A non- formal report may be written by filling in a blank form.

A. True B. False C. Maybe D. None
In which of these forms is a non-formal letter not written?

A. Filling in a blank form B. Form of a letter

C. Form of a memorandum D. Formal of a notice

A non- formal report written in the form of a letter is similar to a

A. Friendly letter B. Business letter

C. Complaint letter D. Notice

A memorandum is almost like a letter.

A. True B. False C. Maybe D. None

Which of these forms does a formal report not take?

A. Essay B. Pamphlet C. Friendly letter D. Book

Which of these is not a type of a report?

A. Periodic B. Progress C. Trouble D. Fancy

Which of these reports contains information of a routine nature?

A. Periodic report B. Progress report C. Trouble report  D. Laboratory repo
Report includes breakdown of machinery.

A. Feasibility B. Periodic C. Trouble D. Progress

A summary is of the original report.

A. 2-5 percent B. 5-10 percent C. 12-15 percent D. 15-20 percent

An abstract is of the original report.

A. 2-5 percent B. 5-10 percent C. 6-12 percent D. 7-13 percent

Employees desire proffesionals who do which of the following?

A. Treat others respectfully only when they deserve it

B. Speak their minds and talks over others

C. Listen actively, honor commitments, and seek help when needed
D. Discuss personal issues with coworkers

Your emails should be generally:
A. Brief and to the point, but well-written B. Long and vague
C. Riddled with errors D. Passage

When you get a personal phone call in a meeting, you:
A. Ignore it and call them back later

B. Excuse yourself and take it outside briefly

C. Answer and have a loud conversation

D. None of the above

Unlike social etiquette, office and bussiness etiquette are primarly based on

A. Hierarchy and power B. Personal relation

C. Common sense D. Option Aand C

Your friend from college joins your company in a superior role to you. How should you interact with her
in the office?

A. Talk informally and don’t take her seriously

B. Show jealousy

C. Break friendship ties and maintain only professional relationship
D. Treat her like a superior in the office and as a friend outside

The key elements of presentation are:

A. Presenter B. The message and the medium
C. Duration and time D. All of the above PTO
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Topic identification is level one regiuirement for a formal presentation

A.Yes B. No

C. Maybe D.Bothaandc

How many pumps does a proffesional handshake require?

A.3 B.4

C.5 D. Two and a grab of the forearm

A text is more efficient than an email when letting someone know you are running behind.

A. True B. False
C. Maybe D. None of the above
Is the most important thing you must do before you leave a party?

A. Get business card from a new contact

B. Ask for a doggie bag

C. Say goodbye to the host

D.Both Aand C

What does the outdated term “turning the table” mean?

A. Talk to the person on your left side during the first course, and rotate sides after each course

B. Move the table to be closer to the dessert buffet

C. Change seating throughout the course of a dinner party

D. None

During an in-person conversation, what percent of your message is delievered through your spoken
words?

A. 7% B.38%

C. 55% D. 43%

When is the most gracious time to respond to an invitation?

A. Within 24 hours of receiving the invitation

B. Within one week of receiving the invitation

C. Anytime

D.Both Aand C

You can tell a lot about a person by their handshake. The double handshake, (where the person places
their second hand on top of yours), is likely to be used by

A. Someone who tends to dominate in the meetings

B. Someone who is submissive

C. Someone who trusts you and wants you to trust them

D. None

Eye contact is an important part of communication, and a lack of it can imply deception. To avoid staring
at somebody, how can you naturally strike a balance?

A. When breaking eye contact, look to the left or to the right

B. Look down at the floor every 30 seconds or so

C. Look just past the person

D. None

When you stand up to talk in front of a group of people, what can you do to exude confidence?

A. Strike a wide stance

B. Try to position a desk or table between you and your audience

C. Clasp your hands in front of you

D. Bothaand b

Which of these signals suggest the person you are speaking to might not be telling the whole truth?

A. They make steady eye contact

B. They make frequent hand to face touches, including attempts to cover their mouth

C. They answer you fairly promptly

D.Both Aand C

You need to ask some tough questions about your team’s performance, and you notice that your team
leader’s leg is shaking. Does that suggest?

A. He’s feeling bored by the conversation

B. He’s feeling jittery about your line of questioning

C. He is exuding confidence

D. None
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While addressing a senior member of your team about staffing changes, she suddenly crosses her arms.
Do you take that to mean?

A. She suddenly feels cold

B. She’s not sure what to do with her hands

C. She is feeling defenseless, and is trying to shut out what is being proposed

D. None

Using your hands while you talk can communicate a range of meanings, from enthusiasm and passion, to
a lack of control. What would calm rounded hand gestures say to you?

A. “1’m open and clear”

B. “i think i’m in trouble”

C. “’'m feeling over the moon”

D. None

Listening means to respond to advice or request

A. True B. False C. Maybe D. None
Which of these is not a step in the listening process?

A. To stop talking B.receiving

C. Misinterpreting D. Responding

Which of these is the first step in the listening process?
A. Stop talking B. Receiving

C. Interpreting D. Responding

Which of these is the third step in the listening process?
A. Stop talking B. Interpreting

C. Responding D. Receiving

Is the last step of the listening process.

A. Receiving B. Interpreting

C. Responding D. Stop talking

Hearing means perceiving with ears.

A. True B. False C. Maybe D. None
Which of these is not a type of listening?

A. Appreciative listening B. Superficial listening

C. Focused listening D. Musical listening

Which of these types-of listening lacks depth?

A. Appreciative listening B. Superficial listening

C. Focused listening D. Evaluative listening

In which of these types of listening, does the listener feel grateful?

A. Superficial listening B. Attentive listening
C. Appreciative listening D. Evaluative listening

Which of these types of listening is followed by skilled listeners?

A. Focused listening B. Evaluative listening

C. Attentive listening D. Empathetic listening

In which of these, the listener puts himself in place of the speaker?

A. Focused listening B. Evaluative listening

C. Attentive listening D. Empathetic listening

Body language can make or break a speech

A. True B. False C. Maybe D. None
Which of these is the study and classification of speech sounds?

A. Gestures B. Speech style

C. Phonetics D. Spoof

PTO
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Which of these is not an element of the speaking technique?

A. Voice quality B. Word stress
C. Appearance D. Correct tones
Which of these means giving emphasis to a syllable
A. Voice quality B. Word stress
C. Tone D. Message
Which of these factors is not involved in the determination of correct tone?
A. Pitch B. Dressing style
C. Quality D. Strength
Which of these is not a type of tone?
A. Urgent tone B. Serious tone
C. Restrained tone D. Jumping tone
Which of these tones represent thoughtfulness?
A. Serious tone B. Urgent tone
C. Happy tone D. Outraged tone
Which of these tones is an unemotional tone?
A. Happy tone B. Outraged tone
C. Restrained tone D. Humorous tone
Tone is used when speaker wants to bring about a good impression of her life.
A. Outraged B. Reflective
C. Restrained D. Urgent
On is used in speaking of things in motion.
A. True B. False C. Maybe D. None
Fill in the blank. The dog sprang him.
A.On B. Upon C.In D. Over
Till is used for time.
A. True B. False C. Maybe D. None
Which of these comes immediately after the noun?
A. Adverb phrase B. Adjective phrase
C. Verb phrase D. Pronoun phrase

Which of these statements is false?

A. The subject should usually follow the verb.

B. The object usually comes after the verb.

C. When there is an indirect object and a direct object, the indirect precedes the direct.
D. When the adjective is used attributively it comes before the noun which it qualifies.
Every statement must have a subject and a

A. Noun B. Verb C. Predicate D. Phrase
Choose the correct statement.

A. Do not make friend with selfish people.

B. Do not make friendship with selfish people.

C. Do not make friends with selfish people.

D. Do not make friendly with selfish people.

Choose the correct statement.

A. She doesn’t know the reason for his disappearance.
B. She doesn’t know the reason of his disappearance.
C. She doesn’t know the reason at his disappearance.
D. She doesn’t know the reason with his disappearance

Some students are _____ at copying.

A. Adapt B. Adept C. Adopt D. Edept
Father ___ me not to go out in the cold.

A. Advised B. Advised C. Advice D. Advise
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Fill in the blank. | advised her drink it.
A. Don’t B. Not to C.Tonot

Choose the correct statement.

A. He obtained passing marks. B. He obtained pass marks.
C. He obtained passed marks. D. He obtained passing mark.

Choose the correct statement.

A. Anil talks french well. B. Anil chats french well.
C. Anil speaks french well. D. Anil talk french well.

Choose the correct statement.

A. The ship was drowned. B. The ship drowned.
C. The ship sank. D. The ship had sank
Choose the correct statement

A. It is they who has to leave this place.
B. It is they who have to leave this place.
C. It is them who has to leave this place.
D. It is them who have to leave this place

Fill in the blank.
Offerings made upon the
A. Altar B. Alter C. Altar

Which of the following statements is incorrect?

A. A letter must be written in one single paragraph.

B. A letter must be complete in all respects.

C. A letter must be written in legible handwriting.

D. A letter must be properly punctuated.

Which of these is an example of courteous leave taking?

A. Yours sincerely B. Yours sincerely,
C. Yours sincerely D. Sincerely

Where should the signature of the writer be placed?

A. Above the courteous leave taking

B. Below the courteous leave taking

C. Next to the courteous leave taking

D. On the envelope

What is the information endorsed on the envelope?

A.Name B. Address C. Name and address D. Name and date

In the following question, choose the correct code form.

If “air’ is called ‘green’, ‘green’ is called ‘red’, ‘red’ is called ‘sea’, ‘sea’ is called ‘blue’, ‘blue’ is called

‘water’ and ‘water’ is called ‘pink’, then what is the color of grass?
A. Green B. Air

C. Red D. Pink

In the following question, choose the correct code form.

According to new terminology, ‘aries’ means ‘air’, ‘taurus’ means ‘light’, ‘libra’ means ‘water’ and

‘scorpio’ means ‘earth’. What would an organism breathe in?
A. Aries B. Taurus C. Libra
Choose the word which is least like the other words in the group.

A. Grenade B. Katana C. Shotgun

D. Rifle

Choose the word which is not similar to the other words in the group.
A. Peas B. Cabbage C. Spinach

D. Tomato

D. To don’t

D. Alter

D. Scorpio
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Solve the following question and choose the correct alternative from the following.
1, 2, 3,4, and 5 are sitting in row but not necessarily in that order.

All of them are sitting in a row with their backs toward north.

3 is immediate right to 5 and 4 is immediate left to 1. Only 2 is between 1 and 5.
Which of the following are at the extreme ends?

A. 3,4 B.2,5 C.21 D.4,5

In the following question, choose the correct code form.

If, in a language, ‘one’ is called ‘two’, ‘two’ is called ‘three’, ‘three’ is called ‘four’, ‘four’ is called ‘five
and ‘five’ is called ‘six’.

Then what is the square of number 2?

A. Three B. Four C. Five D. Six

If “‘dog’ is called ‘lion’, ‘lion’ is called ‘bison’, ‘bison’ is called ‘snake’, ‘snake’ is called ‘mongoose’,
‘mongoose’ is called ‘crocodile’, then which one is reared as pet?

b

A. Lion B. Bison C. Snake

D. Mongoose

Choose the word which is least like the other words in the group.

A. Timor B. India

C. Rhodes D. Borneo

Choose the word which is not similar to the other words in the group.
A. Bonnet B. Fender

C. Dashboard D. Hubcap

Read the following information to answer the given question.

Five brothers are standing in a row facing north.

Tony is not adjacent to bony or mony. Sony is not adjacent to bony. Tony is adjacent to dony. Dony is at
the middle in the row.

Then, which pair is at the extreme ends?

A. Tony, dony B. Dony, bony

C. Sony, mony D. Mony, tony

*kkk

Page 71 of 75



ADICHUNCHANAGIRI UNIVERSITY 18MATI11
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Instructions: 1. Answer five full questions.
2. Choose one full question from each module
3. Your answer should be specific to the questions asked.
4. write the same question numbers as they appear in this question paper.
5. Write Legibly

Module -1
1o With the usual notation prove that tang=r (3—9) 6 marks
r
b Find the angle between the curves r=2sin@ , r=sin &+cos 8 7 marks
7 k
° Find the radius of curvature of x® +y® = 3axy at [37&3;) marks
OR
2 a Show that the pair of curves r=a(l+cos@)and r=b(l—cos6) intersect each 6 marks
other orthogonally .
b Find the Pedal equation for the curve r" =a"(cosn#) 7 marks
¢ Showthat2 is constant for the equiangular spiral r = ag?**“ 7 marks
r
where a anda are constants.
Module — 2
3 a Find the Macluarin’s series for tanx upto the term x* 6 marks
° Eind alu,v,w) if u= x +3y* — 23, v = 4x%yz, w = 22> — xy 7 marks
a(x,y,2)
c 1 7 marks
. (a*+b*+c +d* |x
Evaluate lim
x—0 4
Or
4 a Expand log(secx) upto the term x* using Macluarin’s series. 6 marks
b Provethatxa—u+y6—u+za—u:0ifu:f(ﬁ,l,i). 7 marks
OX oy oz y zZ X
c . X 1 7 marks
Evaluate lim| — - ——
1 x -1 log X

PTO
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Module — 3

Evaluate: fol fx\/;(x2 + y?)dydx.

1y
Evaluate _ny dxdy on changing the order of integration.
Oﬁ
_ rmr(n)
Prove that f(m, n) = e

Or
Evaluate j‘j{‘i(xz +y i+ zz)dxdydz.
—c-b-a

2 2
Find the area enclosed by the ellipse Z—z + % =1.

2 2 dg
Prove that |+/Sin@ dé@ =7
! !«/sin 0

Module - 4
Solve: (4xy +3y® —Xx)dx + x(x +2y)dy =0
2
Find the orthogonal trajectories of the family of astroids X3 +vy

A body in air at 25°C cools from 100°C to 75°C in 1 minute.
Find the temperature of the body at the end of 3 minutes .

Or

wl N

2
3

Solve: (X* + y? + X)dx+ xydy =0
Find the orthogonal trajectories of the family y* = cx®

Show that the equation Xp? + px— py+1—y = 0is Clairaut’s equation,
hence obtain the general and singular solution .

Module -5
2 -1 -3 -1
. \ 1 2 3 -1
Find the Rank of a Matrix A=
1 0 1 1
0 1 1 -1

Solve the following system of equation by Gauss elimination Method
2x+y+4z =12,4x+ 11y —z=33,8x — 3y + 2z = 20.

Diagonalize the matrix A = [LZL é] and hence find A®.

Or
Solve the following system of equation by Gauss Seidel Method

5x +2y+z=12,x + 4y + 2z =15, x + 2y + 5z = 20. Carry out 3 iterations.
Using Rayleigh’s power method find the largest Eigen value and Eigen vector,

2 0 1
given|0 2 0 ] with initial Eigen vector [1 0 0]”.
1 0 2

Test for consistency and solve
5x+3y+7z=4,3x+26y+2z2=9,7x+2y+10z=5 .

%k %k %k %k %k

=a-“.

6 marks

7 marks

7 marks

6 marks

7 marks

7 marks

6 marks

7 marks

7 marks

6 marks
7 marks

7 marks

6 marks

7 marks

7 marks

6 marks

7 marks

7 marks
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First/Second Semester BE Examination July 2021

(CBCS Scheme)
Time: 3 Hours Max Marks: 100 marks

Sub: Engineering Physics
Q P Code:60003/60013

Instructions: 1. Answer five full questions.
2. Choose one full question from each module
3. Your answer should be specific to the questions asked.
4. write the same question numbers as they appear in this question paper.
5. Write Legibly

Module - 1
1 a What are Ultrasonic, subsonic, acoustic, transonic, supersonic and hypersonic waves. 6 marks

b What are damped oscillations? Give the theory and discuss the case of under damping 10 marks

c A free particle is executing SHM in a straight line. The maximum velocity it attains 4 marks
during any oscillation is 62.8 m/s. Find the frequency of oscillation, if its amplitude is
0.5m.
OR

2 a Define simple harmonic motion. Give the characteristics of SHM. 6 marks

Explain the construction and working function of Reddy shock tube. Mention any 10 marks
four applications of shock waves.

¢ The distance between two pressure sensors in a shock tube is 150 mm. The time 4 marks
taken by a shock wave to travel this distance is 0.3 ms. If the velocity of sound under
the same conditions is 340 m/s, find the Mach number of the shock wave.
Module -2

3 a Explain the stress and strain. Explain the nature of elasticity with the help of stress- 8 marks
strain diagram

b Derive an expression for the Young’s modulus Y of the material of a single 8 marks
cantilever.

¢ Calculate the force required to produce an extension of 1 mm in steel wire of length 2 4 marks
m and diameter 1 mm. (Given: Young’s modulus for steel Y = 2.1x10™ N/m?).

Or

4 a State and explain Hooke’s law. Define Young’s modulus, Bulk modulus and Rigidity =~ 8 marks
modulus.

b Derive the relation between Bulk modulus, Young’s modulus and Poisson’s ratio. 8 marks
Discuss the limiting values of Poisson’s ratio.

¢ Calculate the angular twist of a wire of length 0.3 m, and radius 0.2x10° m when a 4 marks
torque of 5x10™ Nm is applied. Rigidity modulus of the material 8x10'° N/m.

PTO
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Module -3

Define the Unit cell and Primitive cell. Derive an expression for inter planar distance
in terms of Miller indices

Derive an expression for Numerical aperture in terms of R.I of core and cladding.

The refractive indices of core and cladding are 1.50 and 1.48 respectively in an
optical fiber. Find the numerical aperture and angle of acceptance.

Or
Explain with neat diagram the different types of optical fiber with suitable diagram.

Define APF. Calculate the atomic packing factor for SC BCC and FCC.

Inter planar distance for a crystal is 2.5 A and the glancing angle for third order
spectrum was observed to be equal to 5°30". Find the wavelength of the X-rays used.

Module — 4
Obtain an expression for time independent Schrodinger wave equation.

Derive an expression for energy density under the condition of thermal equilibrium in
terms of Einstein’s co-efficient.

Compute the first 3 permitted energy values for an electron in a box of width 0.4nm.

Or

Explain the construction and working function of semiconductor diode laser with the
help of energy level diagram

Define wave function. Find the energy eigen values for an electron in one
dimensional potential well of infinite height.

The average output power of laser source emitting a laser beam of wavelength 0.6328

nm is 5 m W. Find the number of photons emitted per second by the laser source.
Module - 5

Explain the failures of classical free electron theory. Discuss the merits of quantum

free electron theory.

What are dielectrics. Explain different types of dielectric Polarization.

The Fermi level in Silver is 5.5 eV. Find the velocity of conduction electrons in Silver
and also mean free path. Given relaxation time is 3.97x10™4¢,

Or
Define electric polarization? Derive the expression for clasius Mossotti equation

Define Fermi energy. Explain the variation of Fermi factor at T=0 K and T>0 K with
diagram.

Calculate the probability of an electron occupying an energy level 0.02 eV above the
Fermi level at 200 K and 400 K in a metal

*hkkkk

10 marks

6 marks

4 marks

6 marks

10 marks

4 marks

8 marks

8 marks

4 marks

8 marks

8 marks

4 marks

8 marks

8 marks

4 marks

8 marks

8 marks

4 marks
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